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���m(N) = m(NxOy) – m(O) = ����!�–�������!���������!� 


�������
��	
	����	�����	����������
���������	��	�������� 

���n(N) = 
)N(
)N(

M

m
 = 

!�
���14
!85,36

���
���
�
���� 

���n(O) = 
)O(
)O(

M

m
 = 

!�
���16
!15,63

�����	���
���� 

��������
�
��
��������������	��������	��	�������������	��� 

n(N) : n(O����
���
�
��������	���
������
�
��������
���� 

$��������������	���
�
�-��
�������	���– N2#3. 
 ������ �. ��	��������� ���������
������ �� !� ���!�	� ��	�������

�	�������� 	� �����	�	� �!���	����� !��� 
������ ���� !� 	� ����� 
������
3,6 !��#������	���
������
�����-��
�����!������!���������������	�
�����	������
������������!������������������������������� 

'������
� 
*��������� �� ����������� �!����	
� ��������� ���������	��� �!���

�	�����!���	������������
���������������!�������������
���!����������
������	�����
�������	������� 

���"����	���
�
������!��������������������
�
�$#2: 
"�$#2�����
�!�
������

���!�
���������!�
���� 
���!��$#2) �������� �
�!��$� 
����!��$#2) -"-  x�!��$���� x =�
���!��$�� 

��"����	���
�
�����������������������������
������ 
"��2#�����

�!�
���������!�
���������!�
���� 
���!���2#� �������� 
�!���� 
����!���2#� -"-  ��!��$�������������!����� 
��������
���

��
�����!�������	���������������	��	�����������

	������!����������� 

m(C) + m(H����
���! 

���*�����������

��
����$�	����
���!��
������
������!������!��

������������!��������
���������������!�������������	��������	��	����

�����
�����������!���������m�#� = 6 – 
�������
�!� 
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���#������	
������������
��
��������������	��$����	�#���	��

�����
������������������!�������������-��
���� 

1.:2:1  
!�
���16
!3,2

:
!�
���1

!0,4
:

!�
��� 12
!2,4

(O)
(O)

(H)
(H)

(C)
(C)

(O)(H)(C)

==

==
M

m
:

M

m
:

M

m
   : n : nn

 

(��	
�������
�����������
����������������-��
�������������– 
$�2#� 

$���������
��	�����������������
�-��
������������������������
�	��� ����������� ���	
�������� �	������� ���������	�� ���
��� ����

����������
��)������
���
����-��
�������������������������������
�	�������
��������!�����
�������
��������	����������
��
�����	�
�
	���������������������-��
���������������������	�������� 

���"����	���
�������	��
��
�����
�����	������!��������������
�!�������	����������������	� 

M1(CxHyOz) = 29 · D�	�
��� = 29 · ��������	��!�
��� 

���"����	���
�������	��
��
�����
�����	������!��������������
�!�������������-��
���� 

M2(CH2O	�������������
������������� 

���*��������� ������	��"1 ������� ������	
�"2 �� �������� �����
�
��������	
�
������
�����-��
�����������������	����������!������
��������-��
��������������	�	�������������(��	
�������
��	���
�
�
-��
����–�$3�6#3. 

�#!���)!���#"����� 

&����

��
�
����
�
������������������
���
�������
�
�������
��	�
���
�
����
�����������

��� 

�������� ����
���	
� ���������	
� ���
�	��� ���������	� ��
�
��
���
�� ������ ��
�
����
���
��� ���
��� ��
�
����
���
��� ���������
��������
�
����
����������	���$�����
�
����
�����������

��
����
�

����
�
����
�� 

�����������	�����
����–������������������
�������
����
����
�

�����
�����
������
��-����
��	�����������
�
����
��� �
�������-
����������
�������	��������������

+
����
�������
�����-
���
���
�-


�����	���������–������������
����� 
"������
� ����	'�� –�
��������� ���
�	�	�	���� �������
�����	'�� – 

�����������
�������������	����������	��������
������������
��	�	�	���� 
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������
�����������	�����������!�����������.������������
����-

����	
�������
�� 





∗ )(
1

X
z

��!���z* –��	�������	����������	� 

!��
��	�����
���������z* –�����������
��+
�
������
��-����
-

��	�����������������������
����
�
�������
�����-
���
���
�
�����	�
�����������
�������
�
����
����������������
�������	�����	����
�-
���
����

�� � 

 ������� 	�����
��������� ∗z

1
 � ������� ��
����� ������
��
��

���������������
�	��������	����
���� ���
�
����
����������������
+ 


������
��-����
��	������������������������
�����
�������
�����-

���
���
�
�����	��������� 

��
�������#��#�)!���#"���#��������#�� – M 





∗ )(
1

X
z

 –�
�����

����!��
�������	�����������!������������%�	�	'��	�
����	
�–!�
����
	�	� �!�
�����)��
���
�
����� ���	�������� ��������� � ��
����� ��
��

�
�����
��������������� ����������	�
�� 

M 





∗ )(
1

X
z

 = ∗z

XM )(
. 

$����!������������
��
���
�
��������	����������������� ��	��

������ ������ �������	��
�������������� ��� ��������������
���	�


	�����
�����	����������	����������������� :  

M 





∗ )(
1

X
z

 = 







∗ )(
1

)(

X
z

n

Xm
. 

�������������
��������	�����
��������������� – n 





∗ )(
1

X
z

–


��������������������
�����
��������������
����

�� ����������	�

������������
�
����
���%�	�	'��	�
����	
�–�
���� 

��
������������	�����
�����"�#��� – Vm 





∗ )(
1

X
z

 – ��$������

���������� ��
�
����
�� �������������� 
����

�� ��%�	�	'��	�
���-
�	
 –���
����	�	�
3

�
���� 
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)��
�������/�
����	��������!���� ���
������
��
���
���/�
�
�

!���� ����������	�
� 

Vm 





∗ )(
1

X
z

 = ∗z

XVm )(
. 

�����������

�
��
�������/�
����	��������!���� ��	����������

�����������	����/�
��!���� �����������������
���	
	�����
�����

�	���������������� 

V 





∗ )(
1

X
z

 = 







∗ )(
1

)(

X
z

n

XV
. 

 ������ ��� #������	��� �	���� ���	����������	�� -������ ���	���

��������	�����	�������	�
��
�����
��������	��������-��-�������	�

������������'		� 

Ca(OH)2 + H3PO4 ����� �4 + 2H2O. 

'������
 
��������	
��	�������	����������	�z*

���������������'		����������


���������3PO4�������
���
�
�	�����
+
�	�	�����!	
	������
	��������


�������� �	������ ���	��������� ��	
	����	� ��������������� 
� 	����

�
+
��*����
���	�������	����������	�z*

��������������'		�������
� 

�� �����	
� -������ ���	����������	� 	� �������
�
� ���	�������

�	�������*�����������	���
2
11

*��	� ==
z

f . 

&�������	�����������
��	�����
+
��������������'		���������������

��
�������������	����
���������	�������������
�	�
��
���
����������

����'		�����	
	����	
����	�������
� 
��������	
�
��
�����
��������	���������	������� 

M 





∗ )POH(
1

43
z

 = !�
���49
2

98
2

)POH( 43 ==M
. 

 ���������#������	������	�������	������	�����
��
�����
�����

���	��������!	�����	������
���!!!��������'		� 

2Cr(OH)3 + 3H2SO4 = Cr2(SO4)3 + 6H2O. 

'������
� 
��������	
��	�������	����������	�$"�#��3: 


�����	'�
�$"�#��3�����������������	������
+, 

������	'� - " - x 	����� 
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������� �� �� ��� +���	����	���� ���	����������	� !	�����	��� ���
�� z*
� ��

�����������'		��������� 

�������	
�-������ ���	����������	�$"�#��3� 	� �������
�
� �!��

�	
	����	�����	������� 
��	���
��

+  ���	��������� ������	'��$"�#��3, 
��	����H+  - " -   y�����	'���������y = 1/3. 

&�������	��������������������'		����	�������
�!	�����	������
��
�!!!��
��
���
��������
�����	'��–������������!��-��
���������	�	'�� 

���"����	���
�������	��
��
�����
��������	��������$"�#��3: 

M 



 ))OH(Cr(
3
1

3  = 
3

))OH(Cr( 3M
���������!�
���� 

 ���������#������	������	�������	������	�����
��
�����
�����
���	��������!	�����	���
��!��'���II��������'		� 

2Mn(OH)2 + 12KOH + 5Cl2 ��
#$%�4 + 10KCl + 8H2O. 

'������
 
��������	
��	�������	����������	���
�)%�#��2:  
*�����������-��
���������	�	'�����!��!	�����	���������	��
�

���
� 
��!��'�� �� ������	� ��	����	
� �
�� �� �� -��
������� ��	�	'��
�$%�4 –� �� ������	� ��	����	
� ���� �����
� ������� ���� �� ����	'��
)%�#��2�����������������������������+���	����	�������	����������	�
!	�����	����������� 


�� �����	
� -������ ���	����������	� !	�����	��� 	� �������
�
�

�!���	
	����	�����	��������
5
1

*
1

��	� ==
z

f . 

&�������	��������������������'		����	�������
�!	�����	���
���
!��'���!!��
��
���
��������
�����	'��–������������!��-��
���������	�
�	'�� 

���"����	���
�������	��
��
�����
��������	��������!	�����	��� 

M 



 ))OH(Mn(
5
1

2  = 
5

))OH(Mn( 2M
 = 

5

!�
���89
��������!�
���� 

 ������	��#������	������	�������	������	�����������	��
��
��
����
��������	������������-�������
	�	
�������'		� 

Al2(SO4)3 + 3Pb(NO3)2 = 2Al(NO3)3 + 3PbSO4. 
'������
 
��������	
��	�������	����������	�&'2(SO4)3. 
�������������'		���
���������	�	
���������	
�	�����

+
�������
�

���������	�	
����
������	
��	�����!	��	�����������
���
����
��
��
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�����
����	�	�–���������
���	
��������	����NO −
3 ��,���������	
����

��'		��	�������������������	'��&'2(SO4)3����	�����������	�������
−
3 , 

�������	�������	����������	�z*
���
�����-�������
	�	
�����������	� 


�������	
�-���������	����������	�	��������
�
����	������� 

��	���
���−
3 ���������������������	'��&'2(SO4)3, 

��	���� - " - x�����	'����������x = 1/6. 

&�������	��������������������'		���
�����	
	����	
����	������

��
� ����-���� ���
	�	
� 
��
���
� �������
� ����	'�� –� ���� ������ �!��
-��
���������	�	'�� 

���"����	���
�������	��
��
�����
��������	�������� 

M 



 ))SO(Al(
6
1

342  = 
6

))SO(Al( 342M
������!�
���� 

 ������
� #������	������	�������	������	�����������	��
��
��
��!����/�
�����	���������������������������'		� 

H2S
–2 + 8HNO3 ���2S

+6O4 + 8NO2 + 4H2O. 

'������
 
��������	
� �	���� ���	����������	��2S��*��������� ��
��������

�����������������������	����	
������������–
������
���������������
�	�������������������������
������������ ��
��������H2S�����������
�������������������&�������	��������	�������	����������	� �z*

�������

����������������������'		��������� 

�������	
�-���������	����������	��������������	��������
�
�

�!�����	������� 

�����������
��������������� ��
���������2S, 

����������� - " -  x�
���������������x = 1/8. 

&��� ����	������� �	
	����	
� ���	�������
� ������������� ������

��������'		�
��
���
��������
�����	'��–�����
�
��������!��
�������� 
��������	
�������	��
��
���!����/�
�����	��������������������� 

Vm 



 )SH(
8
1

2  = 
8
mV

 = 
8
��
���4,22

���
�����
���� 

 �������� ��	���������
������
�����������!����!�	����	��������
	������	�	����	��
�������
����������	�!��#������	���
������ 

'������
 

+��	��
����������
������'		��)�
0
���# 0

2  ��)� x+
2 #

2−
x . 
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�� ����������		� �� ������
� ���	����������	
	����������	�������
���	�������� 
������� ������ �	
	�����
�� ���	������� ���	��������
�	�������� 

n 



 )Me(

1
*z

 = 



 )O(

1
2*z

n  => 







=





 )O(

1
)O(

)Me(
1

)Me(

2*

2

* z
M

m

z
M

m
. 

+����� m(Me) –�
�����
�������������	���!��������'	�� 
m(O2) –�
������	��������������	���!��������'	�� 





 )Me(

1
*z

M  –�
��
���
�
��������	��������
������� 





 )O(

1
2*z

M  –�
��
���
�
��������	���������	�������� 

��������
�
������	��������������	���!��������'	�� 
m(O2) = m����	����– m�
��������������	�!�–������!������	�!� 


�������
�
��
�����
��������	��������
������
���!���	������
����*�	����������		����	��������
�
���������	����������	����	�
���

������������	������������
���
����	�-	�����O 0
2 ��������
O–2. 

(�!��� �����������
�����������������
��������#2, 
������������ - " - x�
���������������x = 1/4.  

&��� ����	��� ���� �	
	����	
� ���	�������
� �	�������� �� �������
����'		�
��
���
��������
�����	'��–���������
�������
�������������
��
�������	��
��
�����
��������	���������	�������� 

M 



 )O(
4
1

2  = !�
���8
4

32

4

)O( 2 ==M
. 

���*������	
� �	������� ������	
� ���	�	�� �� �������	�� �������
���	��������� 

M 



 )Me(

1
*z

 = 
89,8

810
)O(

)O(
1

)Me(

2

2* ⋅=




⋅

m
z

Mm
���	�!�
���� 

���2�
�
��������	�������	����������	�z*
�������������	��!����	��

���	
�������	���		��*���������M(Me) = M 



 )Me(

1
*z

· z*
�������	 

z* = 1        "�)�����	�!�
���� 
z* = 2        "��)��������!�
���� 
z* = 3        "��)�����
��!�
���� 
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#�����������!��
������� ��
��
�����
������ 	� !�
����	��������
������!��
���������
��
�����
���������!�
�������������������(����
����������
��������
��
�����
������
��–����
	�	���Al). 

 ���������*�	����������		����	������
�������
������	����!����
���	��
�����������/�
�
����
������������#������	���
������ 

'������
 

+��	��
����������
������'		��)�
0 + nH+ ��Men+ + 

2
n

 H 0
2 . 

������������		���������
����	�������������	�������������������
�	��������
����������������	�������������������	������������������
$������������� 







=





 )H(

1
)H(

)Me(
1

)Me(

2*

2

* z
V

V

z
M

m

m

. 

+����� m(Me) –�
�����
������� 
V(H2) –���/�
���������� 

M 



 )Me(

1
*z

 –�
��
���
�
��������	��������
������� 





 )H(

1
2*z

Vm  –�
��
�������/�
����	����������������� 

���"����	���
�������	��
��
���!����/�
�����	������������������

*���������
��������������������������
�������
���
H+
���
����H 0

2 �����

���������
����� 

����������
�����������������
���������2, 

��������������������������x�
���������������x = 
2
1

. 

(��	
�������
�����	�������
�����������������������'		�
��
���
�
� �������
� ����	'�� –� �����	��� �!�� 
��������� *����
�� 
��
�����
��/�
����	����������������������������� 

Vm 



 )H(
2
1

2  = ��
���2,11
2

4,22
2

==mV
. 


��*������	
�������	
����	�	�����������	������������	����������
�����
�
��
�����
��������	��������
�������	��������	
�
������ 

M 



 )Me(

1
*z

 = 
72,6

2,1158,9
)H(

)H(
1

)Me(

2

2* ⋅=




⋅

V
z

Vm m

������	��!�
���� 
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*���������" 



 )Me(

1
*z

 = *

)Me(

z

M
�����
��
���
�
�����
����������

�������������
��M(Me) = M 



 )Me(

1
*z

·z*, 

3���z*
������
�	�	����$
����	
������ 

*�	�z* = 1   "�)��������	��!�
���� 
��	�z* = 2   "�)��������	��!�
���� 
��	�z* = 3   "�)��������	�!�
���� 

#���-�	�������������!��
������������������
	�������	

	�
��
�
�����
���������������������������������
��������
��
�����
������

���	�!�
����–��	�����()��� 
 ������
��,������	�����	�������!��
�������
������������!������

�����	��������!�����
�������
������
�����!��#������	���
������ 
'������
 
��� *��������� �	
	������� ���	������� ���	�������� ����	��� 
��

�������������	
	�����
�����	����������	���������!���	���������� 







=







+−+

))NO(Me(
1

))NO(Me(

)MeCl(
1

)ClMe(

3*

3

* x

x
x

x

x
x

z
M

m

z
M

m
. 

*�	������		�����������������������	
����
�	��������
��
���
�


��������	��������������!�������������������

��
��
�����
�������

�	����������!��������������������2�����	
������
��
���
�
��������

�	����������	�������!��
�������������x�!�
�����4�	����
������
��
��
��
�
����� ���	�������� ����	�-��	����Cl–

� �� ����� !�
����� ��
��
���
�


����� ���	���������	����-��	����NO −
3 � ������ �
� !�
����	��������	��

������	
����	�	�����������	������������	���������������	
� 

62
64,23

5,35
34,18

+
=

+ xx
���������x������
�!�
���� 


��#������	
�
������ 

*���������M(Me) = M 



 )Me(

1
*z

· z*, 

!��� z* –� �������� ��	����	
� 
������� �� ����	���		�� ��� ��	�
z* = 1 � "�)�� = ���
�!�
���� ���������
�!�
����–�
��������������������� 
��	�z* = 2 · "�)��������
�!�
������
�����
���!�
����–�
���������
	����*�� 
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�#!������*#+%� 

&���
������$�������������������
������������
���
������������


�������
��������
������
���	��������
����������
����������������� 

*�	������		�������	����������
����������	
�	�����!��������� 
���*�	����
������������	
��–�������		������
���*��	���
�����

����� ��
�
$�	�	� 
����� ��
���� ����!�� !���� ���	
������/�
����	
�����

������� 

������#�����������
������������$����� �����������������

���� ����
���� 	� �����������
� V o
m .� %�	�	'�� 	�
����	
� –� ��
���� 	�	�



3
�
���� 

)��
�������/�
�!�����	��������������������	����/�
��!������

��������������
���	
	�����
�����	����������!����������� 

)(
)(

Xn

XV
Vm = . 


��#����	������
����������� !���� ���� !����Y – Dy(X) –��������

����
����	�	���������
��������	��
��
�����
�����������!����� 

)(
)(

)(
YM

XM
XDY = . 

#������������������������������!��� ���!���	�	��
������!����Y����-
�	�	����/�
����	������������	
���������	������
������������

	�-
��������������� 

)NH( 3H2
D =

!�
���2
!�
���17

)H(

)NH(

2

3 =
M

M
 = 8,5. 

%��	���������
�����	�������	�������	����������������	�!����� ) 
��� ��������� ���
��
�����
����� !���� ����
����� ��������
��
�����


�������������"	�
���������������
	�!�
���������	
���������	������
�

���������������������������������� 

D	�
��(HCl) =
!�
���29
!�
���5,36

).(
)HCl(

	�
��

=
��M

M
 = 1,259. 

(�����	��������	������	�!��������
��	��"
�������������
������
��

�	����/�
�����������	������������� 

������#�����
�������
��
���
	�


����
	�!��������������	�
� 

"
����
��	�����( ) · "( ) + �(Y) · M(Y). 

�+�������X��	���Y) –���/�
�������	�!��������
��	��"(X��	�M(Y) –�
��
�
�����
�����!������#�/�
��
����
�!�����������
��	�–����	�	��������
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��
��������	����/�
��!���� �����/�
���
��	������	�
������
����
��

����
��������������
������
����	�	'��	�	������'������� 
���*���������!�����5��–����	�	�����	��������������������	���!��


��
�����
�������
��
���
����/�
�� 

5(X) = 
mV

XM )(
. 

����	
������������������������	������������� 

) ���������
��
���4,22
!�
���29.)��(.	�
� =

mV

M
�����
	��!��� 

�#!�����,"&�–��#%����# 

*������
�����	�
������
������$��������	�����������������
-
������������������������
������ 

&��� ����	��� ���� ��	� ����	���		� ������	
� !���� �� �������������

�	���������!����/�
��
��������
��������������������*����
�����	��

�����	��������	
�!��������!����/�
���	������
�������
���������
��
�

���
����	�	���������
����� 

p1V1  =  p2V2  =  const. 

 ������ ���*�	�������		� 	�����*����/�
�!���������������������

�	��	���������	����/�
������������'		�!������	�������		���
����*�� 
'������
 
,���������	
�6���
-)��	����������	
�V2�	������
��!��������	�� 

�3,6
6,162

4,105,98

2

11
2 =⋅==

p

Vp
V . 

�#!���	�,-
-��#!# 

*��� ���
������� ��
������ ��$��� �����	� ������� ����� ������

�������������������������
��	�
������
���� 
�&�������	���������	�����	���		��������������
���������!������

��������������	���������!����/�
�����	�	�����
��������������������

*����
�� �������	�� ��/�
�� !���� �� �!�� ����������� ��
�����������	�

�����
���
�������		�
��
���
������
��������	�	���� 

const
2

2

1

1 ==
T

V

T

V
. 
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 ����������*�	���
������������
�
$���/�
�!�������������
�������

�	��	���������	����/�
�������!��!������	���
����������18 �$� 
'������
 
���"����	���
������������������	
���
��������� 
���T1 = t1 + 273 = 18 + 273 = 291 K; 
�) T2 = t2 + 273 = 118 + 273 = 391 K. 


��,���������	
�3��-7������������	
�V2�	������	���
��!������

���	�� 

�03,9
291

39172,6

1

21
2 =⋅==

T

TV
V . 

�./�+�����',�*#0��',�0#!�� 

*����
�������
����������
�����������	����������������
��������

������$������
��������������������������
��	�
������
�������
��


�����������
������ 

const
1

11

0

00 ==
T

Vp

T

Vp
. 

�&����������	�����������
����
�������+����	������%!��������	��

�����������
�����������/�
��!������	����
������������	
������	�	��

��������!��������	����	����!	�������	
�� 
 ����������*�	���
������������

�
$�	�������		�������*����/�
�!��

����������
����������	��	���������	����/�
��!������	����
����������

���	
�� 
'������
 
,���������	
���/��	�����!��!�����!��������������	
�V0�	�����

��	���
��!��������	�� 

�2,70
3183,101

4,1208,68273

10

110
0 =

⋅
⋅⋅==

Tp

VpT
V . 

%��	��	
	����������	�������!������������
��������������	������

�	�
T

pV
�
��
���
������
��������	�	����	����������
���	�����������

!������������
����� �R���������������!���������	��!�������������
���
�*��� �� ��/�
� –� �� �	������ ��� R� ��	�	
���� ������	��� �������
8,314 2��
��� · K��$������
����!����
���
����!����
��������	����� 

R
T

pV = ��	�	��pV = RT. 
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%��	�����	
	����������	�������!����������!�����������������n 

������� 

 pV = nRT. 

&����������	�����������
����
�������+����	���� – "�������
�. 

4�	����
������
M

m
n = ����������������	��
��������	��������	�� 

.RT
M

m
pV =  

#�����
�������
���
��	����	�������	��!������!����/�
��
�����	�
��
����������2�������������	��������
������	��	���������	������
�
�	������!�����	�	������	�	���������������������	�	��� 

 �������������	��	���������	��
��
�����
������������������	�
�!�������
������
���!���	���
������������

o
$�	�������		����
��*�����

�	
������/�
����������
���
�� 
'������
 
,���������	
�����������-)���������������	
�M�	������	���
�

���������	�� 

!�
����78
2,12,83
360314,86,2 =

⋅
⋅⋅==

pV

mRT
M  

�#!���(#%1�#"2�'$�+#�"���,�*#0�� 

#�������
����������������
�����
�
��������
������������
����
����	�

��� ��
�����������������������
����	���������������
 

P�
��
������(1)����(2) + … ���(n). 

 �����
��������
����� "�#�� ����–���
���������
����������
�����
����
�
��������������������������
����������
������������
������$���
����
�	������� 

�*��'	�������������	��!�������
��	�������'	���������!����/�
�
���������  

�(1) = '�
��
�� � �(1). 

 ������ ��� #����� ������	�� �
��	�� �����
����	�� ������
������
14 !�	��	��������
��������!�������������*������	��	���������	
�����
'	�������������	��!��������
��	� 

'������
 
*��������� �� �
��	� ��/�
���� ���	� !����� �	������� ������ 	��


�����
����

������������
�����������'	�������������	
�!��������
����������'	��������	��
�����
����

� 
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���"����	���
��	
	����������	������������!��	��!����� 

n(N2) =
!�
���28
!14

�������
���� 

n(O2) =
!�
���32
!8

�����
��
���� 


��"����	���
�������	
�
��
�����������!��������
��	� 

8(N2) = 666,0

���75,0

���5,0

)�
��	(
)N( 2 ==

n

n
. 

$��������������
��
���
����
��	��������8�#2�������� 

8(O2) = 1 – 0,666 = 0,334. 

���"����	���
�������	
����'	�������������	��!����� 

p(N2) = ,(N2) 
 P�
��
�� = 0,666 �������*��������
���*�� 

p(O2)���,(O2) 
 P�
��
�� = 0,334 �������*�����������*�. 

 ������ ������ ������� ��/�
�
� �� �� �
����	� �	������� ��/�
�
�

3,5 ��������	��	��
�����������	�
��
���*���	��������/�
�
�����������
���	��	��
� ���� ���� ������	�
� ���� �*��� ���	��	��� ���'	�������

������	
�!�����	�������������	��������������
��	� 
'������
 
���*���������	��6���
-)��	����������	���
�������������	
�!��

����������	���
��	���	
����������'	�������������	
�� 

�*�92,72
6

5,3125)O()O(
)O(

2

2121
22 =⋅=⋅=

V

Vp
p ; 

�*�25,96
6

5,5105)N()N(
)N(

2

2121
22 =⋅=⋅=

V

Vp
p . 


�������
�������������	���
��	� 

P�
��
�� = p(1) + p(2)����
�	
��*����	��
���*������	�����*�� 

 �������	��������������/�
�
����������	���
����������	�
o
$����

�������
��	�������
������
��
�!���!���	�����!���
�����������!�	������

��	���������
���������	��	���������	��
��������������
��	�����	����

������	����������	�����*�� 
'������
 
���,�� �������	
����������� – )���������� �����	
� ������	�� 	�

�����	���
��!��������	
���
��	��������	��!���	���!��!����� 
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VM

mRT
p = ; 

�*�35,46
325,44

)19273(314,82,27
)O( 2 =

⋅
+⋅⋅=p . 

�*�16,68
445,44

)19273(314,855
)CO( 2 =

⋅
+⋅⋅=p . 


��"����	���
����'	�������������	�����������
��	� 
p(N2) = P��
��	��– p(CO2) – p(O2) = 139,05 – 68,16 –���������
�����*�� 

���"����	���
�������	��
��������������
��	� 

!58,12
)19273(31,8

285,445,24
)N( 2 =

+⋅
⋅⋅==

RT

pVM
m . 

 �������
����!���
�����������������	���
���������
��
�
$�������

�	��
��	���������/�
�
���
�������������	�
���
������*���"����	�����
������	����/�
������!���	����������!���
�������	�����������	�������
�	�����������!�����
��!���������	�
��

o
$��������������*�� 

'������
 
���"����	���
�������	�����'	�����!��������	
��	���!���	������

������
��	� 
�(O2) = P(c
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����
������	�������������� 

41. ��	��������� 
������ 
������ ���
�� !� ��������� ����	�� 
������
24,75 !�����	��	���
����������!��
���������������	
�!����
����
�����	
������������/�
�
�
���������	���
���������

�

�
$�	�������

�		�	�����*��� 
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42. ���������������	�����	�����������!��
�������
����������!�������
���� �����������/�
�������!����	� ��
��������� 
��

�
$�	�������		�

	������*���������	�
�
������	��	���������	��
��
�����
��������
�	��������
�������	��������	���
������ 

43. #��	����	�������!��
�������
������ �����!��������	�	�������-���
���!�����
�������
������
����!��"����	�����
���������	���
�����
������������
����������	���	��	������!�����	���
���������!� 

44. #������	��� ���	�������� �����	����� ������	
� 
��
����� 
����� 	�

��
���!�� ��/�
�� ���	�������� ���� ���� ������������� �� �������	��
����'	�� 
�) 2H2S + (CuOH)2SO4 = 2CuS + H2SO4 + 2H2O; 
�) 2H2S + O2 = 2H2O + 2S; 
�) 2H2S + 3O2 = 2H2O + 2SO2; 
!) H2-�����2SO4 = 4H2O + 4SO2 

45. #������	��� ���	������� 	� �����	����� ������	�� 
��
����� 
�����
���	������������-�������
	�	
����������	������'	�� 
�) Al2(SO4)3 + 12KOH = 2K3[Al(OH)6] + 3K2SO4; 
�) Al2(SO4)3 + Al(OH)3 = 3Al(OH)SO4; 
�) Al2(SO4)3 + 2KOH = 2Al(OH)SO4 + K2SO4. 

46. "����	����� ������	�� �	
	�����!�� ���	������� ���	�������� -���
-�������	���������������	������'	������	����
������������
�����
�����������	���!� 
�) 4H3PO4 + Ca3(PO4)2 = 3Ca(H2PO4)2; 
�) 2H3PO4 + (CaOH)3PO4 = 3CaHPO4 + 3H2O. 

47. 2�
� �������	
� ���!�� ������� ����������!��
� �� ����	���
�������

������������!��	�������������	�������������
������������!�����
�	��	���������	��
��
�����
��������	��������
�������	��������
�	����������
������ 

48. ��	���������
������
������������!�������
���	������������	����
�������������/�
�
������������������&�������
���������������
���
����������������!	���������������	�'��
������
������!��#������
�	�����	���������
������	����	��	���������	��
��
�����
�����
���	�����������	���	�'�� 

49. *�	����������		� ������������������� ��������� ��������	�� ����
�	�� ��	�������!�� 
������� 
������ ������ !�� ����������
� �������
����-	��� ���!�����
�������
������ 	���� !��#������	�����	������
����
������	����	��	���������	����/�
����������������!	��������
!��������������� 

50. "����	�����������	��
��������
	�	
���������	
�!����
������!��
��������	
�����	�	��������������������
��	
	����������	�������
���	���������	����������	��I����������
��
���� 
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51. *�	��!����		�
�������
�����������!�����������
����	�����!��
��
������ 
������ ������ !�� #������	��� �������� ��	����	
� 
������� ��
���������
����	��� 

52. ��	���������
������
�������
���!�����	�
���
����	�������
�
���
��������!��(������
������
��������!�����	�
���
������	
�	��!���!��
����
������
��!��#������	����	
	����	��-��
������������	��
�
��	����
����	���	�!���!��	��� 

53. �� ����������� ���	
�������	
� ���	���
������� �� ������� �	�������
���������	��������

������
��������	
�!�	������
�����������!��#��
�����	���
������	������
����������������
����������	���	��	��
�����!�����	���
�����������!� 

54. )�������
��
���
�
��������	��������������!��������
��	�!�
�����
������	�� 	�� ��������� ������� �	������ �������� ��/�
�
� ����
��
��� ��������	��	���
�����
�������������	���!��������'	���	�
�����
�������������
����	� 

55. )��
���
�
��������	����������������!�����
�����������
��		 !�
�����
���	��	��� 
�� ������	��
�����������	��	�������������	������!�����
����� 
�� ������	����/�
���������������������������	
�!����
����������-
���	
���������!�����	���
��������	��!� 

56. )�����������	�!���!������!���!��	���
�������	��	�������������
�	�����!�����
�����������������������������������	���������#��
�����	����	
	�������-��
����!���!��	���
������� 

57. ��	���������
������ �
���������!�������	��	��������������	�
��
�����6�
������
�����!���������������������������������	��	������
�������	����������������/�
�
� ���������	���
��������� 
��

�
$�	�

������		�		����*���#������	���
������� �	�6� 
58. #������	��� ����������� -��
���� ���������� �� ������� ������!��

����
������	���
	�����������������������	��	������� 
59. #������	��������������-��
����������������	������
���������

�		�������!�����������	����

	���
����������!�������
����������!�
	��!���	�����!�����/�
�
�������������� 

60. ��	�����������!��	����������������
�������
�!����!�	����	��������
	������	�	� �!���	����� !��� ��/�
�
� ������ �� ���� ����	� �����
������
�����!��#������	���
������
�����-��
����	������!���������������
�	������	������
������������!����������������������������� 

61. *�	������
� �!����		���	�������!�� ���������
������ ���� !� �� �	�
�����������	�����������!���	�����!���
�����������!�������
������
	�	� !� 	� ����� ��/�
�
� ���
� �� ���� ����� #������	��� 
������
�����
-��
���� ���������� ���	� �����	������
� ���������� �!�� ������ ���
��������������
����� 



30 

62. #����	�����������������	���	�����������!�	����	��������	����
���	�	�������
�����������������
���������������
���������������
��!��
���	����
��������#������	��������������-��
����	�����
��!����������� 

63. *�	� ���
	�����
���������		�����!��	�����	����
��!��'�����	�
������������	��
��!��'��Mn3O4�
������

�	�!�	��	���������/��

�
� 
�
�� �� ���� �����#������	��� �����������-��
���� 	������!��
���	��� 

64. *���������!����������!����������������	���������������������	�
������ �	�
��������	� ��	�������� �����	
����#������	��� �!�� �	�

	�������-��
��������	�
������
����
����������
����������
��� 

65. �� ��!��	�����
� ���������
�������� ���	� ���
������ �������
����
�!������� –� ���
����� ��������� –� �������� ������ –� ���������*����
�����!�����������
��������
	�!���	���
���������
��

�
$�	�������		�

������� �*�� ���	
���� ��/�
�� ������� ���� ���#������	��� �	
	���
�����-��
������������� 

66. #������	��������������-��
����������������������
�
��������
���	����
����������������	��–� 
�����������
�–� ����������	���-
��� – 38,10 %. 

67. ����	�������
����������
������
����
���������������������������
���–�������	�������–��
�
����*�������!�����������
�����������!���	�
��
������������

�
$�	�������		��������*�����	
������/�
���������


������#������	���
������
�����-��
��������	���	
� 
68. ��	�������������	���	������������������
�
��������
��!����!�	���

	������� �	��������� �� ����������� ��!�� ���������	��� �����
������
��
�� !�	� ����� ��/�
�
� ����
�� ���� �����#������	���
������
�����
-��
����	������!���������������	������������!����������	�������

���������
��!��� 
69. ��	�����������!��	����������������
������ ������ !����!�	���	��

�������	������������������������!�����������	����!���	�����!���

������������!�	������
������������!��#������	���
������
�����
-��
����	������!�� ���������� ���	� �����	������
����������� �!��
������������������
	� 

70. ��	������������
��������������������
������ ����
� !����!�	���
	��������	������������������������!�����������	����!���	�����!���

������ ����
�!�	������
������ ������!��6��
����������	��
���	��
�����
����������
��������
���!��������������������������������

	�����������
�����������!�������������������
�����!��#������	���

������
�����-��
�������������� ���	������	������
�����������
�!������������	�������������������� 
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71. *�	����
	�����
���������		����	���
��!��'���IV��
������������!�
�����	��
��	�������	�����������
����!������	��
��!��'��
������
����
�!���������-��
�������������!�����	��+ 

72. ��	��������� ��������������� ���������
������ ��


� !� ���!�	� ��
	��������	������������������������!�����������	����!���	�����!���

���������	��!�	������
����������
�!����
����������������
�
���	��
�����
� ��������� 
������ ������ !�� ����� ����������� ���������� ��
����-������	
��
�����������!��������������������������!��#������
�	��� 
������
����� -��
���� 	������!�� ���������� ���	� �����	�
������
������������!����������������������������� 

73. ��������/�
�����	�������!���	�����������������
���/�
��
����
�
�������������������������	
���
������!����	!��	
�����������/�
�
�
��
����������+ 

74. $�����
��	����������
�
������ ����� !��������	�	���	�����������
���������������	�������,�����������!�������������������������
�
�����	������������������	!	�����
��	������
��	��II��������
���
����
���!�����	��	���������	
�
��������������
����������	�����
�����
��	� 

75. )�����������	����
	
�	�'	������	������������������������������
���	�	���������
�
��������!�������������������������������������
�
���� �	������ �� '����� �������	
� ��������� ��/�
�
� ���� �� ��	�
��
����������	�

o
$�	�������		�	�������*�+ 

	 �
 �� �� �� � � I I  

��
��
����
���� 

���	�
�����������3�
�
�4 

����������������
��
������������	����������*���
�����������
���
����������������
�	��	�����
�������!�����
���������������� – 
�����
�	��	�����
��������	�	����������
������ 

������	
��������������������������	����������������������	

	�
�������������	���	
	����	�����
�����������	
����	�	��������������
,�������	���������
�����!�������������	
������������������������
!� –���
����!��-	�������	���-���������������������������
�
��	-	���
'	
��	��������–������ 

$�����������!��	����	�������������������������������
���
����
�������
���������	��������	�
��!����
�����������	���	
� 

$�!��������	�'	����	���
��	���������
������������	
	�����
�
-��
����������!�����������������
���
������������������������	�
��������	�������������������	'����������������
��	���*����
����
�����
���
�����	��
���-��
������������������
�–�������� 
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������	��������!������������	�����
����������������������������

������������
��!������������	'�������
��������
���
���	
��	�����
��
���������������
�������������	������
������	������
�������� 

���#%�'�����+�����& 

������	
��	�����������	���	�����������
�	�����	����!������
�
������	
������� ����������	'�������!�����
���������--	���
� -��-�	�
������!�� ������	
� 
����� ����������	'�������!�� ���
����� �� ���	�
������
� �������� %��	� 
����� ����������	'��������� ���
���� 
�����
�����	���
� �� ����	����� ������
�� ��	����	
�� ��� �������� ��	����	
�
����������
������������	
��	
	�'	-��
	� 

-���������: NaCl –�����	������	
���!�–�	��	�������������.2 – 
-���	���	���������!!���./0"2 –����
	����������!!�� 

#�����
�Al2O3 –� ���	�� ���
	�	
��  4O10 –� ���	��-��-���� �1���
$# –����	���!������� �!!��� ./2O3 –����	��������� �!!!���#��	����������
���	��!���������
���� −2

2  (–#–#–�����������
���������������2#2 – 
������	��������������#2 –�������	�����	
� 

 �����������
�(��������������������
��������): CuS –�����-	��

��	��!!����22-��–������	��
��	��!�����2Te –�������	������	
� 

 ����!	�������������
�	����!	���	�����������	���	
������	�

��������������	�����3P2; ������� – CaC2; ������� – MgH2 	����!	�� 

,�������	�
�	����������������	��
��
���
����������������	�
���	
���
������������
��
��	������������	������,��������	
������
�����
��������	��
����	�
��
���
��	�������
���	���� 

(���	'	��������	�����
�����	���	

������
������������	
���
�	��������
�������������
�����
�������!���	������
������	���������-
	�������� ����������� ����	���	�� ������� ��4

+ –� �

��	��� ��4Cl – 
����	�� �

��	
�� �� −

2  –� �
	��� #��2 –� �
	�� ���	
�� ��2– –� 	
	���
Na2NH –�	
	������	
� 

�� �������	�����
� ����	���	

� �����
�� ���� �
�� ��������� ���
������	��������	����!����	����	����
�������������
�����������	�

���'	��	�-	����– CN ����	�
��	��– BiO+

����	�	��– SbO+. 
*��-���'	�������
���	�����
������	�����������������	����

��������	���	��
��
���
����

	�	�	������������
	�����	���	

	��
���
�����	�����	����������������	���	�� 

#��	������������
���
���� ����������������� �������������	�	�
������������������������������	�����	���������	
������������	���
�	�����
	���	����������	

	��CO, NO, N2����$�����������	�����	�
������
��
��������
����������
����	�����
�����.  
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���*�)"������'�����+�����& 

�� ���
�� �	��� ����!��	����	�� �������� �����	��
� �����	������
����	���	�����������	
����������
�������������������	'���������	�
������������	���������������
��	�����������	������������!������

����� 

#���
������ #������	

	� ���������
� �������� ���������� ���
���
�	��	�����
���
�������	�������	�	���������	��!	������!����� 

#�	� 
��
���
� ������
	���	�����	����	
	���������
	��#�����
�����	
	�����������������������	��–����������������	
�������������
���	�����
	�	��	������
	����	��
	������������	�
��������#������
�	
�����������3)������#��45���6��	����������
�������
�������������
-"��0����������	
���������	����������
�����������$	���
��	����	��
������	
����!���	�������	���	�������
��	��������!	�����	��	�������
�	
����
����������	������
����������������	�
��!��������	���	����
�	
�����	������������	
�� 

LiOH –�!	�����	���	�	
� ���#��2 –�!	�����	�����	
� 

Fe(OH)3 – �����������������(III);  Re(OH)4 –�����������������(IV). 

+����
���&��������������������������
�	��	���	��������������
����	�����!��	�	���������	�����
�������������������������
������
�
������
��
�������� 

�	����������
�����������������������!��!����
�������
�	���!��
�������������	��	��� ���������� ����	����-	�	��-�	
	����	
� �������
��
��6����	�������	�������������������	
����������,������������
�	
	������� ��������� –� ������������ ������������� ���	���	� ���	
��
������		����������	

	�	��������
	����	��
	� 

1	���� ���
��� ��������� �� 
�������� �	������� ���������� ��
��
�����
����
����������������
�����
���
��������
�. HNO3 –��������
�����
���2SO4 –������������
���3PO4 –������������
���4P2O7 –������
����������
����3COOH –������������
��	������ 

����!��	����	���	���������
��
������������	���	�������������
�����
����	����n&�m�	�����	�����������	����nXm��!���&�–��	������
��������	�����
�����  –����
��!���!������������!�����	�����������
���!	�����
�������n�	�m –����	��������������������	�����
��� 

*����������
����	
���
��������������	��������
����	��������
���!������–#–#–����������
�������������
����(H2SO5��������������
��
����	
��	��������������
�������– 
�������
����(H3PS4). 

(���	'	������������	�������	�����������	��	������������–���	�
��!�������!�� ��� ����
� ������	
� �	��������������!�� ���
����� 	�

!�������!����������	������������	
��������
��	������������
��	����
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����%��	����
������������������������	�������������	�	��
������	
	�

��!��	�����
� ����
����� ��--	��������	����	�
�
��� �� ����������

���!��������	
����
������-�-, -�-�	�	�-��-���	��������	�	���	�������
����������	���	����	
�	�-��-, -���-, -���#�-, -���#����-���	����
��
���������	��	��	��������
����	����	
� 

(�������������
��������������������
����	
����
��������������

�	���������
������	�	�!������#�
–
����������		�����	���������������� 

�����	�	
���	����������	���
����	
�	����������������	�������

	�	�#�
–
�!���������������	
����������	��
����	������	-	'	�����
�

����������������!	������	���	������-�3, Mg(HCO3)2, ����������������
��
����	����	�#����	���./2(SO4)3, Na2CO3��	����ó
�����!	���������
�	���	���./�����'����2���2CO3. 

"���	������������
�	��������������������������

�
������
	�	�

���	
��	������
��������
��#&'�-�4)2, KCr(SO4)2), ����������������
������������	
�
������
�	����

��	������
	��������
	� ����'��'�

	�	� ����'2�� -"��-��'�� 	� ��
��������� ���	� �7&8���3)2]ClO4, 
K3[Fe(CN)6]). 

6����	������ ����!��	����	�� ���������������
��� ������ ����	�

���	
���	��������	�����	������������������	������	������������	�


	���
��������
	��������	
�	��	���	
��)��!	�����	���������������

�	
��������� 
(���	'	������������	
��������������
���
�	��������	����	�����

��	
��	������
��������	�������	�����	����������	������
���������

������	����	��������������������������!��	�	����	����!��������	
�

�	��������������!�� ���
����� �� ��������	�
� ��--	����� ����������

�����!������	�	�	����������	���	����	
����
������ 
%��	� �	�������������	�� ���
���� 	
���� ������� ����� ��������

��	����	
�����������
���
���--	���-#�-: 

Na2CO3 –��������
�����	
� K2SiO3 –��	�	��
����	
� 

%��	��	�������������	�����
����	
��������������	���	����	
��

��� ��	� ������� ������	� ��	����	
� ������
���
� ��--	��� -#�-�� ����	�
�	�����-��-:  

CaSO4 –�����-�
�����'	
���MgSO3 –�����-�
�
�!�	
� 

*�	����	�		���	�������������������	��������
�������

���	��

���	
��	��������������!�����
������	��������	
����������
����	
�

������
�� ��
� ���������	
� ������� ������	� ��	����	
� 	����������
�

��	�������(�%-�	���--	���-#�: 

KBr+7O4 – ������
�
����	
� 
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����
�������
�����
������	
������������	����	
��������	�����	���--
-	���-#�: 

KBr+5O3 –����
�
����	
� 

��--	���-��:  KBr+3O2 –����
�
����	
� 

��
���	
������������	��������������	���	����	
�–���	�������– *��
(�-�	���--	���-��: 

KBr+1O – �������
�
����	
� 

*�	���������		�����	'	������������	�������������	���������	��

��	���������������	�������
���
���	�������*�+%�-�	��	�����
���	�����
�������	����	����������
����������������	�������������	�	'�� 

��$#3 – �����������������	
� 

Fe(H2PO4)2 – �������-��-�����������II). 

-������������ ����	'	����� ��������� ��������	�
� �� ������	��

���	������	�����	�*�+%�!��-: 

(CuOH)2CO3 –����������!	������
��	�II); 

Al(OH)2NO3 –��	�������!	���������
	�	
�	����� 

������	
� �
�	���� �� ���������� ����	� ����
��
� ������
� �����

��
��%�	��������
���������������	��	��
������ ���	�	�–�����������
��������-	�����
���������	
�������������	����	����	�	���	���� 

�
�	��������
  KCr(SO4)2  –�����-����������III	�����; 
��������������
 Ca(ClO)Cl  – ������-���������
�����'	
� 
    AlNO3SO4  – ������
-��
��
����
	�	
 

(���	'	������ ������	
� �����	�� ������ ��	������ �������	����-
���������	�������	��������	��� 

�����������	 ��
����	 ��
���� ������� �����������	 ��
����	 
�	��	� 
��� 

6����
 H3BO3 6����� 

4!�����
 H2CO3 ��������� 

)������
�	���
 H2SiO3 )����	�	���� 

#������
�	���
 H4SiO4 #����	�	���� 

)���
����
 H3AsO4  ������� 

)���
���	���
 H3AsO3  ����	�� 

0��-����
 H3PO4 0��-��� 

2	-��-����
 H4P2O7 2	-��-��� 

0��-��	���
 H3PO3 0��-	�� 
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�����������	 ��
����	 ��
���� ������� �����������	 ��
����	 
�	��	� 
��� 

0��-�������	���
 H3PO2 3	��-��-	�� 

 �����
 HNO3 �	����� 

 ���	���
 HNO2 �	��	�� 

.��
���
 H2CrO4 .��
��� 

2	���
���
 H2Cr2O7 2	���
��� 

$����
 H2SO4 $���-��� 

$���	���
 H2SO3 $���-	�� 

)��!��'���
 HMnO4 *��
��!����� 

)��!��'��	���
 H2MnO4 )��!����� 

.��������	���
 HClO 3	������	�� 

.���	���
 HClO2 .���	�� 

.���������
 HClO3 .������ 

.�����
 HClO4 *��������� 

&�������
����'���� 

76. ���	����� -��
���� ���	����� �������������	�� ��������
�

!	�����	��
���4SiO4, Cu(OH)2, H3AsO3, H6TeO6, Fe(OH)3. 
77. $����������������	
�����'	�������
�������������
�����������

���	������������	
� 
�) Ba ��0�����0��'2 ��0����3)2 ��0�-�4; 
�) Mg ��$8-�4 ��$8����2 ��$8O ��$8�'2 . 

78. ���	��	������������!�����������������	
	����������	
�������	��
����������
������	����'���2S, NO2, N2, Cl2, CH4, SO2, NH3+����	�

������������	
��������������	������'	�� 
79. ���	�����	�
����������	����	
�
�������
�������
���		��2-�4, 

AgNO3, K3PO4, BaCl2+����	������������	
�����'	��	������������

������������	� 
80. $����	
�	�������	���������	��������������������!	����������
�

��
��	��������2O3, Zn(OH)2, CaO, AgNO3, SiO2, H3PO4+�$�����	���

�������	
��������������	������'	�� 
81. ���	�� 	�� ���������� �������� ���!	����� �� !	�����	��
� ����	
��

HNO3, CaO, CO2, CuSO4, Cd(OH)2, P4O10+�$�����	����������	
����

��'	�� 
82. ���	�	��� �������	
� ����'	��� ��	������������	�� ��� ���������

����������./����62O, HgO, Bi2O3. 
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83. ���	�	����������	
�����'	�������������	���	�����������������
SeO2, SO3, Mn2O7, P4O6, CrO3. 

84. �����	�� ���	: SbCl2NO3, (Fe(OH)2)2CrO4, (AlOH)SO4, Cd(HS)2, 
Ca(H2PO4)2. 

85. ���	����� �������	
� ����'	�� ���������	
� $82P2O7, Ca3(PO4)2, 
Mg(ClO4)2, Ba(NO3)2�����������������	
�������	
�� 

����������!��	��	������!�����	����� 
����������	
�	��	������!�����	���� 
����������!�����	���	��	������� 
!���������	
�	��	������ 

86. �������� ���	�� 9%���3COO)2, NaH2SbO4, K2H2P2O7, Al(OH)2NO3, 
Na2Cr2O7, Ba(HSO3)2, CrOHSO4, NaHS. 

87. *�	���	�����	
�������	���������������	����	
�������		������
���� ��������� ���� �	������� ���� ���	
����������� �� ��������
�

!	�����	�������'	
��2O3; N2O5; NO2? 
88. #�������	��� ���������	
� ������ ���
���������� ���������

FeCl3�Fe2O3; Al(CH3COO)3�Al2O3; CuSO4�CuO; MnBr2�MnO. 
����
�������
�����!��	���!��������
�����	������!�����	��������

�	������!��������	
�����2��	���22O��./��	��./2O3; P4O10�	�� 4O6; 
$%��	��$%2O7; NO2�	����+ 

89. �������
�����	�		�������������
���������������������������	��
�������	�����	�����0���	�$8��� 5��	�9%���-)�2�	���2���$%��	�

9%���./��	�-)�2? 
90. 1�
��������
���
�������������	����+�*�	���	�����	
�����	�����

����������������	�	����	�	���	��!��-	����	��-��
�������������

���������
���	�����������	��
��������-��-��	������	�������	��

���
�	����!��������������������
�����������������������
+ 
91. ��� ��	
����
���-�� ����-�� ���	-��-������ �	����� �����	���� ��
�

���	�����
���	�-��
�������!�������!��	���	����	�������	
������

	����
��	�����	
����������	
+ 
92. ���	������	���	
����������
���	����
	�����
���������		�����

����	�� �	����� 	�	� ������		� ��� �	�� �������	
���	�� ���������

HNO2; HClO; H3PO3; H2WO4; H3AsO4; HBO2; H2B4O7; HAsO3; 
H2S3O10? 

93. $����	
	�	�������	�������������������	
��������������
��
��	�
�������������2O3; AgNO3; SO3; Pb(NO3)2; CuSO4; FeS; FeO; Cu; Zn? 

94. #���������������������!��!	�����	�������������	������	������

��� &6����3� 	�	� 0)����3; Sn(OH)2� 	�	� -%����4; Fe(OH)2� 	�	�

Fe(OH)3; Ba(OH)2�	�	�0/����2? 
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95. #������	���
�����!	�����	�������	
����������
���������������
����	��
����������	�
������������	������		������
������
����
�
����	�������	
��������������
���	���� 

96. ����	���
������������� !	�����	�������	
���������	���!��
���
�������������������!�����	
���2�������������	�
�����!	�����	���
�����������
������
�
���!��1�
����������/�
�����������!�������!��
��	����
�$#2? 

97. ������
���/�
��
��������		��������������
���������������
�3"#4�	��������	��������
��
��������'�����'		���
��������
�	
�!	���-�	��	!	���-��-��������	
+ 

98. ���	�	��� �������	
� ����'	��� �������� ���������������� ������
�������	�����������
���������		� 
�������������������!	�������-����'	���� 
�����������	����������������������
��!	�����	������
	�	
� 

99. ���	�	����������	
�����'	�����	���
��	��������������	�����
�����	��� ���	�
�!������������������� �� �����	��� ��2���2SO4, 
Ca(HCO3)2, [Al(OH)2]2SO4, [Cr(OH)2]2SO4, FeOHSO4, (BiOH)SO4. 

100. ���	�� 	�� ������ ��ClNO3, KNa2PO4, Pb(CH3COO)2, (BiO)2SO4, 
Fe(OH)2NO3� ���	
����������� ��� ��� H2SO4�� ��� NaOH+� �����	���
	�������� ���	� 	� ��������� ���
������ ����'	��� ���	�	��� 	��
!��-	����	��-��
���� 

101. ���	
	��������
	�
����������	���	�����������	����!���� 
�) Pb(NO3)2�� 5-�4,   �) CuCl2 ��2-�4, 
�) Fe2(SO4)3 ��./�'3,   !) K2CrO4 ��0��"�4, 
�) NaAlO2 ��&'2(SO4)3,   �) BaCO3 ��0��'2? 

102. ���	�	����������	
�����'	����������������������������
�����
������
�����./-�	���'����2���2CO3�	��2SO4, Ca(HCO3)2�	�������
NaHSO4�	���3, Al(H2PO4)3�	�������2. 

103. (��
	����	
���������	�
����	��������
����������	�����	����
�	�������������!��!�����������
�	
�+ 

104. ���	�	����������	
�����'	����������������������������
�����
������ 
����� �������	
	� ��������
	�� ������2� 	� ��2; NH3� 	�
SO2; CaCl2�	���2HPO4; H2SO4�	� ./��-�4; CaHAsO3�	� 0�����2; 
Mg(HCO3)2�	�������2; KAl(SO4)2�	�#������4Cr(SO4)2�	�0��'2. 

105. *�	���
��	����	������'	��
�������������	����������	�����
��������������!����������������!�
�� 
�) KAl(SO4)2 ��&'�'3 ��&'2O3; 
�) Fe2(SO4)3 ��./��3SO4 ��./�'3 ��./2O3; 
�) Fe2(SO4)3 ��./2O3 ��./�������4)2Fe(SO4)2 ��./�'3; 
!) Fe ��./�'2 ��./�'3 ��./��-�4 ��./�'-�4 ��./2O3 ��./� 
�) Zn ��9%-���9%�����9%���2SO4 ��9%�'2 ��9%� 
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	 �
 �� �� �� � � � � �  

5
��	���������������������6�4 

(�������������	�������������
������	���
��������!	���
�����

�	���
���	��������������������
������������������	��	������������


����	�������!����������	
��	
	����	�����'������ 
)������ –� ��
�������
�� 
����

� ���� ���
���� �
��������� �
�


�����	��������"���	����� !�
�!������	�!�����!�������	���
���*��

��"����� �	���
�������
��	��������-����� "�����"����� �	���
��– 
	�� ����� 	�	� ������-������#�� –� �
�� ���
�� ���
����� ����������� 
��

�������
������������������������
�
�����
�	�

������
����������
�

��������������
������
������
����������� 
.	
	�����
� �	���
����������	�����
������������
	�%�������

����.��� ����
����
� �	���
�� �����
��
� ��
��������� .�� ������	�� �, 
��/�
�V��
�����m�	����'�����'	
��� 

(��
��	��
	������������
�	���	���
����	�������
���������� 
����������� �������� ����������� �������
���
� ����������
����� ���

���
�	
��, V�	�.��,�
����	�����
��������!��	���	������������������
	�
����	�������-���'	�������
�	
��	���
���*������	��������	�
�����

���	�	����
��	����'��������	���
�	���	���
����������������
�	�����

-���'	

� �����
�	
� ��������
��� ������ 
����������������� ���

����������������
��
� 

U –���������

�����!	
� 
/ –��������	
� 
S –�������	
� 
G –�����!	
�3	��������������
�����!	
�� 
$���������� 	���"��� ������� U –� ���� ��� �����
� ����!	
�� ���

���
��
�	���	���	�������	������'	�����������!		����������	'��	��

��
�� �
�������� ���
���� 
����� ������������� *��������� ������� �����

����� �������
��	�� �����
������ �����
�� ��	� ���
��	��
	�����
�

	�����		� �	���
�� ����������� ������ �	��� ���������� ��� �����������

����!		���	����������	������!�������
�	
��U1�������!����U2): 

∆U = U2 – U1. 

6����	�������	
	����	������'	��	������	������
���
�������		�

(��������� ����������	��	���
��
�������
��	�����
�����!	��� ������-
����:����������������������	������������������!�����	���	��������-
!��������	
�	�	�����������������	���
���
��������������������������� 

∆U = Q + A . 
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������
��	���������� 

A = p(V2 –V1) = p∆V. 

%��	� ���� �	���
��� ����������
� �������� ��� ���� ��	�����
� �����

��
�����	�� �� ���	� �	���
�� ��
�� ���������� �������� ��� ����
� �������

��	�����
��
����
�����	: 

A = –p∆V. 

*����
��������
���������� = const): 

∆U = Qp – p∆V  
	�	 

U2 – U1= Q� – p(V2 – V1), 
������ 

Qp = (U2+ pV2) – (U1+ pV1). 

0���'	
� U + pV�� �����������
� ������/�� ���������
� 	���
�%���. 
&������	
������-���'	
������
�	
�	�	
�������
������������!		���2��� 

Qp = H2 – H1 = ∆H. 

(���������--��������'		���	������
���
�������		�	���
�����

�������������������	�
����	���������		��	���
�������������'		��#��

���	�	�������	��������!������	������������	��-	�	�����!�������
�	
��

�����	�� �., ��� ��������	
� ����'		�� �� ������ ��� ���	������� ���������
���������	��������'		� 

#������ ���
��	��
	����	�� ���	�	��� �������
��� ��	� �
���

���
��� ����
���: ���������
��*��	�.���
	�����
� �
$��� 

$���������
��������	
�����'		����������	
���
���������!�������

�����	���������� ��������������
�	��
� �� ������������ �����
�	
�����-
�������
��������������������	������������	
����!����������������	
���

∆f H
0
298  (CO2) = –�	�����2��
�����∆f H

0
298  (HgO) = –90,9 �2��
�����0��


�������������
���������
���
����

�
��
�����
�������
����������

�����
�����
��	��. 
.	
	����	���������	
��������������������	�
����	
��������		�

�����������--���������'	�������������
�
��������������� ���
���
�����: 

$�����������#���� →�$#����;  ∆/ 0
298  = –�	�����2�� 

	�	 
$�����������#���� →�$#��������	�����2�� 

%��	������������������'		��������������
���
��Q > ��������������	
�
�	���
�����	�����
���H < ����(���
�����'	
����������
�����
�������-
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��	��"���'	
������������
� ����!�����	�
� �������� �Q < ���� ����������-
�����	�
��������		��	���
����H > �������������
�����
���������	. 

������'��0#!�������%��$�����&�"&���&�0#!���	���#� 
�����

�	������
������������������
���
������������������������������
�
����������
�����������
���
��
���
��������������
������������
������
������
�������. 

�"�+�������0�0#!��#�	���#� �
�����
��	�
����
�	������
����
��������
����������
�����
����
����
�������
�����������
�
����
������ ��� 
���
��� ������ �
�����
����
����
�������
�����������
����
����

������
����
������
�������������������
�

 

∆/ 0
298 ���-'		����∑∆f /

0
298 ���������–∑∆f /

0
298 ��	���� 

 ������ ���*�����
��������
	����������������������	
�������
�����	
���������������'		�
$8��� + CO� ��� = 2MgO��� + C������������	��

�	���∆/�
����'		� 

'������
 
,����
�	������	����������������������	

����������	
���2�	�

$8�� 	� ��	����
�� ���� ������������ �������		� ���������	
� ��������
�����������������	
����	�	����������������������		�����'		� 

∆ / 0
298  =2∆f /

0
298  (MgO) – ∆f /

0
298  (CO2) = 

= –601,8 .2 + 393,5 = –�������2��
���� 

 ������ ���,����
�	�� �����������������	
� !����������!���	���
�	����!����������2) = –�	�����2��
�����	����
��	
	�����!���������
�	
�$�������� + 2N2O ������$#���� + 2N����; ∆/ 0

298  = –������2������	��	���
�����������������	
��2O���. 

"����	��� 

∆/ 0
298  ��-'		�����∆f /

0
298  (CO2) + 0) – (2∆f�/

0
298  (N2O) + 0), 

������ 
2∆f/

0
298  (N2O) = ∆f /

0
298  (CO2) – ∆/ 0

298 ���-'		��� 
 –393,5 – (–��������������2��� 

$��������������∆f /
0
298  (N2�����������
����
��2��
���� 

���������	�����������
���
����	�������������������	
	�����
�
����'	
���������
���
����
�����
�������	�
������-����������	�
���
������	� ����������� ���
���� 
� ���
������ �����������	� 
��
�����	�
�������	���
��������������������������
�–������������	���
������		��
�	�
��������	������
����������������
����
��������
�������
�����
���
������� ��
����� ����
� ��
�� �������
���� ����������� �������
��
��
����
�����������
����������
����		� 
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)������������	����	��������'	����
�	������������'����������

�	��	�
����	���������		����	
	�����������'		�����	'��������������

∆/���������������
������	����������	��������–�������������	�����
�����		��	���
�� 

)���������
�����	� �������
���������	��������
����� �����
�	
�

�	���
�� �� ���
��	��
	��� ��	�
��� ��	����� ��
����� S –� ���	�	���
������'	��������� ��!��	-
�� �	���� ���������
����� 
	��������
�

�	�����������������
��������������	��������������
���������
�	�� 

S = k . ln W. 

%�	�	'��	�
����	
�������		�–�2��
����K. 
&�����	
��������������	�������������������	����	�����	�����!��

�����
�	
� ���	����� 	� 	���	���!�� �� !������������� ��	� ���������		�

��	�����������	�����	���		�!��������	��	
	����	�����	
�������	
���

��	���
�	��������	���	���	��������	'��	�����������!������	'���!��

���������
������
�		��������	����������'���������������������������

����
����������� �	���
�� ����������� ���������'	
�� ���	
��	��'	
��

����	��� �
������	�� �	���� ����	'��� �������������
� �
������	�
�

������		� 
 ���������������	����
����	����	����������	��������	�
����	
�

������		����������	������'	
�� 

 NH4NO���� = N2O������
�2#���; (1) 

 
��������#�������
�2#���; (2) 

 
��������#�������
�2#���. (3) 

'������
 
������'		�������
�����������������	�����	�����
������
�		����

������� �� 
���� !������ ��������������� �S1 > ��� �� ����'	
�� �
�� 	� ����
�
��������
������������	����
����������	��	����
�����!������������

������������������S2 < ��	��S3 < ���*�	����
��S3�	
�������������	'��

��������������	�����
��S2����������S(H2O���) < S(H2O���). 
2�
� ������		� ��������	��� ���������	��� �����!	����� ����
���

�����
�� ����� ��
�∆/: ���������� ��
������ ���
���� 
� ������
�
��
���������	����������∆�	���
�����������
����	�������
�
������������

���
�����������
����	����������
����

������	���	����	����		�

�������		����

	�����	�����	����
���������
�����	�
���	����	�����

�--	'	������ 
(
�����
������
����������
���
����

��
��
�������
���
���-

����������
���������
���
����

�������
�������� 
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0���'	��������
�	
���������
������������������	
�	�����	��

���

�����������������'	��������������	����������	
��	
	����	��

���'������� ����	�� ������� -����� (�
������� ���������� ��
�����
� ��
�������	���	�������	������������	�
 

G = H – TS, 

!���. –����������
���
��������� 
���� �	����� ����!	
�3	�����	
���� ������ ���
��������� ����	� ���

�����	
��	������
������������������
���2��	�	��2�� 
2�
���������-���
�������������������
�����������'�������������

����	����	������
�������
���������	�������		��	�
����	������!		�

3	����������� 

∆G =∆H – T∆S. 

����	����������∆H�	�∆S, ������������������-����� ∆G 
��������

�
�� ���������	� ������� (����!	
� 3	����� ����'		�� ��
��� ������
������	� -������ ������
����� ������
�
� �������� ��� 
���
��� ������

������	�-������������
��������������
����

����

	�����	�����	��

���
���������
��	����
��������������	��������'		��������� 
&���!	��3	����� ���������	
� ��������� �����
�� �� ��
���� ���!��

���������	��������������������2��
�������	����
�∆G0 
������
�����

��������� ��
�	��
�	� ������������ ����
���� 
����

�� ��������
�

��
��	�����. 
*������
����

��
������
��������
���������������������������-

��
����������
���������
���
��
������
�
����������
�������������
�-
����	���"���*�������������������'�������∆G < 0)��0
����
������
���
�������������	�
��������
��������

����������������������� 

����	�������������	'��������������
��������	������	
�������

���	
�����'		���	�����	������������	
���������∆��	�∆S. 

���� �
�	�	��� ������� 

∆� ∆S ∆G 

�������������� ��
�����
�� 
� �
����� ����	����� �	����� 

– + – ���
�������	���������
�������� 
+ – + *�	�'	�	�����������
���� 
– – ± ���
�������	��	��	����
��������� 
+ + ± ���
�������	������	����
��������� 

 ������ 	.� *�����
��� ���������
	� �����
	� �������	���� ����

������	���	���
����������
	��	�
�����������������	�����	����	���

����!1�������������!��
�������������
�� 

TiO�������
$�������� = Ti������
$#����? 
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+��	�	
������∆/�
�	�∆S�

������
��������������������� 
'������
 

+�����	
��G 0
��� � ����2��
�������	�
	������
�TiO2 (–�������	�C# 

(–��������(�!�����
�����
���	���
�������'		���G0
298  = –137,1·2 – (–888,6) = 

���������2���*����������G 0
298 �;����������������	��TiO2 ��	�
	�������

���
����� 
2�
����������G 0

2500 �����������
�
��������	�
��G = �Ho – T�So. 
*�	����
��������������		���������	�
��������		������	��	��������
�
������	
��/

�
	��So

���	�
	�����2�
����������Ho
�	��So

�����'	���������

�	
������	�������	'��������	
��/ 0
��� ���
�TiO2 (–	���	��	�$#��–110,5), 

��������������	
�So
���
�TiO2���������$��������Ti��������	�$#���	����� 

(�!�����
�����
���	���
�������'		�� 

�Ho = –110,5 · 2 – (–	���	�����

�	��2�� 

�So = 30,6 + 197,5 · 2 – 50,3 – 5,7 · 2 = –����	�2���� 

(�����������	
��G 0
2500 �����'		��������
��So

����2����� 

�G 0
2500  = �/ 0

2500  – T�S 0
2500  = 722,9 – 2500 · 363,9/1000 = 

= 722,9 – 909,8 = –����	��2�� 

(��	
�������
���G 0
2500  < ��� ��������������������	��TiO2� !��-	�

��
���	�
���������
����� 

$�%������
������������
�����%��"������ 

1. 2����� ���������	�� ���
�	

�� ���
����� ������ ������� �����-� ��
��������
�����. 

2. ���	���	���
�����������
�!�
�!����
	�������	��–�!�����!����
	+ 
3. ���	������-��������������
�����
����	�����������������	���	�

	����	������'	���������
����������		+ 

4. �����	��� ��������� ���
��	��
	����	�� ���	�	���� ��������	�
����	�������
�	���	���
���*���
����	����
��������	��������	�
���
�����? 

5. "���
���	��� �
���� ���
�	�� 
��
������� �������� ���
���� 	� ���

�������� *�	���	��� ��	
���� ����'	��� �� �������� ∆Η > ∆U� 	�
∆U > ∆Η. 

6. ���	��-��������������
������	�	���	�
����	
��������		������
'		+��������	�	���������	�	����������!		����	��'		�����	�	������

�	
���������	
����'��������	������	
������	�������+ 
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7. )�!����	������ �������
	���
	����'������	���'	�'		�
�������
������
���	������������
	���
	�–����'��������������	
�
����
����	�����
�������	�������	�����!	��
������+ 

8. #�/
��	��� �
���� ���
�	
� ��
������� ������
����� 
����

�. 
$-��
��	������ �����	
� ��������	��'		� ����� ��������	��	�	��
1�
����	�����
������������������	
�������
������+ 

9. $-��
��	������������3����������
���
���
������������
��--���
��
� ��������	���� ����'		� 	� �������	

	� ���������	
�	��������
��������	���������������'		+ 

10. 1�
� ��/
��
���
� ��
����	��������� ��������	�� ���������� �����
'	������!�����	�
���������∆Η>0)? 

11. 2�������/
����	�����
�	
���
�����. 
12. ���������
�����������������	��������	�
����	
�������		��������

�������	�����'������ 
���
�2 ��� + O� ��� = 2H2O ���; 
���
�2S ��� + 3O� ��� = 2 H2O ��� + 2 SO� ���; 
�� MgO ��� + CO� ��� = MgCO� ���; 
!������→������→����� 
�) CH3COOH (�-�) = CH3COO�����+. 

13. 2��������������	�����
�	
���������-�����. 
14. ����������������	��
��������	�	����	�
����	
�����!		�3	�����

	����	�	��
	�	�
����	
��������		�	�������		��	���
�+ 
15. *���
��∆G�
���������
���	�����
�������	���	����
����	������

����	���������	
��	
	�����������'		+����
������	������	�����

!�������'		���∆G < �������	����	����	���+�2�������/
����	�� 
16. 4�	����
�������������	���!��	�������	���!��-��������	���
���

������������������		����	�	���∆G�������	�������������	���	���
����'	�������	����	��
����
���������	���
���������
	������
�	

	���������	
� 

&�������
����'���� 

106. 1������������ �������
	� �--����
	�����'	�+������	�������
��
�������	
��	
	����	������'	��������������
��	
	����	
	+ 

107. ���	�������	
������
�	
��	���
����	�	
���������
��	��
	�����
��������������������+����	
	��	
����
	�	������������+ 

108. 1���������������������������!	����	���
�+�*���
�������
��	�
��
	����	�����������	������������������������������	
������

�����������!		�U�������	�
����	��∆U���	�����������	���
��	��
����!�������
�	
������!��+ 
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109. ���	
��������	�
��������
���
��������	
�	����	�
����	�+����
���� ������ 
��
���
� �������
� ������
� ���
��	
		+� 2����� �!��
-��
��	������ 

110. ������-���'	��������
�	
���������	�����
�������'	
��	���
����
����	���	�������������
�!����	����������
���!�������
�	
�����
����
�� ��������������
���	
�����
� ������
��������� ���������
���	
�����	'+ 

111. ����	�
��
���
�������	
��	���
�����������	�
���
�����������
����'	
���	������	���������	
��������+ 

112. ����	�
��
���
�������	
��	���
����	�	������		����������'		��
����	���		�������	
��-����������������+ 

113. ���	
	� �������
����� ���������	
	� -������
	� �������
���
�
����������������	
	�����!�����'����+ 

114. *�	�����	���		�
���!���������������������	�����������2���"���
��	����������������������	
�����-	���������� 

115. #������	��� ������������ �������	�� �∆/ 0
298 �� ���������	
� "�3, 

	����
�	���������	
� 

2PH��������#�������"2#���������2#���; ∆/� = –
�������2�� 

116. ,����
�	���������!���--���������'		 

�$�#������"2#�������$�3�"#4)� ���; ∆/� = –��������2� 

�������	���∆/ 0
298  ���������	
���
�-��-��������'	
� 

117. $����	���∆/ 0
298 �����'		�������������	
����	�����������III������

�	���
	����������	���

	���	�
	���� 
���./2O���� + 3H2 = 2 Fe��� + 3H2O ���; 
���./2O��������$�������� = 2 Fe������$#���; 
���./2O��������$#��� = 2 Fe������$#����. 

118. ���	��	���������	��∆/�
 ��
����������	������!��	�
������'	��

���������	
�!������� 
���$6�12#� ������
$2�5#�������
$#� ���; 
���$6�12#� �������#� �������$#���������2#���. 
����
�	����	������'	���������
�����!��	�
�������������!		+ 

119. ��� ���	����
� ���	����	��� �������	��� ����� ∆S�
� �������	��

���'������ 
���
������ = N���� + 3H����; 
���$#�������$#����; 
���
����� + O���� = 2NO����; 
!��
�2S��� + 3O���� = 2H2O��� + 2SO����; 
���
$�3OH���+ 3O���� = 4H2O������
$#����. 
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120. ������	����
����	����	��������������
����	��	�������	��������
���'������	�
����	��������		������	������� 
���$8���� + H���� = Mg��� + H2O���; 
���$������������$#�������
$#���; 
���$�3$##���	�������$�3$##

-
�	��������

+
�	����; 

!�����'������#���� = 2Cl�������
�2#���; 
�����4NO���� = N2O��)���
�2#���. 

121. 4������	������������	�� ���	��	���	���������	�� ����'	�� ����

������������������������	
�� 
�������� + ½ #���� = N2O���; 
������'������#���� = 2Cl�������
�2#���; 
���./2O��������$#��� = 2Fe�������$#����. 

122. 4�����������	��	������'	�����������	
����	����������	���	����	��
��
���������� ������	��	�	��	��	���
�!���������������
����	��
������� 
���
��������#���� = 2N2O��� ; ∆/�

298 > 0 
�����������#���� = 2NO���; ∆/�

298 > 0 
���
����� + O���� = 2NO����; ∆/�

298 < 0 
!������� + NO���� = N2O����; ∆/�

298 < 0 
123. #������	���������	
�∆G�

298, ∆Η�
298 	�∆S�

298 ��
��	����	���������
����'	��	��������	�����
����������������	
�	�������������	
�
����

�
����������		� 
����)���� +Pb ��� =Ni��� + PbO���; 
���
������ = 3H���� + N����; 
����������� = CaO������$#����. 

124. *�� 	�
����	�� ������������ �������		� 	� ������		� ����'		� ���
�	��	���	�
����	������!		�3	����� 

H���� + F���� = 2HF��� 

125. #'��	��� ���
��	��
	������� ���
�������� ��������	
� �� �����
�������������	
������'		� N���� + 2H2O��� = NH4NO����. 

126. ,�������
� ����������� �������� �������	���� ����
� 	�� ����'	��
���
��	��
	����	����
������������������������	
�� 
a) CaCO3(�) = CaO(�) + CO2(�); 
�) CO2(�) + CaO(�) = CaCO3(�); 
�) Ca(OH)2(�) + CO2(�) = CaCO3(�) + H2O(�). 

127. #'��	�����	�'	�	������� ���
�������� �����������	
� ����'		�

�������
�������
	���
��-����������	������������������	
���
�����	��������������
��������� 
1) N���� + O���� ��NO���; NO����; 
2) N2(�) +H2O(�) ����4NO2(�); 
3) N2(�) + H2O(�) + O2(�) ����4NO3(�); 
4) N2(�) + H2O(�) + O2(�) �����3(�). 
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��������� 	� ��������� 6����	������ �	
	����	�� ����'	�� ���������
�
��������������������'���������������	������������������	���������
�����
�	��	����������	�����
������������'������ 

2�
� ���
��������� ����'	�� ��������	�� #����� �������+��,�
������ ������
�� ������
����	� ���������	������������������	�
���
����
�������������������������������
�������������
����	�������
�������
����

�
��
����������
�����
������
������������������
��
��� 

2�
�����'		�������
��	����!���bB ���������������������!���������
��������������	��
��������������
����������	�
� 

)()( BcAkcv ba= , 

!�� ��!	�����&	�– 
��
��������'�����'		����!	����	����������!�	�&��
k –� ����
��
�� ������
�� ������� ����'		�� 1��������	� ������ ����
�
��
�� ������
��– �����	��������������������	��	
	������������
'		���	����'�����'	
�����!	����	������������!	�	���&	�����
�������
���������� �������	� !�
�!������ ����'		� ���	�	�� �����	��������!	�
����	�������������
���������	������	������� 

6����	������ �	
	����	�� ����'	�� 
��
���
� ������
	�� ������
����	
	�������
������������
��������������	���������
�����������
�������������	��
������	
��	
�������������������������������		� 
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2�
�!�����!����������'	�����������	������������������	��
����
����
�����'�����'		������������!����������������*#0��.%#0�'$��"��
%#����%���'$�� (���� ��
� ����'		� !����	
� �!�
�$���� ��#���� ��$#���� 
�������	���������	�	
�����	�� )O( 2ckv ⋅= . 

 ���������2�
�����'		�
����� + O���� ��
����������������������
!�������-����� ���������� �������	� ������ �����"����	������� ����������
�����������������'		�����	�	�����������'�����'		��������������� 
c�����������
������ c(O2��������
����������������������������'		���
��

�������!���������!	�����
������� 

'������
 
���������������		���������
����������	��
���������������������

����'		���	�������
��������	�
�� ).O()NO( 2
2 cckv ⋅⋅= �$����������-

�����������������'		�������������
�
�������
��	������������� 

0384,03,04,08,0 2 =⋅⋅=ov �
����� ⋅ �� 
���$�����������������'		���
�
�������!���������!	�����
�������

��	�������
� �������	�
�� ),O()NO( 21
2
11 cckv ⋅⋅= � !�� c1����� 	 c1(O2) – 

���������'�����'		����	��2����������!�������������!	�������
�������� 
,����
�	���������	
�����'		�������	���
����	�	�� c1�����	 c1(O2). 

�� �� ��� �������
��� ∆c(NO�� �� ���� 
� ��
�� �� ���� 
������� ��!�� 

c1(NO) = c0(NO) – ∆c(NO) = 0,4 –�����������
�������������������		����
����	�
���	����	
	� ���--	'	����
	� �������	
� ����'		�� �
������

�	�����'�����'		�#2�������∆c(O2) = ∆c(NO����
���������
��������
�������
(��	
�������
� c1�#2) = c0(O2) – ∆c(O2) =0,3 –����������
��
�������$���
������������ 1v = 0,8 · 0,32 · ��
����������
����� ⋅ �� 

 ������ �� ���� 	�
��	��
� ��������� ����'		� 
����� + Cl���� ��
�
���'��������	���������	�	���������	��������'	����
��������������
����������
����	�����/�
����������������+ 

'������
 
���������������		���������
����������	��
���������������������

����'		� ��	�������
� �������	�
�� ).Cl()NO( 2
2 cckv ⋅⋅= � *���������

����	���	�� ������	
� ��	���	�� �� ������'	�������
�� ����	���	��
���'�����'	�� !������������ ��������� ���'�����'		� ���!������ �� ���
���������	
�������������� c1(NO) = 2c0(NO), c1(Cl2) = 2c0(Cl2�������
������� �������	�����'		���	�����	���		�������	
����	�
��
���
��	�
�������������'		��������������	
�������������� 

)Cl()NO( 21
2
11 cckv ⋅⋅= = ))Cl(2())NO(2( 20

2
0 cck ⋅⋅ = 

= 8 · k · c 2
0  (NO) · c0(Cl2). 
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#������������������� 8
)Cl()NO(

)Cl()NO(8

20
2

0

20
2

01 =
⋅

⋅⋅⋅=
cck

cck

v

v
. 

$������������'		�����	�	��
��������� 
��� 4
������	�� ��/�
�� ������� �� �� ����� ��	���	�� �� ����������

�����
�� ����	���	�� ���'�����'	�� ���!������� (��	
� ������
��

c2(NO) = 4 · c0(NO), a c2(Cl2) = 4 · c0(Cl2����"���
����������������!		���

��������	
�������
�������	
� 642 =
v

v
���������
������	����/�
�����

����������������	������������	���	���������	����������� 

�"�&�������(�%#�8%'��#��!�%���2�$��� ��!�,�%�#!1�� 
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������������	�����'		������
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� �
�	�	����	
� ���
����� &��
--����
� ���� ��
�������

������
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�����������	���������

�
�����
��
���
��-��������
�9����	
 

10
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1

2

TT

T

T

v

v −

γ= , 

!���
12

  	 TT vv –��������	�����'		������������������	���
����������.2�	�

.1; 9 –� ��
��������������--	'	�����������	�����'		�������������
�	��
���
�����������������	
�����������������	���	�	
����������

�	
���
������	����������'	�����
�������2�
������������'		�9�–����	�
�	��������	����	������
���
���	�<.  =�>� 100�. 

$���
���������	�������-3�--�����
������	�����	
������'��
�	�����	
�	����
�������������������������'		��6��������������	���

�	�� ���	�	
���	� �������	� ����'		� ��� ��
��������� ��������	
�� ��

��
��������		����	���������������	�� ����	���� 
�� ����		� ���	��'		� ��	
�	��
������
���� �� ��
�����
�������

��������� �	
	������� ����'		� ��	�������
� �������	
� �������	�
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������������������	��	
	�����������'		� 

RT

Ea

Aek
−

= , 

!���!�–������
�����
���	������������	�
�	�������
���������������
���
��	��
���	���������!	����	���������� R –���	���������
�!��
����
������
���
��2� –�����!	
����	��'		����–��������	������������!��
��!��	-
���������������	���������	
� ����	����������������������	�

����'		���
�����������
�
����������!	
����	��'		� 
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 ������ �.� (�
����������� ���--	'	���� �������	� �	
	�������
����'		� ������ 
���� ��� �������� ���� ���������� ��������� ����'		� ��	�

����	���		���
���������������'	����
�������������������
�
$+ 

'������
 
������������		�������	��
�����-3�--�� 
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1

2

TT

T

T

v

v −

γ= ;  3,210

1538

15

38 1,21,2 ==
−

o

o

v

v
 = 5,5. 

*����������� %��	� �� ����!�� �������
����� ������������ �������

��������	
������������������	����	-
��	����	���������	
�
��������

�	��
��������� ����		���!��	-
	�����	
�	�����������!�������'		�

�����	
� 

74,01,2lg3,21,2lglg 3,2
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38 =⋅==
o

o

v

v
���� 5,510  0,74

15

38 ≈=
o

o

v

v
. 

���� ��!���%#�������� 

.	
	����	�� ����'		�� �� ����������� �������� 	�������� ���������

���������� �����������
� �� ��������� ����'		�� ���������
� �������


������� "���'		�� 	���	�� �������
����� �� ����� ����	�����������

���������	
�����

�
�	��������
������������
�����
�����. 
�������	
�������'	
�������
�	���	���
�����	�������
��������	�

��

���	��������������'		�������� ����� vv = ������������
����
�������

��������������
��
������.	
	���������������	��
��
���
��	��
	���

��	
���������!������������	�����������������������	������'		�������

��
����������
������������	
�������'		��! + bB ��dD + eE��������
�	�	
��������
����	�
���������
���
����������	�� 

)()(

)()(

BcAc

EcDc
K

ba

ed

= . 

*�	��������	���
�
���������		����	������	�����'�����'	������

������� ����'		�� ����������� �� ���	������	�� ���'�����'	�� 	��������

�����������
������������'		���	����������
������������������
������

���������
��������	�	�����������
�������
��
�	���
��
�����(+).  
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��	� ��� �� ���������	� ��������
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163. ���	��	�����/�
������������	���������IV���	��������!��
��������
���	��� ����
�������������������	��������
��������������
����

(ρ �������!��
3). 
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166. �����������
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�
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� ��
��������

�������	��������	���	������		������!�����!��������������	�������
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174. �����������
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�����	�	��������������	
�
�������
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���������	������ ���������	���	�	��������� !	�����	������	
���


�������� �������#�� ������� �����������������	��'		���������


��������	����������������������	���������		���������������
�
$��

���	������������
������������	��������
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������
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���	��������
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������������!������������w(H2SO4) = 90 ������	��	���
�����
��	�
��	���������
��	� 

	 �
 �� �� �� �V I  

���
����������������������5
�����
���� 

/
�����
��������������������
����

��������������
�������

��
��
����
������	
�����
���������	��������������������	�����
�

��������	��
�����������	���'		������	
	�
�������
	�	������!��

���������	�	���
	������������	
	�
���������������	���'	�'		�����

��	
�����������
��������������������	��������������	�����
�������

���	�� 

$�3$##�����
+
���$�3$##

–, 

���������� ������!�� �����
��
�� ������������� ��
����� �� ���'�����-
'	

	��������������	������	'����������	�
� 

)COOHCH(
)COOCH()H(

3����


3

c

cc
K

−+ ⋅= . 

)��%���+�����������������������	������������
����
��!��
��

������� ������!�	��
� �	���'	�'		�� ��� ��� �������	�� �	���� 
��������
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�������	��
����	����N��
��������
���	����
������������������������

������N���.: 

����

��


N

N
=α . 

��������� ���������� ���� �������	�� �	����
�������
����� ��
��

�	����������	�
�
��
��������'�����'		�����	���'		������	��
��

����������
����������
��
��������'�����'		������!����������	����: 

)COOHCH(

)COOHCH(

3

3��


c

c
=α , 

��������� 
���
�$�3$##��������

+) = ��$�3$##
–), 

�� 

)COOHCH(

)COOCH(

)COOHCH(
)H(

3

3

3 c

c

c

c −+

==α . 

��'��
�� �������	
� �	���-��
����������	
����������'������

'	������������	������������������������$�3$##������� 
(�!��������������� 

���
+) = ��$�3$##

–) = � · �, 

�������
�$�3$##������ – � · � = (1 – �)�. 

*���������������	����
�	������
��������
��������	��������������

��������������������
������#�

�����
 

α−
α=

α−
α=

1)1(

222 c

c

c
K . 

%��	����������	���'	�'		�����	�������
��������	�	'��������	�

��	��	����������	����	
��
�������	�
����������–���>����(�!������
�����	������������������	
����������
� 

+ = �2
����������� = 

c

K
. 

*��������� ���������	�� ������������ ���� ��	� ���������		� ����

������ ���� ��� ��	� �
������		� ���'�����'		� ��������	��� c�� ��������
�	���'	�'		���������	�������������� 

%��	��������������������	���AX����������!���	���'	�'		�������
���������'�����'		�	�����A+

�	�X–
��������������	�������	��������
��� 

�(!+) = �( –) = � · �. 
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*������	�������������	����	�����������!�����������	
�������	
� 

�� 
+) = ��.–) = 

c

K
c ⋅  = Kc . 

 �������.�#������	������'�����'		�	�����	�������	���'		���
�������
��������������
�����������.����(HF) = �����
�������$�������
�	���'	�'		��.�����	�������	
��������
����� 

'������
 
+��	��
��������	����������	�	��������	���'	�'		��.� 

HF ↔ H+ + F–. 
*�������	�������	�����������	���'	�'		��.�������
�����������


�� ���'�����'		� �����!�� 	�� 	����� �
+
� 	� .

–
� ������ ��
�� 
� ����� ��

= 0,0025 
��������
��.10–3
�
����������'�����'	
�������	���'		�����-

����
��������.��������
�����(HF) = 0,01 –�����
������������
���������
= 7,5 ·10–3

��
������� 
 ������ �� 1�
���������������� ��������	�	��������	���'	�'		�

����������	�������������
�)������
���������+�����������'�����'	
�
	������

+
������
���������+�+���(CH3COOH) = 1,80 ·10–5. 

'������
 
+��	��
� 
���
��	������� �������	�� ������� ���������	
� #���

��������
α−

α=
1

2c
K .  

(������������	�������	
��α�AA�������
�������������������
����
���������-��
����+= α2

���������� 

,105,9
2,0

108,1 3
5

−
−

⋅=⋅==α
C

K
�	�	���	���� 

���'�����'	
�	������
+
������������� 

���
+) = α · � = 9,5 · 10-3 · 0,2 = 1,9 · 10-3

�
������ 

�������(%��0��+�������+'� 
��+�%�+�',�(�!#0#��"2 

�����������	������������
���������	��
����������	������������
���	��	���'		������������
�	�������������	�!	�����	�-	���� 

�2#����
+
���#�

–. 
&��
�����'������������������������������	���'	�'		� 

)OH(
)OH()H(

2c

cc
K

−+ ⋅= = 1,8 · 10–16
����	�
��

�
$�� 
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*������������������	���'	�'		������������
������������������
�

���'�����'	
����	���'		���������
���������������2#�������������
�����������������������������'�����'		�������������
�������(�!���
�������	�� ��
� ���������� �	���'	�'		� ����� 
����� ��������������
�������	
�������
� 

���
+) · ��#�–) = + · ���2#������

–14 = +W. 

�����������W����������
�	����
����	������	�
������ 
2�
� ����� 	� ������������� ������� ���������� ��	� ��	�
������

��
����������W –����	�	��������
���
��*�	�
���$��W =10–14.  
*��������� �	���'	�'	
� ����� –� �������
	����	�� ���'����� ��� ��

�����
���
����������	���'	�'	
���	�	�����
��	�������	���W��������
����� 

���	�������������'�����'		�	��������������	�!	�����	�-	�����
��	�������	���	�
��

�
$��������
�����

–7
�
������� 

"����������������������'�����'		�	��������������	�!	�����	�-
	����� ��	�������� ���������
� ����������
	� ��������
	�� �� ����
����������������������

+
������#�

–) = 10–7
�
������ 

���	������������������
+) > 10–7

�
������	����
+
��;���#�

–
����������

��������������������
+) < 10–7

�
������	����
+
��A���#�

–). 
�
��������'�����'	��	������

+
�	�#�

–
��������������������
�	��

���
�	���
	���!��	-
�
	����
��
	����������
������
����	����	�	�
��������������
��	
����
	�B��	�B���	����������
����������������
���������
�	�!	�����	���
����������

	� 

pH = –lg c(H+);   pOH = –lg c(OH–). 

����������	����
��������	�
��
�
$�� 

�����–lg10–7 = 7,   pOH = –lg10–7 = 7. 

$��������������������������������������� 

pH = pOH�����������

��pH + pOH = 14. 

���	����������������� < ��������������������������B��;��� 
 ���������#������	���B�������!������������2SO4������2SO4) = 

= ���
�
������ 
'������
 
(��� ���� �����
� �	������ �� �����������
� ��������� �	���'		�����

������������2SO4 → 2H+ + SO4
2–, ������'�����'	
�	������+

����������-
������

+
����� · � · 2 = 1 · 0,02 · 
��������
�������#������B����–'8����+) = 

= –lg 0,04 = –lg 4 ·10–2 = –lg 4 – lg10–2 = –0,6 +2 = 1,4. 
,����
�	������������B����B����������������������B��������– 1,4 = 

= 12,6. 
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 ������	��"����	������
��
��������'�����'	����'�����	������

�����������������������!������������������������������������ 
"����	��� 
(�������B������������������������–'8����+) = 1,85; lg c(H+) = –1,85 = 

= 15,2
−

���������–2 + 0,15 = –�������#���������+) = 1,4 · 10–2
��(����������
�

��
� �	������ 
��
���
� �	������ ������������� �	�������� ��� 	�

����'� = 1,4 · 10–2
�
������ 

�%��0��+�����%#����%������ 

"���
���	
�!�����!�������	���
��–��������������������
������-
����	
�!����������	���������
�	��
�����������		�������	
�������
� 

KnAm(�) ��nKm+(�) + mAn–(�). 

2�
� ��������-���� ��������� �(+nAm) = const�� 	�
���
��	�������
�������	�����������������!����������	
�	
�����	�� 

+s = �n(+m+) �m(!n–) 

(���
�������������������	
����������
�%���#����������������

�����������	���"�������������������������� (+s): 

+s ��*"����
 n(+m+) � m(!n–) 

(��	
� ������
�� 
� ����������� ���

���� �������

��������

����
����
�������
�������������
����	���������
�
��
����������
�

�����
������
�������������������
�������������	�
������
����– 

�����������
������� 

*��	������	���������	
���	���������	����������	������������

����	
����������	����������������
��������*"������!������������

��
���������!���������	
����� 
4����	
����������	
�������� 

*�����(+m+)n �(!n–)m
�;�*"KnAm, 

!���*��–����	������	�����'�����'	��	�����������
�	��
��������
�
��������� 

"����������������
���������
����������	���– %���������������
���	������������!����������	����	����!������������������������� 

2�����������	��
���������	!����
������	
����������	�
������

	
����!��	�������������������������KnAm. 
4����	�����������	
���������*� < *"KnAm. 
"��������������
��������– ����������������	�������
�������

����	
�!����������	���KnAm���	�������		�����!���������������
���
� 
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4����	
�*� A�*"KnAm�
����� ����	!������ ��	�	��
� �����������

�����������	��������������	���
��	��������
����
���
����	���'		�

����	������	'�����	��������������������KnAm�������������������� 
*�� ���	�	��� *"� 
����� ����� �������� �������	
����� �������� 

s��
��������2�
��	���������������	���������	
����0�-�4��*"������
��
–10), 

�������	
�����s = �(Ba2+) = c(SO4
2–
��������
�� 

*' = �(Ba2+) · c(SO4
2–) = s2

��������� 
������10101,1 510 −− ≅⋅== *'s  

 ������ 
�� *��	������	�� �������	
���	� &82SO4� ������ ���
.10–5 

(25 �$���#������	����������	
�������������	���
������	���!���� 
'������
� 
$�����	���'		�����������
���&82SO4 ��
Ag+ + SO4

2–. 
#������	
�	���
����������	
��������	�������s��
�������� 
(�!����(Ag+) = 2s�����(SO4

2–) = s. 

*"��&82SO4�����
2(Ag+

��
��-�4
2–) = (2s)2 · s = 4s3. 

#������s = 3
5

3

4
106,1

4/*" =⋅=
−

3 6104 −⋅ ≅ 1,6·10–2 

������ 

(��� ����
��
���
�
����� &82SO4� ������ ��
� !�
����� ��� �������	�


�����&82SO4���!������������������
��
–2 ·312 ≅���!��� 

 ���������"������	
����� 5!2���	�
��
�
$���������� · 10–4

�
�������

"����	�����*"� 5!2����	�
��
�
$�� 

'������
� 
(��������������	
����� 5!2���������� · 10–4

�
�������������'�����'	
�

	����� 5
2+
������������
�������������	�����������
����– 6,5 · 10–4 
������ 

���'�����'	
�!
–
������������������������� 

PbI2 �� 5
2+ + 2I–

������� 

,����
���� 5!2���	��	���'	�'		����������
�
�
����!
–
��(�!��� 

*"�PbI2) = c( Pb2+) · c2(I–) = 6,5 · 10–4 · (2 
 6,5 · 10–4)2 ≅ 1,1 · 10–9. 
 ������ �.�$
����	����������/�
�� ������)��������������'2�	�

Na2SO4��#��������
��	����������-�4�+�*"����-�4) = 2,5 · 10–5 . 
'������
� 
,��������� ���� ������� ���	� ���������
�� ���	� ���	������	�� ����

'�����'	���������������	��	��������	���
�
�����
��	���	
�������

����������	������	
��������	
���	���������	��(���������	��
��	���

�		����������/�
�����������������'�����'	
�����������	��
������

���
� ������� ��� �� 
�
���� �
��	���	
� ���'�����'		� ������ �� ����
�

������� ������ ������ ��� ������� 
������� ���'�����'		� 	����� ��
2+
� 	�

SO4
2–
�����������
�
��������������������������
�������$��������������
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�(Ca2+) · �(SO4
2–) = 0,0005 · 0,0005 = 2,5·10–7

����������	�������
������

���	�	���*"���-�4���+���	����������������������
� 
 ������
��$�������	����������	
�����&8�'���	�
��

�
$��������	���

��������� ���'� �� ���'�����'	��� C����'�� �� ���� 
������� *"�&8�'�� �� 
=1,8·10–10. 

'������
� 
*������������	
�����&8�'���	���	�������	
���������������6��(��

!���c(Ag+) = c(Cl–) = s���
����	
������ 

*"�&8�'����c(Ag+) ⋅ c(Cl–) = s2; 
s = 51034,1*" −⋅= �
������ 

*������������	
�����&8�'������)�������������'�������s1����!���
�(Ag+) = s1, �(Cl–) = s1� �� �����*������	
� ��	� ������	
� �� �������	��
*"�&8�'�� 

*"(AgCl) = s1(s1 + 0,1) = 1,8 ·10–10. (���������� >> s1�����s1 + 0,1 ≅ 0,1 
	�������������������	��
�����������	����s1 · 0,1 = 1,8 · 10–10

��#��
�����s1 = 1,8·10–9. 

$����	
��������	
�����AgCl��������	�������)����������NaCl.  
�����)�������������'��������	
�����&8�'�������
�������� 

3
9

5

1

104,7
108,1

1034,1 ⋅=
⋅
⋅= −

−

s

s
����� 

	�+%�"�0���"�, 

*����
�#���
� –���������
�������	�

����������
���	�����
����
��	� �� ������
����� �������������������� ���
��� ��������� ���� ���
��
	��3	����	��������������������
���������
���	�������������������
���
�	��'	����!�� ���	
�������	
� 	����� ���	� �� 	�� !	�������� ����
�������	�������������������	����������	
	����
�
	� 

Kn+ + HOH ↔ KOH(n–1)+ + H+, 
An– + HOH ↔ HA(n–1)– + OH-. 

3	����	�� ����������� ���������	�
� 
����	���'		����	�� ���-
�	'��#�

(n–1)+
�	�� 

(n–1)–. 
1�
�����������
��	�
���������	���	��������	����
��	������	��

���
�	��'	���������	
�������	�������������������	���'	�'	
������
����	��
�����	'��#�

(n–1)+
�	�� 

(n–1)–
��	�����������������	����	����

�	��!	����	�� 
*��
�	���������	
�	�����
������������������	��������	�����

���������	����������
�������
����������������
�������	���������
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��	
����'
–, Br–, NO −

3 ���������������������
����������	
���-�
−2

4 ��*��

���
�� ������ ������
������ �������� ������	� �����
�� �� ��
������
�������������
����������������������
�����
��� 

���
����� �������	�� �����	� !	����	��� ������� !	����	�� ���

��	�����������	�����������	����	���	�����������
������ 
*����
�#� %�� �������� %
�� ������!����
� ���	�� ������
������ ���


������ ��������� ����
����� �� �������� �����	� �����
� (K2CO3, Na2S, 
Na2SO3, K3PO4�	�������*�	�!	����	�����������
��������
��������B� > 7). 
����	
��� 

CH3COONa → CH3COO– + Na+, 
Na+ + HOH →�����'	
����	���� 

CH3COO– + HOH ↔ CH3COOH + OH–. 

)������
������������	��!	����	���–  

CH3COONa + HOH ����3COOH + NaOH. 

2���������'���� �����	
���� ��������	�� !	����	��� �	����� �
��

�������������������������2O) <�����3COOH). 
3	����	�� 
��!����
���!�� ��	���� ���������� ����������� 	� ��	�

�������������	
��!�����
�������
�	���������������������������	��

0�%�����: Na2SO3 → 2Na+ + SO −2
3 , 

Na+ + HOH →�����'	
����	���� 
SO −2

3  + HOH ���-� −
3  + OH–

������������ 

HSO −
3  + HOH ���2SO3 + OH– 

�
���������� 

)������
������������	
����������������	
�����	�� 

Na2SO3 ��#�������-�3 +NaOH, 
NaHSO3 + HOH ��2SO3 + NaOH. 

*����
�#�%�� �������.�%
��������!����
� ������ ������
������ ���

������ ������������
���������������������	������
� (NH4Br, ZnCl2, 
Cu(NO3)2�	�������$�������	�!	����	����	���
�����A�����0�%������ 

CuCl2 → Cu2+ + Cl–, 
Cl– + HOH →�����'	
����	���� 

Cu2+ + HOH ��CuOH+ + H+
������������ 

)������
������������	���������������	�!	����	���– 

CuCl2 + HOH ���2���'�����'� 

3	����	��
� ��� ������� ������	� ��	� �������� �����	
�� 
�����

����������� 
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*����
�#�%������������������. *�����	����	���	����!	����	�
�����
� ���	�� ������
������ ��
������ �������� ����
����� �� ��������

�����	������
�������	
��� 

CH3COONH4 → CH3COO– + NH4
+, 

CH3COO– + HOH ��CH3COOH + OH–, 
NH4

+ + HOH ��NH4OH + H+, 
CH3COO– + NH4

+ + HOH ��CH3COOH + NH4OH. 

"���������������
������–  

CH3COONH4 + HOH ��CH3COOH + NH4OH. 

3	����	���������
���������������������������	�����	�����#����

����	��
� ��	� !	����	��� 	���� �
+
� 	� #�

– 
��
�������
� �� 
��������

�2#��������	�	�����!	����	��	�������	�����	������	�����"���'	
�����

������	�	��������������	
�����������	���'	�'		���������	��
��	�

������	� �������	
���� �����
� ������� B� ≈ ��� ���� ����K(NH3 · H2O) ≈  
>�K(CH3COOH).  

2���� �����
��������
������������������� 
���������� �����������

�����
������������
����������������
�
�������������������	��
������

����������
� ���
���
�� ����
������� ������
�����(���� ����	
����

Al2S3���	���������������������������������������
���
����������	�


���!	�����	�����
	�	
�	���!������������������������ 

Al2S3�����#��→ 2Al(OH)3↓ + 3H2S↑. 

*�� �������� ��	�	���� �
��	��
� ������� ���������AlCl3 	�Na2S, 
�����
������	���Al2S3 : 

2AlCl3 + 3Na2S + 6HOH → 2Al(OH)3↓ + 3H2S↑ + 6NaCl, 
2Al3+ + 3S2– + 6H2O → 2Al(OH)3 + 3H2S. 

,�-������	
��!����	���	
�!	����	���������	����	������	��������
�
�����!��!	����	�����������
���������������������
������	����	�

������� ���������� ���
	�	
�� ���
��III��� �������III��� ����-	�� ����

��III����������������!	�����	��*�	����
�������	����	
������
����
��!��!	����	��� 

2AlCl3 + 3Na2CO3 + 3HOH → 2Al(OH)3↓ + 3CO2↑+6NaCl, 
2Al3+ + 3CO3

2- + 3HOH → 2Al(OH)3 + 3CO2. 

.�
������������ ,�������������� "����
�#�. ���	����������
!	����	�����	���������	�����
����%���+�"����
�#��� 	������������
"����
�#��.�. 
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�

c
h �= , 

!����� –����'�����'	
�!	����	�������������	����	��� –�����
����'���
���'	
�����������������	� 

2�
�!	����	��������	����������
��	��� 
–
����#����� ���#�

– 
��	��	��������������	��� 

( ) ,OH
)A(

)OH()HA(
�2 KcK

c

cc =⋅=⋅
−

−

�!���+� – ����������"����
�#�. 

,�������
����������	��
)H(

)OH( +
− =

c

K
c w ���������
� 

HA
� K

K
K w= ���	�	�

��


� K

K
K w= . 

+�����+��
 –������������	���'	�'		������	�������������
��������
���
��������������!	����	��� 

2�
�!	����	���������	����#
+ + HOH ��#������

+
������!	���� 

( ) ( )
( ) �
�

��            ,
K

HKOH
K

K
KK

c

cc w==⋅
+

+

. 

+�����+�
� –������������	���'	�'		���!���������	
�������������
�������
��������������!	����	��� 

2�
�!	����	���������	����	���	��� 

K+ + A– + HOH ��#������& 

�
���


��          ,  
)A()K(

)HA()KOH(
KK

K
KK

cc

cc w

⋅
==

⋅
⋅

−+ . 

�����
���������!	����	���
��!����
�����	�������������	�����
�

������+���(��������������������������!	����	����������
���!����	��

����������	�� 

+�
 = ,
����

K

K w    +�� = 
��

K

Kw ,   +�
 > +�� , 

!���+�
 	�+�� –������������	���'	�'		��	�����������	�
�������	��,��
���������	����������������
��������
���� �����
����	�������������

�����������	� ���������� ��
����� ��
�� "����
�#������� �� ����
��
��

���������������������3	����	��–����'�����������
	����	��������
��
������
�������
������
����+���
�����
��
��� 
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2�
�!	����	���������	����	�	������	�������	�	
�����
�����h�	�� 
��	�������
��������	�
�������!	���
�����������������	
�#��������� 

+� ≈ ch2
�	�	�h ≈ 

c

K� ,  

���������������	��������������	���	�	��������!	����	�� 
%��	������!	����	�����
��������
�����	�������	����	������	��

����������'�����'	
����	�����������������	����	������	
������h:  

h ≈ �+  

�� ����������		� ����	�'	��
�7��:�������� !	����	��������	����
��	�	�����
� �h�����	�	�����
����	���������		��������	
������������
���	����!	����	�������	������	�	�����
���	���������		��	������ 

$�%������
������������
�����%��"������ 

���� ��!���%#�������� 

1. ������ �����
�	�� ����'	������ �	���
�� ���������
� �	
	����	
�
��������	�
+ 

2. �����������	���
�
�������������	
��	
	�����!����������	
+ 
3. )������	���	����������
���������'�����'	�����!���������	���
��
��������������
�	��	�����	��	
	�����!����������	
+ 

4. 1��� ������ ���������� �	
	�����!�� ��������	
+������� ���-	�	���
��	���
���+ 

5. +��	�	��� 
���
��	����	�� �������	
� ��������� ��������	
� ��
�
�	���
� 
����HCl��� + O���� ↔2Cl2 ��� + 2H2O��� 
���
Fe��� + 3Cl���� ↔ 2FeCl���� 

6. ���������	
�	�� ��
����������������	
�����'�����'		�	���	����
���	
������	�������������	�	��������������	
	�����!����������
�	
+ 

7. ���������	
�	�� ��
����������������	
�����'�����'		�	���	����
���	
������	���������������
�	���	
	�����!����������	
+ 

8. $-��
��	��������	�'	��7�-:������� 
9. �� ������ �������� �
���	��
� ��������	�� 
NO��� + O���� ↔ 2NO2���; 

∆H0 = –�����2����	������
������		�������	
�����������		����	��
��
���	�������������������		���
��������+ 

10. ������
����������		����	��������
����	����������	
 
Fe3O	��� + 4H���� ↔ 3Fe��� + 4H2O��� 

��	�����������		����	���
���������������������		����	���
������
�������!�����	�������'	
���������	���		�������	
+ 
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11. ���	������'		������
��
���-����	
	����	
+ 
12. *�	���	��� ��	
���� ���������������� 	� �������������� '������

����'	�� 
13. �������������	��-����	
	����	������'	����
��	������	����+ 

�#����%'�)"�!�%�"���� 

14. ����
������	���������������		���������	�	��������	���'	�'		+ 
15. #����!�����	�	������������	���������'��������������	
�����������

����+ 
16. "���	�����
��	�
����	�
���	���'	�'		����	����������		���������

����������	����
�	�����������
��	��
	���
���+ 
17. 1��� �������	������	�����
������
���
��������	���
�	�����������

��	
�	��������'�����	���'	�'		+ 
18. ����
�����������
������������������	�	�����'�������	���'	�'		�

�	������	����������������	���+ 
19. ���� 
����� ���	���������� ���������	������� �	���'	�'	��

��������	���+ 
20. 1�����������	����������������	���'	�'		���������	��+� 
21. #�� ���	�� -�������� ���	�	�� �������� �	���'	�'		� �����!��

��������	��+ 
22. ���������
���
���������������	���'	�'		�	����'�����'	�������

��!����������	��+ 
23. *���
�� ��
� ��������	��	�	� �	���'	�'		� �	������ ��������	����

��	
��
������
	�������������
�����������������? 
24. 1������������	�������	����--	'	�������	�����	+ 
25. 2��������������	
��	�������������	��	�������������	�����	
�����

�		���������	�	��������	���'	�'		� 
26. �����	����	�������������	
�	��	�������	������ 
27. ����	�
��
���
��	������-������������������!	�����	����������

�	���
�	�!�����
�*��	��	��������	���
�+ 
28. �����������������
���	��
���������	���	���'	�'		�����������	�

��������	���������		������'����������	
������������������������

������!��!	�����	�������	
+ 
29. 2�������	�
� ���	�� �������� 
����� ��� ��	�	��� 	�	� ��� �����	���

�	���'	�'	���

	�����������
���������+ 
30. ���	����������	����	���'		���������������+�*���
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	�-�2, NH3�	��.3, H2��	��2S. 
15. 1����������������	
	
+ 
16. 1�
��������
���
�!��
���	
����������
�������������������
��	�

��
���
���+ 
17. 2�������/
����	�����'��'		�������������. 
18. *�
��	�����������������	
�������	����!	��	�	��'		� 
19. ��������	���!	��	�	��'		�	�!��
���	����	���������������������

	
��������������+ 
20. 1��� ������ �
���
������ �� ���
���
������ ����
���+�������� 	��

��	
�	�����!��
���	����������������������+ 
21. ������	
�����	������	!�����	�������������
�	����!��
���	�����

���	�������������+ 
22. 1���������������������������������������!�����	���������
�	��

��������'	
+ 
23. *�	���	�����	
���������������
��!�'�������
	���
�

	� 
24. 1�
��������������������	� ����������	����	
� ������	��!���������


���������� �2, NH3, N2H4, NH2OH, NF3, CH4, CCl4, C2H6, C2H4, 
C2H2, CO2, CO? 

25. *������	�	�������������	��
������
�����������������������	�
�����������������������	
������������������������	��!	��	�	���

'		�'��������������
�����!�����
��������
��������������������	�
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����������	����	
��������������
�����������2,  N2O, NO2, N2O5, 
HNO3, H2SO4, BF, BF3, NH3, NF3, CO −2

3 , ClO −
3 , ClO −

4 , HN3, SO2, 

SO −2
3 , NO −

3 , NH +
4 , BF −

4 . 
26. 2��������������	�������	� �
�����������������	�����	�
����	�
 

���������	
+ 
27. 1��������������������
���
���? 
28. *����	��	���	���/
��	��������������������	��	�	�	��������
�	��

4���	��������
�������������	�����	�	�����������		���������������

��
���+ 
29. 1�
��������
���
����	�	��������	��'	����!���	������	���������

��	���	
�+ 
30. ����
���
����������
�	������	���	����'������-�4, KOH, H2CO3 

	
������	������	��������������+ 
31. 2��������������	����
���������	��
�����������������	�����	�
��

���	�
����������	
+ 
32. �� ��
� ����������
� ����������	� ����� �	���� �����������������


�������	�

��. 
33. "���
���	���
����	�
����������	
�
��������	��
�����������	�	��

����	
	���������
�	�	��	��
��
������
���!�����	
�������	
� 
34. ���� ��	
��� ���	�	�� ����������� ��
�	� ���-	�	����	��	� �	
	���

��	������������������+�*�
��	��������	
����	�
����	
���������

�����������
�����.�– HJ; H2O – H2Te; NH3 – SbH3; CH4 – SnH4. 
35. *�
��	��� ����� ����������� ��
�	� �� �	���!	����	�� ��/������ ���

��	
���������������������	����	�����2����"��� 

	 �
 �� �� �� � �
  

����
���
<
�-������
�����
<
��������6�� 

+�������
�����-
���
���
�
��������
����
���������������
��
���������������������
�����	������������
���
��
��������
����
�
�

������������
����

� 
)��%��������
���� – ����
��	��������
�����������
����	����

��������������������
��
����

�����
��
��������
� 
*����������������������	��
��
���
��������
�����
�	���
������

�������������	��������������������������	�
��
���
����	�	����-���


�������� ��� ����������� �������!�� �����������	
� ���
���� 
�����

���
�
	��#�������������
�	���	�����	����������
���	����������		�

�������	��#�"�� 
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������	���	����	
����
��������	�	
����������	
����–����������
����������		�������	��
	� 

���$������� ��	����	
� ���
������ �� �������� ���������� ������ ���

����	
����� 0
2 ���

0, S 0
8 . 


�����������������	���������	������	���	�������	��
���������	�

��	����	
�� ������� ����#������� �� ����	���	
�� ����������
	�	����

�������
�����
	�
������
	�������
��
�������������	����	
���������

–�������	
�������-1
����� 1

2
− . 

����	���������������
���
������	����������	���	�������	��
�

��������	���	����	
���������–
������	
����$�#-2, HNO 2
3
− ����������	�

���� ��� ���
��
��� �������� ��	����	
�� ������� –��� ����	
�����2#
1

2
− , 

��# 1
2
− ��*����	��������������	���	����	
��	����������
��
����	���

������	���	
����-����
������	
����#
+2F2. 

��� 0���� �� ����	���	
�� ���!��� ���
��
��� ������� ����� ��������

��	����	
���������–1. 
���&��
�����!������!-&�����������
��������������	���	
������

!������
��
�������������	����	
������������ 
���&��
�����!������!!-&��0/��$8�����������
�������
�����������

������ 9%�	� �*� �� ����	���	
�����
��
��� ���!��� �������� ��	����	
��

��������
� 
��� ��
	�	��������	���	
�����
��
�������������	����	
���� 
$�����	� ��	����	
� ���!	�� ���
������ 
�!��� 	
���� ����
������

������	
�	������	�������
��	����
�	����!���������

�������������	��

���	
����
��������
��������	�	�-��
���������	�	'���������������	��

���–��!�����
��� 
 �������"����	����� �������� ��	����	
�-��-���� �� ����-��-����

����'	
�$�3�"#4)2. 
P������
 
#������	
�	���
�������������	����	
�-��-�������������4�	���

��
��	�������
��������!�����
�������-��
���������	�	'��	�������	
 
���������	����	����	
��������	
��������	�� 

3 · (+2) + 2 · � + 8 · (–
����������������= +5. 

�������������#�"��������
���������������
����'�����–���	��
���	��	�������������	���$�����	�����	
�����������������		���������

����–����������
���������
����
��
��������
�������
����������������
�
������
����
������
���
���
������–����������������������������

����
��
��������
�������
�����������������
�����������
��� 
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1���	'����������������������'		��
���
���������������������

�
�
���
���
�
�������1���	'����������������������'		������������

�
���������������������
�������
�����. 
(��	
�������
���������#�"�
���
���
�
������
��
�������
���

�����������
������������
�������������� ����
������ 
���
���
��
��

�
����*�	����
��	����������������������������������	����
�����!���

�������	������������������	�
������	��	����
� 
#�	��	������-���������	�������������������������
����������

���	����	����
�	��������	�������������	����	
����
�����������
�	��

��	��������� 
���%��	�����������������������
�����
�����
�����������������	 

������	���	����	
���������
��������
��
����������
���
���
�
����

������������� 

��%��	�����������������������
�����
�����
������������������	 

������	� ��	����	
�� ��� ���� 
����� ���
��
��� ������� ������
������ 
��������� 

���%��	�����������������������
�����
�����
��������������
���

��	�������	���	����	
���������
��������
��
�������
���
���
�
����

���������	�������
���������������� 

�#:��,9��������#������"�� 

��������������������–�����
�������	�������������
�����������
��	
�����2��$��-)�� 4�	���� 

��� ����������� ����	���	
���������� 	����������
�������
��

�������� �� ������ ����������� ����	���	
� ���������� ��
��������� ���

��	
�����!���0"���2O2, H2S, H2Se, H2Te, NH3, PH3, AsH3, SbH3, SiH4, 
SnH4; 

������	������
����������
���������������
��
������
����������

������	���	����	
��&������	����
�����
��������–�$#��-�2, NO, P2O3, 
���������	��	�����	��������������-�	�d-���
������–�-%���./���$"���
1��	��������������	��	
����	������	
����-%�'2, FeSO4�	���� 

!�������������	��������������	���	������	�	�����	�����������

������������
�����
�����
�����������
����������������
����	����

�	
������	
�����2SO3, H3PO2, H3PO3�	�	�����	�����������	�����-����

(Na2S2O3����	����-	������2S2O5����	�	��	������2S2O4����	��	��� 
������������� ��!��	����	�� ��������������	
���� ��	����� ������

!	��������������������������	������ ��–COOH, HOOC–��������!�
��������$6H12O6). 
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�#:��,9����!��"���"�� 

��������������������–�!���!������������	������������� 
������	��������������-�	�d-���
�������������	��������
����	��

���	
������	
�����'2O7, ClO2, I2O5, SO3, SeO3, SeO2, N2O5, NO2, PbO2, 
Mn2O7, MnO2, CrO3, V2O5; 

����	��������������	���	�����������������-�	�d-���
��������
�����	�� ������
�� ��	����	
������	
���� ��'�3, H5IO6, HIO3, HBrO4, 
HBrO3, H2SO4, H2SeO4, H2SeO3, HNO3, H2CrO4, H2Cr2O7, HMnO4�	����	�

��	�� �	������ �� ��	��	���

� �����
��
� ������ �	��������������	��

�	������!���!������������������	����
��
���	��������	��	��������	�

��	����	
������	
������'
+1O, HCl+3O2����������	�����	� 

!� ������	������������2#2��������	������������	�����������


�������
���������Na2O2, BaO2). 

�"#���>�!#1�&��!��"���"2��-�����#������"2�'$�%�#!1�, 

��������	-	��'	
������������	�����������	���
�	���	��	���
���

����
�	�	�����������	��	������������������ 
������	����������	�����	���	��	��������������
�������
�	�����

��
� ���������� ���#�"� �����	��
� �� ����'	

� ��������
���
����"��

��	����	
-������������	
������	
��� 

(N–3H4)2Cr2
+6O7 ���2

+0 + Cr+3
2O3 + H2O. 

�������������'		���	��	����� �Cr+6
� ��	����������	����� �N–3

�����

�������
�������
���������� 
������	����������	�����	���	��	��������������
����������	�����

���� ����������� ��� #�"� �����	��
� �� ����'	

� ��1��
���
����"� 
��	����	
-������������	
������	
��� 

N–3H3 + KCl+5O3 ���2
0 + KCl– + H2O. 

�� ����� ����'		� ��	��	����� �Cl+5
�� 	� ���������	����� �N–3

�� ����-
�
��
�������������������� 


�� �����	-	��'	
� ��� ���������� 	�
����	
� ������	� ��	����	
�

���
�������!�����
����� 
������	���	������
�������������
�����
����������
��
���������

������	���	����	
��������������������'		�–�����������!	������������
������	��������	���������������	����	��������������	���	����	
���

��� �������������	��#�"������
��
�������'	

����%��%����������

����� 	�	��	�
���'		������	
��� 
N+4O2 + H2O ����

+5O3 + HN+3O2; 



89 

������	���	��������������������	��	�����������
���������	��
���

������������������
����	����	
�������������������'		�–�������������
��������
��������������������	����	������
�������

���	����	
���

����������������	��#�"������
��
�������'	

����%��%����������

������	�	����
���'		������	
��� 

H2S
–2 + H2S

+6O	 ������� ��-
+4O2 + H2O 

�#���#���!#�!�)>>�1���������8%#�����&$���� 
�����+���)"�!�%����*��.#"#��# 

#����	�����	
��	��������������������������'	��
��
������
����

!����	����	
-������������	
����������������--	'	������������	��
�
������ �������� ���	
��� ���� �� �� ������� ����'	�� �����	
������
���!��

��	����	
-������������	
�–������������������	
���
�� 
 ���������)�����
�����������!�����������������	������--	'	�

��������������		�����'		��������������������
�� 

H2O
-1

2 + K2Cr+6
2O7 + H2SO4 ��

0
2 + Cr+3

2(SO4)3 + K2SO4 + H2O 

'������
 
1. 2����
�#�"������	��
�������'	

�
��
������
���!����	����

�	
-������������	
�� �����
�� ������������ ���--	'	������ ������	
�
�������������� 

2. #������
�
����
���������
���������������������'		�	�
��	�
�	�����������	����	
���������
�������������	�������	����
���	����

����	�
��	������������	����	
����–�������������
�–������������� 
3. +��	�����
� ������������ �������	
� ���'������ ��	����	
� 	�

������������	
��&��
������
��������������
���
���������������
��

��
������������
�������������

�
�

���������������
����

�����

���	
���	
����������������������	�������������	��	������	�
����

�����������	��������
�
����
������������!���������� 
2O–1 –�
�����2

0 6 3 O–1 –����������	��������	��
���
 
2Cr+6

��������
�"
+3 2 1 $"

+6 –���	��	����������������	�����
 
4. �����	
��	�������
����	��������	����
����
���	���������	��

�������	������������������	��
���	��������������������	��–�������
�������–���� ����*������
��	�������
����	���������	�
��	��	������
�������	����	
����������������
�
�����������	�������
������
������� 
2 · 1=2. 

5. "��������������--	'	������������	
�����������
����
���� 
�� �����	���
��	�������
������
���������	��������-��
���
	�

K2Cr2O7�	�Cr2(SO4)3����--	'	�������� 
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�� �����	���
� �	���� ���
��� �	��������� 	�
��	��	�� ��������
��	����	
��������	��������-��
���
	�O2�	�H2O2����--	'	�

��������� 
�� �����	���
� �	���� ���
��� ���	
�� ������	�� ������-��
�����

K2SO4����--	'	�������� 
!� �����	���
��	�����	�����������������-� −2

4 ��������	��������

-��
�������������	���������--	'	�������� 
�� �����	���
��	�������
�������������������	��������-��
��
������������--	'	�������� 

�� ������
�
����	��������	��	�������
����	����������������	�
�����������
���������	
� 

3H2O2 + K2Cr2O7 + 4H2SO4 = 3O2 + Cr2(SO4)3 + K2SO4 + 7H2O 

 ���������)�����
�����������!�����������������	������--	'	�

��������������		�����'		� 

Fe+3(N+5O 2
3
− )3 ��./ 3

2
+ O3 + N+4O2 + O0

2  

'������
 
���2����
�#�"������	��
�������'	

������	
������
���!����	��

���	
-������������	
�� �����
�� ������������ ���--	'	������ ������
�	
��������������� 


��#������
�
����
���������
����������	�
��	�	�����������	��

���	
���� �����
� ������� ���� �����	� �	�������� ����	�
��	�� ��������

��	����	
���������������	�������–����–
������ 
��� +��	�����
� ������������ �������	
� ���'������ ��	����	
� 	�

������������	
��&��
������
��������������
���
���������������
��

��
������������
����������������
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��� �	��������	� �� �
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��������� 
5. "��������������--	'	������������	
�����������������������

��������	� 
��� �����	���
� �	���� ���
��� ������� ������	�� ������ -��
�����

Fe(NO3)3 ���--	'	�����������������-��
�����NO2 –����--	�
'	������
�� 

��� �����	���
� �	���� ���
����������� ������	�� ������-��
�����
Fe2O3����--	'	�����
�� 

��������	���
��	�������
����	���������������	��������-��
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����O2����--	'	�������� 

6. *�����
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����	��������	��������	�������
����	����������������
	������������
���������	
� 

4Fe+3(N+5O 2
3
− )3 ��
./ 3

2
+ O3 + 12N+4O2 + 3O 0

2 . 

5"�!�%�+�'�����!��"���"2��-�����#������"2�'�� 
(����1�#"'����$���(�"20��#��� 
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��������		�� 
2,303 –����--	'	������������������������������!��	-
��������

�
�	���
� 
R –���	���������
�!�����
������
���
� 
T –����������
���
��������� 
n –��	������������������	�	
���	�������	������������'		� 
F –������
���
�0�����
�������
���	
�����	��������
���� 
���������� –����'�����'	
�����������������-��
�����
�����������

��������������	��
����������	�����������	���	����	
� 
�����	�����–����'�����'	
���	��������-��
�����
����������������

��������	��
�����������������������	���	����	
� 
%��	� �� �������	�� �������� �������	��� �	������� ������	
� 

R (8,314), F��	������	���	�
�����
����������������
	��������������	�
�	
�����	�� 

)��	��(
)�����(

lg
059,00

�
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n
EE −= . 
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����
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���� �����	��
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2�
��� ��
������ ������������
������ ����������� ��
������

���������������������������������%�
�������������
�����#����

#���������%�������
���2�
�����
����������
���
�������������

�������
���������������������������������������%�
�����������

��
�����������#���������%�������
�� 
 ���������#������	����������	�����������	���������
��
�����	�

�������	���������������	�������������������	������������������	�


��������'	
��� 
�) FeSO4 + O2 + H2SO4 ��./2(SO4)3 + H2O; 
�) HI + O2 ��!2 + H2O; 
�) H2SO3 + O2 ���2SO4. 
'������
 
���#������
�
�����	������������������������'	
��
��
���
�����

������	���

	���� ����'		� ���� ���������	����
� 
��
���
�FeSO4�����

���������������������������	����	
����������
�����
��������������

������		����������	�
���������'		� 

Fe+2 –�����./
+3 

�� ����'		� ���� ���������	����
� 
��
���
�HI�� ���������� �� 	����
����������	����	
����������
�������������		����������	�
��������

��'		: 

I– –�����I0 

������'		��������������	����
�
��
���
�H2SO3�����������������

�������������	����	
�����	�	�����
�������������		����������	�
����

������'		� 

H2SO3 + H2O –�
�����2SO4 + 4H+ 


�������	
�������	
������������������'	�����C������������	��

��������'	�� 

�� BE 77,00
FeFe 23 =++ ������� &E 54,00

I2I0
2

=− ������� &E 17,00
SOHSO 32

2
4

=− . 

��������	
���	�������	���������������	������*�����������
���

�	�����������	�������'	��������������'		���	����	
�����	������	�
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���
�������%�
�#����"������
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�'��%�������
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 ������ ���#������	���� 
����� �	� 	������������ �� ������������
�����	
�����	���������III����
���	����	
�	�����.–, Br–

�	�I–
������������

�������+�#�������������	����������
	� 
'������
 
��������	
�������	
�2

�
���������'	�� 

0
I2I0

2
−E = 0,53 &;   0

Br2Br0
2

−E = 1,08 &; 

=−
0

F2F0E 2,85 &;   =++
0

FeFe 23E 0,77 &. 


��*���������������	�� 0
FeFe 23 ++E �������������	
� 0

I2I0
2

−E �����	����

Fe3+
������������	��	���	����!

– 
���������!�����������I2��$�����������

���� 	�� ���������� ��	����� ������� 	���� !
–
� ������ ��	��
���
� 	���
	�

��������!!!�� 
3+�����$-� ���"���%��������� ��������%���
���������������

��������������%�
�1���
����� #����������#������%�������
���
����
���
����������������
�. 

�#�������������	
����
�	���������������
����������		�����'	
�
���������� �����	����	� �������	
�� ��	� �������	� �����'	����� �2, 
���������	��������������&��%��	������������������'	������2�������
�����
�
����������&�����#�"����������������	
��	����������	�������
'		��������
���
������	

	������������	
� 

 ���������4������	����������
����������		����
�������
�����
	�����������������	������'		� 

SnCl4 + 2FeCl2 ��-%�'2 + 2FeCl3. 
'������
 
��������	
�������	
�2

�
���������'	�� 

0
SnSn 24 ++E = 0,15 &,     0

FeFe 23 ++E = 0,77 &. 


��*���������������	��E�
���������'		��������	�
�	������������

������� ������	
� 2
�
� ��������'		� �� �����	�
� 	����� ������� ��� 	����

Fe3+
���������	��
���	����-%

2+
������������	�
�	�����./

2+
�	�-%

4+
��&���

����������������������	����������������'		��������������� 
4#����,���#��1��,��$-������
���������������������������

����� �������� �������������� �������
����� #�������� ��#������
%�������
�����%�
�#����,�����
���
����������������
�� 

 ������ 	��,�������
� ������	
�E0
���������'	����������	�����	��-

��������
�������������������������	
�	����-	���������	������	������� 
���IO −

3  + 6H+
��������I�����H2O,  E0 = 1,08 &; 

���IO −
3  + 6H+ + 5������
I2 + 3H2O,  E0 = 1,19 &; 
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���IO −
3  + 5H+

��������HIO + 2H2O,  E0 = 1,14 &; 

!) SO −2
4  + 4H+

���
�����2SO3 + H2O,  E0 = 0,17 &. 
'������
 
���*���������������	�������'	������������'		��!��
����������

���	�������'	������������'	�����������	�������������-	�-	����������

��
���
����������	���

	�����������	����	����-	���
� 


��2�
� ������� 	�� ��������'	�� ����� ���� 	� ���� �����
� ���������

�������������'	���
�	������'	���
���������'		��!�� 

E0
����– E0

�!���������& – 0,17 & = 0,91 &; 
E0
����– E0

�!�������	�& – 0,17 & = 1,02 &; 
E0
����– E0

�!���������& – 0,17 & = 0,97 &. 

����	���������
���	
�������������	���E0
����������������������	�


����������'	���
	���������'	������	��!���$������������������	���
�
�	����������������������	�����	����-	���������������!��	���� 

!�����
�'�� #��������������������������
�'�� #������������

������� ,��������"�� ����������� �� ���� ��
����� ���� �������� ��
������������#�������%��������. 

 ������
��"����	�����������	�������������	
	�����!����������
�	
���
�����'		���	����	
�����-������������II�����
��!�����
����	
�
�� ������	���
� ���������� �� ������
� ���'�����'		� ����� �����'	����
������
��	��	�������������
������ 

'������
 
��� $�����	
� �������	�� ������� #�"�� �������	
� ���--	'	�����


�����
�����������!����������	������
�������	��n. 

2KMnO4 + 10FeSO4 + 8H2SO4 ���./2(SO4)3 + 2MnSO4 + K2SO4 + 8H2O 

Mn+7
��������$%

+2 1 2 
Fe+2 –�����./

+3 5 10 
,���������	������������!�����������	����������	����������������

��������� ���������	����
� 	� ��	�
���� ��	��	����
�� ��� ��� �	���� n 
�������� 

�����
�������	
������'	�������������'	����	����	
�	��������
���������	�������������	
����
��!����-	��������	��������������� 

��� &E 77,00
FeFe 23 =++ ; 

��� &E 51,10
MnMnO 2

4
=+− . 


��"����	���
�������	���E0
�����'		� 

�E0 = −+−
0

MnMnO 2
4

E 0
FeFe 23 ++E = 1,51 & – 0,77 & = 0,74 &� 
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������������������������������	����	������

���	
�� 

�"�&�����%#0"� �'$��>#!��%�����#���#(%#�"������(%���!#��& 
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�!���������������'		� 
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!��	���� 
"���
���	
� ��������� ��	
�	
� �����!��	�� ��	��-��������������

�������	����������	
�#�"� 

�"�&����!��1���%#1�,�(����1�#"�(%�+�"&-��$������ 

,�
��

�������	
����'�����'	��	�����������������
�����	�
��

�	������������	����������	
�#�"� 
 ���������#������	������������	����������	
�����'		� 

Sn0 + Pb2+ 
��-%

2+ + Pb0 

��	��������	��������	
�����'�����'	��	����� 
����(Pb2+

������
���������(Sn2+
������
������� 

����(Pb2+
���������
���������(Sn2+

��������
������ 
'������
 
��� "����	���
� ������	
� ������������ ������������ �����'	�����

��
������
�����	��������	
����������	������'		�� 

B
cn

EE o 13,0
1
1

lg
2
059,0

13,0
)Pb(

1
lg

059,0
2PbPbPbPb 0202 −=⋅−−=⋅−= +++  
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 ����!	������	���
�������	�������'	���������� 

BE 14,0
1
1

lg
2
059,0

14,002 SnSn
−=⋅−−=+ . 

*��������� ������	�� ����������!�� �����'	���� ��	�'�� ��������
��
�������������	������	�'��������
��
���
���	��	���

	�����������
�	����������	���������
�����'	
������������������
������%����. 

1) "����	���
�������	
������������������'	�������
������
�����	�
�������	
����������	������'		� 

B
cn

EE o 15,0
15,0
1

lg
2
059,0

13,0
)Pb(

1
lg

059,0
2PbPbPbPb 0202 −=⋅−−=⋅−= +++ ; 

BE 13,0
5,1

1
lg

2
059,0

14,002 SnSn
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�������
�������������������������'	�������������������������

���!��	����������
��
���
���	��	���

	�����������	������	�'��	�
��������
�#�"���������������	
�������������%�������
���. 

�"�&������"� ��'�%
�%#����%# 

,�
��

� ������	�� ��� ���������� 
����� 	�
��	��� ���������	��
��������	
�#�"�����	���������	�	
���������	��	�����

+
�	�	�#�
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 ���������,�
��	��
��	����������	����������	
�����'		����	��

��
��K3AsO4 + KI + H2SO4 ��K3AsO3 + I2 + K2SO4 + H2O 
��	�	�
����		���������������������������	����'�����'		�	�����

AsO 3
4 , AsO −3

3 , I–
�	�
�������I2��������������������
�����+ 

'������: 
1. 2����
�#�"����������
���
����!����
���������	������������

����'	�� 
���AsO4 

3– + 2H+
���
����AsO3

3– + H2O; E0 = 0,57 &; 
�) I2���
����
!

–; E0 = 0,54 &. 
*�������������������'		�������	�	
���������	��	�����������������

�����'	������	�	��������	�	��������������������������'		�����	�����
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*�����������	����������
���������'	�����������'		������������

�����'	������������'		�������������-	�������������
��
�����	��	�
�����������	��	�-	����–����������	������������������	���������
����
��'	
���'���
������������
������%����. 
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� ��� �����'	��� ��������'		� ����
������

�����'	������������'		��������������	�-��	����AsO −3
3 ����������
��
���

���������	�����������
��������I2 –���	��	������������������&�������	���
������������������	
����������
�����'	
������������%�������
���� 

�"�&�������(�%#�8%'��#��#(%#�"�����(%���!#��&���� 

,���������	
����������	������������	�	�������������!�������'	����

���	�	��	����������	
���
����������*����
���	�
��

���
������������-
�������
�����	�
��	������������	����������	
�����������#�"� 

 ������
��*���������������	
���	�
����	����
������������
��
o
$�

���	��
o
$�������������	����������	
�����'		� 

Na2Cr2O7 + 14HCl ����'2 + 2CrCl3 + 2NaCl + 7H2O, 

���	����'�����'		�	�����Cr2O −2
7
�	�Cr3+

���������
����������'�����'	
�

���
�����	���������������
�
������������'	�������������	��������– 
�����
���*�� 

'������
 
1. 4�������
�����'	
������	��	���������������'	�� 

����"2O −2
7

 + 14H+
��������
Cr3+ + 7H2O���%

0 = 1,333 &; 
���$l2���
����
Cl–

��%
0 = 1,359 &. 

2. "����	���
�������	
������'	�������������'	������	�������	�
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���������
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�
$�	��������	
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���� 
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���������'	����	� 	�� o
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���	����Cr2O
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7 �	���������	������'		���
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�������%����� 

�"�&������"� ��'�����#"�%#����%���*��(%�+8!�# 
�#��#(%#�"�����(%���!#��&���� 

%��	��������������#�"����������
�
����������	
���������������

���'�����'	
���������	���!��	�����������������������
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��������	�� ���!��	�
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������'	��� �������������������������

'		������
�������	����	���	�
����	�����������	
�#�"� 
 ������ ��� #������	��� ���������	�� ��������	
� ����'	�� ��	�

25 o$����	���
��� 
���
&8���
��'����2 + 2AgCl; 

�) 2Ag + 2HI ���2 + 2AgI, 
���	����'�����'		���������������	�	�����������������������������

1 
���������������	����������������������
���*�� 
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�"�&����!��("�!���.%#0��#��& 
�#��#(%#�"�����(%���!#��&���� 

%��	� �� �����������#�"� ���������
� ��
��������� ����	���	
�� ��
�������� ����� ��
�����������������
� 	!����� �����'	���������
��
�	��	�����������'�����'	
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��������
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��������	�� ���!�� �����'	���� �������������	�� ��������'	�� 	�
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�
���
������
�������	����	���	�
����	�����������	
�#�"� 

 ������ ���� #������	��� ���������	�� ��������	
� ����'	�� ��	�
25 �$ 

���	���
��� 
���Hg + 4HBr ��H2 + H2[HgBr4]; 
���Hg + 4HI ��H2 + H2[HgI4], 

���	����'�����'		�HBr�	�HI�������������������
�
����������'������
'		�	�����7HgBr4]

2–
�	�7HgI4]
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����'�����'	��	�����Hg2+

����������	��
����������
������	���'	�'		�	����� 7HgBr4]
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����������	����������	
�����'		������*�����������

�����
�������������������	
�
��
���
�������	�������'	��������������

���	�����
+
���	��
���������	�����'	
����������������
������%����. 

*������������	�	���
����������
�����������	����������������

����'	��	���� 

$�%������
������������
�����%��"������ 

1. 1����������
���������������+����	��������	
�����
�������	�	�

���+�1�
����������

�������������	����	
����
�����
���������

� 	���+ 
2. ���	������'		������
��
�����	��	������-���������	������
+ 
3. ����
�����������
�������	�����	
�����������������		����������
������������
���
���
�����+�����	�
��
���
�������	
����������

��	����	
����
������������������	�����'�����+ 
4. �������	�
����	��	������-���������	����������������������������
������	�������������	����	
����
��������
�	����	��������+ 

5. *�	���	�����	
�����	�	��������������	������� 
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6. ���	�����������
��
���
��	�	���
	���	��	���

	+ 
7. *�	���	�����	
����������������������� ���	�	
���	���������	��

�!��� ���
��
��� ���� ��	��	��������� ���� 	� ���������	��������
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8. ���� �����	-	'	�����
� ��	��	������-���������	�������� �����
'		+� 1�
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9. 1��� 
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� ���	����������� ��������	��	���� ��	��	������-
���������	�������� �������� �������+� 1��� ���������
��� ������
���������������������������	��	������-���������	������������
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10. ���	�������'	�������������
�����������
	+�������	���
��������
����������
	� ����������
	� �����'	���
	+�#�� ���	��-��������
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11. ���� ��
����� ��	��	������-���������	�������� ��������� ��������
���������	

	������������������'	������������������	�������
����'	�+ 

12. �����'��	�����
���	�'	�	�����
����
����������������	
�#�"���
��������
����������		+ 

13. �����������
���
����������	����������	
�#�"+ 
14. ����
����� �������	��� ��	������ ����
�����#�"� 	�� ��������	��

���
����������'	�+ 
15. ������� ���	�	
����� ���������� �	
	�����!�� ��������	
�#�"� ���

������	�������������������'	�������������'	�+ 
16. ���	�� -������� ���������� ��	
�	�� ��� ���������	�� ��������	
�

#�"+�#��������	��������	
�	�������!��	���	�� 
17. ��������������	��	������-���������	������������'	�������'���

�����	�����
��������	+ 
18. ����
�����������
���	�'	�	����������	�	��#�"�����������	����

�	������!��	�
�������#�"�����������	�������	������	����+ 

&�������
����'���� 

206. )�����
� ����������!�� �������� �������	��� ���--	'	����� ��
�������	
��#�"������������	��	�����	����������	����� 
�) SnCl2+K2Cr2O7 +H2SO4 � 

� SnCl4+Sn(SO4)2+Cr2(SO4)3+K2SO4+�2#; 
�) FeSO4+HNO3 ��./2(SO4)3+Fe(NO3)+NO2+H2O; 
�) P4+Sr(OH)2 �� �3+Sr(H2PO2)2+H2O; 
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!) KMnO4+FeSO4+H2O � 
� K2SO4+MnO2+Fe(OH)SO4+[(Fe(OH)2]2SO4; 

�) Al+HClO3 ��&'�'3+Al(ClO3)3+H2O; 
�) FeS2+KOH+Cl2 ��#2FeO4+K2SO4+KCl+H2O; 
�) H2O2+Mn3O4+H2SO4 ���2+MnSO4+H2O; 
�) Fe(OH)2 + NO2 ��./���3)3 + NO + H2O; 
	) P2S3+H2SO4(����.) ���3PO4+SO2+H2O; 
�) (NH4)2CrO4 ���2+NH3+Cr2O3+H2O. 

207. +�����	��� �������	
� ����'	��� 
�����
� ����������!�� ��������
�������	������--	'	����������������	��	�����	����������	����� 
�) I2+Cl2+H2O ����'���D 
�) Ba(OH)2+Br2 ��0��0"�3)2 + … 
�) KMnO4+PH3+H2SO4 ���3PO4 + … 
!) H3AsO4+Al+H2SO4 ��&6�3 + … 
�) Ca(ClO)2+HCl ���'2 + … 

208. #������	��� ���������	�� ��������	
� �� ������������ �����	
��
�������	������'	�� 
�) H2O2+HOCl ����'��2+H2O; 
�) H3PO4+2HI � H3PO3+I2+H2O; 
�) 2FeCl3+Cu ��
./�'2+CuCl2; 
!) SnCl4+2KI ��-%�'2+I2+2KCl; 
�) H2SO3+Cl2+H2O ���2SO4+2HCl. 

209. ���	��	����������������'	��
�!������������������������������
���	
�� 
�) MnO −

4  +Ag0 ��$%� −2
4 +Ag+; 

�) MnO −
4 +3Ag0+2H2O ��$%�2+3Ag++4OH-; 

�) MnO −
4 +8H++5Ag0 ��$%

2++5Ag++4H2O? 
210. �� �����
� ��������� �(Hg2+

�� �� ����� 
������� c(Fe3+
�� �� ����
�������

c(Fe2+
����������
�����������
�	������'	��
�����������������
��

���	�������� 
���
FeCl3+Hg ��
FeCl2+HgCl2; 
�) HgCl2+2FeCl2 ���8�
./�'3? 

211. +�����	����������	
�����'	���	�
���'		���������	������--	'	�
�����
�����
�����������!���������� 
�) K2SO3 ��#2S + … 
�) HClO3 ���'�2 + … 
�) P4O6+H2O � �3 + … 
!) NO2+Ca(OH)2 �������2)2 + … 
�) Se+KOH ��#2SeO3 + … 
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212. +�����	����������	
�����'	�����
���'		���������	������--	'	�
�����
�����
�����������!���������� 
�) SO2+H2S � 
�) Ca(ClO3)2+HCl(����.) � 
�) H2S+H2SO4(����.) � 
!) KMnO4+MnSO4+H2O � 

213. )������	�����	��
���������III���������������	��	�������-	�����
��	
�����������������-	�������	
���������-��������	
+�*�����	�
��� �������������	�� ��������� $��������� �������	�� ���
������
#�"� 

214. 6������	���	��
���
�-��-��	���
��	��������	������������������
�	
������������	
����
�
+� 
�) H3PO3 + I2 + H2O � 
�) H3PO3 + AgNO3 +H2O ��&8

0 +  
�) H3PO3 + Cd(NO3)2 + H2O ���*

0 +  
!) H3PO3 + Hg(NO3)2 + H2O ���8

0 +  
+�����	����������	
����
����������'	�����������������--	'	�
����� 

215. )����� �	� ��	� ������������ �����	
�� ��	!����	��� ��������� ���
������	���������
����� 
����MnO4�	�KI;  ���CuSO4�	�NaBr;  ���H2O2�	�H2S; 
!��Cu(NO3)2�	���I2;  ���Cl2�	�CrCl2;   ����2$r2O7�	�K2S? 
*�����	��� �������������	�� ���������$��������� �������	
�����

������#�"� 

216. "����	������ ������	
� ��������� ��������	
� ����'	�� �� ���������
���������	
�� 
�) SnCl4 + 2TiCl3 = SnCl2 + 2TiCl4; 
�) SnCl4 + 2CrCl2 = SnCl2 + 2CrCl3. 
��������	�������������'	�����	����	�������������������������
���	��	����������+ 

217. ���	��	�������������	�����������
�!������
��
������������	��
�	����������������������������������	���������������	��	�����
���������	����������	����������������� 
�) KMnO4; MnO2; V2O5; KI; 
�) PbO2; NH3; KNO2; (NH4)2S; 
�) K2SO3; HNO3; CaCrO4; P4O6? 

218. #'��	������
����������������	
�#�"�
�������������
	� 
���HNO3�	�P2O5; ���H2S�	�H2SO	 �������; ���K2Cr2O7�	�HClO4; 
!��H2S�	�NH3;  ���SnO�	�CrO3;  ���$H2O�	�O2. 
���	������������	
����
������#�"���������	������--	'	����� 
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219. ������
����������		�������������������������'		������������
���������	
�� 
�) NO −

3  + Cr3+ + H2O ��������"2O
−2

7  + H+; 

�) Fe2+ + MnO −
4  + H+ ��./

3+ + Mn2+ + H2O; 

�) Co2+ + MnO −
4  + H+ ���E

3+ + Mn2+ + H2O. 
220. )������	�	���������������	����	�'���IV���������������	��	���
�

��
������������	
��������������������	
����������������'	�� 
�) I2 + 6H2O -������
!�3

- + 12H+; 
�) Mn2+ + 4H2O -������$%�4

- + 8H+; 
���Sn2+ -�
���Sn4+; 
!��
Cr3+ + 7H2O -������Cr2O7

2- + 14H+. 
221. #������	������������	����������	
�����'		����	���
� 

2Co2+ + Pb4+ ��
�E
3+ + Pb2+, 

���	����'�����'		�	����������� 
c(Co2+) = 1·10–1

�
�������c(Co3+) = 1 · 10–5
�
������ 

c(Pb2+) = 1·10–4
�
�������c(Pb4+) = 1 · 10–2

�
������ 
222. ������	
������	���	�����	�	���������������������	�	�����	��

�	������-���������	������!�������'	������������'		� 
���MnO4�����H+

��������Mn2+ + 4H2O; 
�) Fe3+

�������./
2+; 

�) CrO −2
4  +2H2����������"� −

4  + 4OH–. 
223. ����
�	������'	����	����������
�����������������������	
�� 

�) SnCl4 + Fe ��-%�'2 + FeCl2; 
�) SnCl4 + 2Fe ��-%���
./�'2. 

224. )�!����	��������������������	
����������������'		� 
�) Ag + H2SO4 (��
�.) ��&82SO4 + H2; 
�) Fe + FeCl3 ��./�'2; 
�) Cu + Fe2(SO4)3 ���2-�4 + FeSO4; 
!) Hg + H2S ���2 + HgS? 

225. $���
������������������	����������������	��������	�
��	��
�
�����'	�����������'		�Cr2O

−2
7  + 14H+

��������
Cr3+ +7H2O���	�
����	���		� ��� ��������� ��� �� ��� 
�� ���	� ���'�����'		� 	�����

Cr2O
−2

7 �	�Cr3+
���������
������ 

226. ������	����	��	������– KMnO4
., PbO2�	�	�K2Cr2O7���	����������

���������	
��
��
���
���	�������--���	���
�����������	����
HCl���	��������		������+�*�����	����������������	�����������
�����������������	
�����'	���������	�
�������������	��	�������
��������������--	'	����� 
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227. &����������������'	���'	�������
������!�������������	������
'	�����������–0,85 &�����	��	���������	��
��
��������'������
'		�	�����'	�����������
���������� 

228. #������	��� ��	������ ����
����� ��������� ����'	�� �� ���������
���������	
�� 
�) KMnO4 + K2S + H2O �� 
�) NaNO2 + NaI + HCl � 
���H2O2 + HI � 

229. �����������������
��!���������
��
�����	�������	��������	��
�	����������������+�*���
�+�$����������������	
�#�"����	
��

������	
����
��!���������	
�������-	��
�����	
��������������

�������������������--	'	����� 
230. 2��	�	��� ��	��������� �	��� ���
��� �� �������� �������� 	����

�������	�����������������*�����	������--	'	�����	����	�	���

�������������	���������	
�����'	����
������
�����-��
�� 
�) Fe3+ + I��  

�) $r2O
−2

7  + NO −
2  + H+ ���) NO −

3  + Zn + H+ � 
231. "����	������
��������
��!���������	
���������	
�!����
���	!��

������	
� ��������� ��/�
�
� ���� �

3
� ��
��
����� ���'�����'	���

���	������������������	����
��
����������	�	���������������	!��

������������������������	�������������
���	����	
������������

���������� 
232. ���	��	���
��
��������'�����'	�� ���	���������	���
�������

�	
��������������
���������������!���� ��	���������������������
������!��


3
�����	��	���
��-	�������������	�����
����Cr3+. 

233. ������ 	�� ��	��	�������MnO2; PbO2; K2Cr2O7� 
��
���
� ��	������

�--���	���
�����������	����HCl���	��������		������+ 

	 �
 �� �� �� �X  

����3�
�6��

������3�
�
�� 

��	���������	�����	�������������������������!��	����	�����
���������������
�����
����������	�	������	��'	����������	���	
�
��$��� �� ���������� ���

� �� �������� �	��������� ���
��� �� ���
	��
�
������������ ����������� ������ ��������
���
� �������������� �
��
���
	�� ���������������� ������������ #������� ���
	�� ������������
����������� �� �������� �	
	������� �	��������� ����������� �	�����
��	
��
���
���������
�������

��!���������	
��
�����	���
�– ����
�������	�������*��'�������������	
���
�������������	���	�������
��������'����
����������������
������*��
������!��������������	���
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'	����
� �����	�	� ���� ������ �	��� ����	���	��� ������	����� ����
�������� �����	
� ���������	���6����������������������� ���������	��
�����	��'	����
�� ����	���	�� ����� ������ �������� (�
� ��� 
������

����� �������	��� �����������+���������������� ����
��
��� ���
����������
�����������
���������������
�����
�����������
�������
��������� ���
����� ���������� �� �����

�
����� 
� ���

������ &�	�
����	'��������������������������	��'		������������-	'	���
�����

�
�	�	����	���
� ���'������������������������������������������
�	'�	�	���	������������������������� 

������'��(�"�:���&�!��%+��#1�����,����%��� 
��('�!��("�!��'$����+�����, 

$�����	��	���������������	��'	����������	���	����/
��
���
�
�����	��'	����������	����������������������	��������������	��!��
��� ���������
��#����	��������������	������������������
�������!��
����	���	
� ����	�� ������
� ����	'��� �����
��
� 	�� ������
���"��
��������������������
�!�����%
��������#�����
�� �	���
���������
�����!�������!���������!����
�������	�	�����
��������������
����
�����	�	���	�������������	��
�
�"��������1	���������	�	������
�����	!��������������!�������������	�	�
�������	��'	
��������	���
�	�����	!������������'���������!�����
�����������
���
������������
�������	
��	
	����	����
�����&�	���
�	�������������������������
������#��������	������������	��'	��������
����������������������
��	�� �	!���� �� ��
������������������
� ���������
� �����������+ 
�	!��������	-����	-�����������������	��������#������	�����	
	����	��
��
���������������
�������������������������������	!����
	���������
���
��������������������
�����
�����������������
� 

$������������ 	���� 
������� 	� ��������	�� �!�� �	!������ �����
���������������
����������������������%
��������-��
����������
�	��'	����������	���	���������������������������������	�����������
�����	��
� ������������
	� ������
	�� �������
��� ���'�++� ���������
���	�	
���	�������������
���������������-��������	������������� 
��
������������	
���#2[Zn(CN)4F��!�����������

��-����79%����4]

2– – 
�����; ��������� ��
�������– [Cu(NH3)4]SO4��!�����������

��-����
[Cu(NH3)4]

2+ – ��
����� 	� ������
����� ��
������� 7 G���3)2Cl2]
0. 

��������������
�������������	���	
����	
�������������-�����+��
�
��������������-������������!����	���������

�����
���'��������
��!��	����	����
����	!������ 

 �������� "���
���	
�������	����
�������!������	���	
�������
���#4[Fe(CN)6]. 
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'������
 
,�����

+ –������

��-���� ��7./����6]
4– –���������

��-������
�

�������!�� ����	���	
�� �����
��
� 	�� ��
�����������������
� �	�� 
Fe3+

�� 	� �	!������ �	����� ��
–
���#�	�� �	!���� ��

–
� ��
�������
� �� ��
�

������������������
��./
3+
�����������������
����������
��������������

���!���	!�����������������	������������	��'	��������
������������


	���
���������������������
����������
	��	!����
	�������� �������

������������ �����	��'	������ �	���� ������� �� �����
� ��
�������
�

����	���		���������� 
�� ��	��������� ����	'�� ����
������� ������	�� ���������� ��
�

�������������	���	�� 

�����	�
��	 
�	���	��	 
����������� ��	�	�� 

[Cr(H2O)6]Cl3 K[Ag(CN)2] [Pt(NH3)2Cl2] K3[Ag(S2O3)2] 

��������

��-��� [Cr(H2O)6]
3+ [Ag(CN)2]

– [Pt(NH3)2Cl2] [Ag(S2O3)2]
3� 

�����

 c-��� Cl- K+ — K+ 

;��������������
 Cr3+ Ag+ Pt2+ Ag+ 

7	!��� H2O CN- NH3; Cl- S2O
−2

3  

2���������� 1 1 1, 1 2 
�����	��'	������

�	��� 
6 2 4 4 

*�	������	��'		�	�
��
���
���������������	!�����������	�	����


������-��
�����������������
��1����������	�	����������	!�����	�
	���
������������
������������	����������������
�������!������	�

���	
���	���
��	��	
	����	������'	�����������������
��	��������

�����
� ��������	�	�������
�� �����
�		����������	������
��
�����
�

�����
������
�		�������������
�������������	'�� 


����!"#�8%#�!��%+��#1����'$����+�����, 

*��
����������	
���
�������������	���	�������!	����������

�	

����������������������������������������
���	�����	
��	������
�

��������������
����	��������	������
���������0��
������
��������

�	�����
� ����!�� ��������������� �������
� ���������� ���	�����
����

����������	
��	!������ 
%��	� ����	���	�� ����������	���!�� �	��� ������	��
���������

����	���	��������!�������������������
��������	������	�	����������

�����$���������������������	
�����'	��������������	�����������	�


����	��������
����������
�������������������������������	���	
�

���
	��
�����������	�
���--	���(-�
	�	�������	�
��	
��	
	��	��
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��
	� ������	� ��	����	
� '���������!�� ���
�� ����	� ��� 
����� 	
����

����
������������	���	����	
��� 
������	
���	
���������	!����������������
������������	
�����

�������	!�����������	�����
����– ���2�
����������	
��	������������

��� �	!������ ��� ����������� �-���� ��
������� �� ��������� ��	�����	�

������������	�
��	!������	���������� !������	���	��	�����������-; 

��-��
�
�������
��������-���
�����*�	�����������������������
����
������	��������������-�������	�������������������� 

�����	��

	���
��
���
�����������
	��	!����
	�	����������
�

�����������������
�-�	������� 
���� ��������� �� ������	
��� ���	� �	!���� ��
���� �� '���������
�

���
�
���������	
	��������
	����������	�	����
������
�����
�����

�	
������ ���
���� ������ �������� ���������
� �����	��'	����
� ��
���

��
�����������������
����	!����
� 
������	
��������������	!����������
���2O, NH3, NO, NO2, CO 

	� �-�� ����������
������!���� �����	�	������� ����������	���
���	�

���������	�����	� 
 ������ ��� *�	����	� ��	
���� �����	��'	������ ����	���	��

����	������	����	���������	�� 
'������
 
+�
���������
������� 

[Co(NH3)6]
3+Cl3 –�����	��!�����

	��������� (III); 

[Co(NH3)5H2O]3+Cl3 –�����	������������

	�����������III). 
!����������
������� 

(NH4)2[PdCl4]
2– –���������������������!!���

��	
� 

K[PtNH3Br5]
– –���������
o�

	�����	�����IV�����	
� 

K4[Fe(CN)6] –�!����'	���-�������II�����	
� 
/�	
����������
������� 

[Fe(H2O)3(ClO4)(SCN)2] –��	�	�'	���������������	������������III); 
[Co(N2H4)2(NO2)2] –��	�	��	���	!	����	����������!!�� 
[Hg(H2O)2(NCS)2] –��		���	�'	����	�����������!!�� 

���%+��#1����'�����+�����&�����+�'$�%#����%#$ 

*�	� ���������		� ��	�����	�����!�������	��'	����!�� ����	���

�	
���������!����	�����	�����
�������������������
���������	��'	�

����
��-����	��������-������	����!	����	�����
��	������
	�
��

������
	� ������&���� ���'���� ���������� ���
����	�
�� �	���'	�'		�

�	��������������	���������	
���� 

K4[Fe(CN)6] ���K+ [Fe(CN)6]
4–  
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��
���������	����������
������������������������������������

����	��������7	!������!�������	��'	�������-����
�!�����
������
�


�������
	�������������
�������
��
���
��	!����
��(��������������	�

���	
�������		� ������
������� �����!	
	��	!����
	������������
��

�������	����	�����������������
����	��
�����������������	��'	�

�������-����������
������������	��	!������(��������'�������	
		�

��
�����������������
������������������.  
"���
���	
� ���	
�������	�� !����������!�� �

	���� �� �����
�

��������
����	��	���
���������
�������������	����)
2+
��������������

�	�����
�������!��	����7�)��2O)6]
2+
�����	
�������	�����!��������
�

������� �� �

	���
� ���	����	�� �������� ����	��� �����
� 	�� ��������

���������
��������������	
�������'	��	���������	�����
����������

�����������������������	
� +���
��
����
��
������������	������	��
���������	
� ��
��������� ����	'�� ���������
� ������
	� ����
���


������
�	��
��
�.  
��� ������� ����		� 
����� ������ 
�������� ����� ��� �����������

�-�������	
���������
���������

	���� 

[Ni(H2O)6]
2+

��� + NH���� ��7NiNH3(H2O)5]
2+

(�� + H2O��� 

#��������
���������� ���	�	�-��
����
���������������������

�	
���������������'	����������� 

Ni2+
��� + NH���� ��7Ni(NH3)]

2+
��� 

	�������
�����������������	����	��������������������	
����
��������

������	����������	
���
�������!��	�������	�������
����� 

)NH()N(

))]Ni(NH([

3
2

2
3

�
�1
cic

c
K

⋅
= +

+

�	����������������+�
����
�i-����	�� 

)NH()Ni(

)])Ni(NH([

3
2

2
3

�
� i
i

cc

c
K

⋅
= +

+

��	�	�+i �
�=K1 · K2 · ... · Ki. 

"���'	
���������
�����'		���
���������������	
� ��	���'	�'	
�

��
��������
��
���
�����'	����	!�����!����
����������������	!�����

��
�������!��	������
������
�
�������
	��������	���
� 

[Ni(NH3)6]
2+

��� + H2O��� ��7Ni(NH3)5(H2O)]2+
��� + NH������	�	 

[Ni(NH3)6]
2+

��� � ��7Ni(NH3)5]
2+

���+ NH���� 

2�
�����'		��	���'	�'		���
�������!��	����������������������

�	
��������������
��
�	����
�	���
��+��
�.���������������		� 

)])NH(Ni([

)NH()])NH(N(
2

63

3
2

53
��
�1 +

+ ⋅=
c

cic
K ����	��
�K1 > K2 > ... > Ki. 
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*��	������	�����������������������������	����������������

�����������������	��K��
� = K1 · K2 · ... · Ki������������������	����	�	�

����������	�–��������	
���������������	�	��� 

��
�

�
�

1
K

K = . 

����������������	����	�	�����������	�������������-����������

���	�
�������
��������� 
 ������������	�	��������	��'	������-��
���������	��������

�	��'	�������	����	����
����
�����������������
�����
�������������

�-����	��������	����������������������	���������!����
��������

!������	���	
��!�����	��	�������������!!!������'	
� 
'������
 
�������		���	�������������	����	����!����
�������!������	���

�	
�� 7	!����
� 
��
���
� �	��	�-	���� �� '���������
� 	���
� –� $�3+. 
��������

� �-����– [Co(NO2)6]

3-
�����������������-��
������
������

��!������	���	
��������$�3[Co(NO2)6]2. 
�����	��'	�������	����������–  6 
+��
����
�����������������
�–  3+ 
+��
��������������-���  –  3– 
4������	������	������	���'	�'		�������	��������������	��� 

$�3[Co(NO2)6]2 ���$�
2+ + 2[Co(NO2)6]

3–. 

#������������	������	������	���'	�'		�����������������	��� 

[Co(NO2)6]
3– ��$�

3+ + 6NO −
2 . 

�������	����������������������������	��������������������	
�� 

)])NO(Co([

)NO()Co(
3

62

2
63

��
� −

−+ ⋅=
c

cc
K . 

 ������	.�)������	�������	�����
���������	���7Ag(NH3)2]
+
���

�!��
��
��������'�����'	������������������
���������������	�
�����

��!����/�
�����������#�'���������������'�����'	�����	����	�		���

�������
� ���������	������� �

	���� �� �!��
��
��������'�����'	���

���
�����+ 
'������
 
���"����	���
�
��
��������'�����'	��	�����7Ag(NH3)2]

+ 
������

��������������������	
������!����/�
�����������KCl��*�����������/�
�
�	������!���������������	�	��
���
����������
��
���
����'�����'	
�

	�����7Ag(NH3)2]
+
��
����	�������
������	��������
��������
������ 
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��"����	���
�
��
��������'�����'	��	�����Ag+
������������
 

���������� *��������� ���'�����'	��� �

	����� �����������!��
� ��	�
�	���'	�'		���
�������!��	�����
�������������������������
������
���'�����'	
��

	���������������
�����������������!��	����������
���'�����'		�	��������
������
�������,���
������'�����'	��	�����
Ag+

��������	
��������: 

[Ag(NH3)2]
+   �� Ag+  +  2NH3  

�����
�����  ��
����� ���
������ 

+�����	
����'�����'	��	������������	
����������	������������

����������	���
�������!��	���� 

05,0
10

101
)])NH(Ag([

)NH()Ag( 2
8

23

3
2

)��
�(
⋅=⋅=⋅= −

+

+ x

c

cc
K . 

#������� = 5·10–12
�
������ 

���"����	���
�������	��*��	�����Ag+
�	�Cl–

������������
���������� 

*������Ag+) � c(Cl–) =5 10–12 · 10–1 = 5·10–13. 

��� *��������� ������	�� *�� 
������ ������	
� *"(AgCl)�� �����!�� 
10–10

������������AgCl�������������	���
������7Ag(NH3)2]
+
�����	�������

�	
��	���
	��'���������������
� 
 ������
.�6������	�����������
���
���������	���7Ag(NH3)2]

+
���

�����	
����	
��������	���
����#�'����#!+ 
'������:  
+��	��
��������	������'		����	
�������	
���
�������!��	����

��	��	�-��	���
	� 

[Ag(NH3)2]
+ + I���� AgI +  2NH3. 

*"�&8!����� · 10–16
��(�������� � 10–13 > 1 � 10–16

������������AgI����
�������	�������������������
���������	���7&8���3)2]

+
���������������

�	
��	���
	�!������������
� 

$�%������
������������
�����%��"������ 

1. $-��
��	������ ��������� �������	
� �����	��'	������ ����		�
 � ��������	����	������	������	�������	
����� 

2. �������������	����
�������������	���	�+ 
3. �����������	������
����
�������!��	����	����
����
�����������
�������
+ 

4. ���������	������	
	���������
�	�����
�������������	���	
�+ 
5. 1�
� ��/
��
���
� �����
� ����������� d-���
������ �������������
��
�������������	���	
+ 
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6. �����
�����������������������	-	��'		���
�������������	���
�	�+ 

7. *�	���	����������	
�����'	���������
	�
�������������	������
������	��	�����Cl��	�SO −2

4 � ��� �����������	�	� �������� �-�����

��
�������� 
8. �����	��� �	���	��
��		�	���	���	�����	
����	��
����� �� ��
�
�������������	���	
�� 

9. #����!�����	�	�����	�	��������	��'	����!���	������
���������
���������
+ 

10. 1�
��������������������������	!�����+ 
11. ����������		�
������������������
������/
��	����������	�������

�	���

	������'	�������	��	����������	����	���
� 
12. ,������	���������	�����������!��	�'	������!����
��������Fe3+

�	�
Zn2+. 

13. ����
�����������
�����	�	��
�������
�������
	�����	���	

	�
	�������
	����

	+ 

14. ���	��-���������	
������������	��������
�������������	���	��
�����������+ 

15. 1������������
��������
��--����
�	���
��������������+ 
16. ���� 
����� ��/
��	��� �������� ����	������� ������ �
������ 
��

������+ 
17. ���	�������������
��������	������������	��������������������
�

�����	
���	���������	
�+�1�����������
���
? 
18. *���
�� 
����� �����	��� �� ��
����� ��
���������� ����	�������

������	��	������
������
�������������!��	�
���������+ 
19. 1������������������
�����������	+�*���
��!�
�!���	�������'���

������	
������������������	�������
������	����!����
�!���
+ 

&�������
����'���� 

234. ,�� ��������� ���	� ��������  G�'4 · 6NH3� �	����� �������� ���������
����� ����� �� �	��� ����	��� ��������� �� 	�� ��������� ���	�
PtCl4 · 3NH3 –����������������������
��!������������������������
�	����� �����	��'	������-��
����	� �����������	
� ��	�� �������
�������	��� �����	��'	������ �	���� ����	��� �� ������� 	�� �	���
�����������	���'		���������	��������������������+ 

235. 2��������	��'	����������	���	
��������������	���������
�	�
�	�������-��
������E0"-�4·5NH3��"���	�	
�
������	
	����
��
�
���
� �� ����'	
�� 	�� ���	
�������	
� �� ���������� �� 0��'2� 	�
AgNO3��#����������������������������������	��
����	
��������
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��
 –� ������� �� �	�����
� ������������	�	���� �����	��'	������
-��
����� ������ ������	
� ���	�� ������	� �������	
�	�� �������-
�	�	��������	���'	�'		� 

236. ���������������������
����
����!����������E�'2 · 4NH3�������	-
�	�������������
����	���������������&8��3��)�����������������-
�	����������!��#������	��������	��'	������-��
������
�������

	������	����!�� 
237. ���	�	�����
������
�����	�	����-
������
�����-��
��������

���	
���
����������'	������	����
�	��
���������#4[Fe(CN)6F�	�

CuSO4������3[Co(CN)6F�	�./-�4�����#3[Fe(CN)6F�	�&8��3��	
�
�� 
�	����������������	��
������	��'	���������	����������	
����

������*�	���	���	��������	
� 
238. ���	�	����������	
�����'	�����������	
���
����������	�����	�

�������	����	����	
�������		�� G�'4�	���'��&8�'�	���'�� 5�'2�	�

HCl; SiF4� 	� �.�� ./����2� 	� ����� 0.3� 	� �.�� �2�OH)2� 	� ��3; 
Ni(OH)2�	���3��*�	���	����������	
���������	�	��������	����

'	�'		����������������	���	�� 
239. ���	�	��������	��'	������-��
�����������	����
���������

����	���	��� ��� !�����	��	������������ �!!!�����	
����� �

	��	��

���������������������� �!!!�� �

��	
�� ��� ��	-����!	���������

�	����� !���	
� �!!!������ ������	�'	����	�

	����
��� �!!!�� �

��

�	
��4���	��������	��'	�������	������
�����������������
�	�

���
��������������-���������!����
������� 
240. 2�����������	
��������	������	���	���7 *���3)3Cl]Cl; K4[Fe(CN)6]; 

[Pd(H2O)2NH3Cl]Cl; [Co(H2O)(NH3)4CN]Br2; [Co(NH3)5SO4]NO3; 
(NH4)2[Rh(NH3)Cl5]; Na2[PdI4F��7�2���3)4](NO3)2; K2[Co(NH3)2(NO2)4]. 
���	�	����������	
��������������������	���
��������	�����	-
��������	��'	�������	������
�������������������� 

241. ���� ��/
��	���� ���� ��
��������� 	��� 7&8���3)2]
+
� ����������
�

���� ��	� ����	����		� ���������� �� �����!	�����	��� 7 G���3)4]
2+ 

������
���
��������	�������		����'����	������������
�����	�

�����+ 
242. *���
����	�����
�	���
����
��
���
�	����������!�������������

����&8�'�����������
���
������
�����	�����������������
���
���

����������

	���������������&8!�����������
���
�������������
�


	���������������
���
������������'	��	�������	
+ 
243. 1�
� �������
���
� ���
�������� ��
���� ���	�� �	!������ �� �����

�	��'	����
� ����	���		� ��� ���!	�+� #������	��� ���������	��

����'	�������������� 
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�) [Ag(CN)2]����
��2����7&8���2)2]����
����� 
�) [Ag(NO2)2]����
�������7&8����2]����
��2�� 

244. )������	�	���

	����!����
���������������������	�
���������
������	�� �	!������ �����	��� 7&8���2)2]�� 	� 7&8����2]�+� #�����

��	�	������ 

245. #�/
��	������'���� ���������	
��������� �
-�������� !	�����	�
�������	�������	�����������������������	�����	����
����������

���!	���2��	�	����������	
� 
���7�"��2O)6]

3+ + OH–  �������� 
���7�"��2O)6]

3+ + OH–
��
�� � 

���7�"����6]
3– + 3H3#

+  �������� 
!��7�"����6]

3– + H3#
+
��
�� � 

246. 2��	�	�����	����������	����������	
�����'	���4���	���������
��
�� �	��� �����	��
� �����
� 	�� �	�� 	� ��
� �������
���
� ��� ���

������������+ 

K2[CuCl4] + NH3 � Na3[Ag(S2O3)2] + Na2S � 
Fe3+ + [Fe(CN)6]

4- � [Ni(NH3)6]SO4 + NaOH ���)����2+ 
Fe2+ + [Fe(CN)6]

3- � K4[Fe(CN)6] + Cl2 � 
[Co(NO2)6]

3- + K+ � [Co(H2O)6]
3+ + Cl- ���'2 + 

Cu(OH)2 + Na2SO3 ��7�2�-�3)4]
6-+ CoSO4 + NaNO2 + CH3COOH � 

[Co(NO2)6]
3- + N2H4�����2 + N2 + ���3[Co(NO2)6] + NO + 
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Ag+ ��7Ag(NH3)2]
+ ��AgI ��7Ag(CN)2]����Ag2S. 
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���������-��-	����

����'	
�����
	�	
�	�'	�����	��������
��������������
���	
	���

�����<��
���
��	������������'		���	��	������-���������	����-
��
	+ 

22. $���������!��-	����	��-��
�������	����	��	�����-��-�����#��
�����	���������������������	��'	�������	����	�����������	����

�	
�-��-���� �� ��	��
���������� �� ������ �����������-��-������

�	����� 
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23. $��������� �������	
� ����'	�� �������	
� -��-������ �	������
����

��������
	�������
���������	����������-��-�����������
���	�� �������!��	�������!�������-��-��������'	�	�����	��

��
-����� 

24. ���	�	�����	������	�	����-
������
�����-��
���������	
����
��'		� !	����	���-��-��������	
�������������'	
��������������
����������-��-����	��	!	���-��-��������	
+ 

25. ���	�� ���	
������ ����	���	
�-��-���� 	!����� ������� ����� ��
�	�����
��������	��	������!��	�
��+ 

26. $����������������	
�!	����	�������	����-��-�����1���������!��
��!����!	��	�+ 

27. ���� 	�
��
���
� �	������-��������� ��������� !	�����	���� 
�-���
������1�!�����+ 

28. ������������	���	�
���������!��	�
������
��-��-���	�����+ 
29. �������	����������������������!	�������������������
���������

����
�CuO�	�N2���������-��
�������	�������������	�
����������
�����!�� CuO� ������	��� ������� !� 	� ����� �����	��
� ��/�
�
�
200 �
3 

������+ 
30. +�����	����������	
�����'	��	���������������--	'	����� 

���3)����2 → 
�) Mg3N2 + H2O → 
������2 + H2O2 → 
!) HNO2 + H2S → 
�) KNO2 + K2Cr2O7 + H2SO4 → 
�) KNO2 + KI + H2SO4 → 
�) NO2 + H2O → 
�) N2O4 + Ca(OH)2 → 
	���2H4 + O2 → 
�����4Cl + CuO → 
������3����'���+ Cu (Ag, Zn, Fe, Al, Mg) → 

�����3��������+ Cu (Ag, Zn, Fe, Al, Mg) → 
�) Sb2O5 + KOH + H2O → 
�) H3PO3 + AgNO3 + H2O → 
�) H3PO4 + CaCl2 → 
�) As2S5 + HNO3(���'.) → 
�) PH3 + KMnO4 + H2SO4 → 
�) HNO3 + Cu2S → 
�) NaBiO3 + NaI + H2SO4 → 
-) Sb + HNO3(���'.) →  
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31. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	������������	
� 
�) NH3 → N2 → NO → NO2 → KNO3 → O2; 
�) Ca3(PO4)2 → P4 → H3PO4 → (ZnOH)3PO4 → Zn(H2PO4)2 → 

Zn3(PO4)2; 
�) P4 → Ca3P2 → PH3 → P4O10 → Ca3(PO4)2 → Ca(H2PO4)2; 
!) HNO3 → NH3 → (NH4)2Cr2O7 → N2 → Na3N → NH4NO3. 

--5
���
������	����� 

1. "���
���	���������	�����
���	����
���������������������
�	
�

�-���
������!1�!����������	��������	���	����	
����
��
�������
����������
�����������	���	
�+ 

2. #��������	������	�
����	�� ���
���� ���	������ ����!		�	��	���

'		�����������������������	�����������	'���������	����
���$�– 
Pb. 

3. ���� 	� ����
�� 	�
��
���
� ������	������ ����	���	�� ����������

���
��������	���������������	���	����	
����
���C – Pb? 
4. ���	�����������������������������-���
�����!1�!�����+����	��

�	�����	�����	����	�����������������������
��	�+�"���
���	���

������	�� ��
����� !��-	���� ����	���� ���	��
������� -����������

��	�����
������	���!	��	�	��'		����
�������	����������������

�������������������	�����
�����*���
����������������!��-	���

�������
�
��	-	��'	
����
�	
+ 
5. ����	�����
��	�
��
���
� ����!	
� ��
�	�&�–�&����
����!������– 

!��
��	�+�1�
���/
��
���
����������������
����!�����������	�

�
���
�����	�����'��	+ 
6. ���� 	�
��
���
� ��	��	������-���������	�������� �������������

����� �������� ��	� ��������� ��� �!������� �� ��	�'�+�#��������	�

������	���������	�����������	�����
��������
�����

�����	�	���

�������	
��������������	������'	�� 
7. "���
���	���������	��
��������������	���������	��	������-���-

������	��������������������������������	���	�������	�
��
���

�
���
����������	���	
����
�����4 – SnH4�������	����������!	��

��
	� ���	�	
���

	� ��
� !	��	���� �-���
������ 1–1!!� !�����+�
���
����� �	� �����������	�� ������������� �	������ ��	� �����

�������������	
�+ 
8. *������	�	������������	��
��������$#��1�
�
�������/
��	���
������������!	����
�	������+���������!	
���
�	�����������
����

������	����	�	��	
	����������	�����	����	����!��������!!�+� 
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9. *���
������!	
���
�	�Si – O������������!		���
�	�$�–�#+ 
10. *���
�� ���	�� ���
�	
� �!1��� �� ���	�	�� ���$#2, –� ����������-

������+ 
11. #��������	������ ���	�	
����� �	������-��������� �������� ���	�

����	�!	�����	�����������������
���������������	�	����	����	
��
����	�
��
���
� �	������-��������� ��������� �����	����� ���	�
����	�!	�����	�������
����!������–���	��'+�*�	���	�����������
������	���������	
�����'	�� 

12. #�/
��	�������	�	
���������		�	����	
	����	������������!���!��
�	�����-���
������!1�!������������	
�������
�����	���	�������
�
��
�-)�'4, GeCl4, SnCl4; SnCl2,PbCl2+����	�	����������	
������
'	��!	����	���SiCl4�	�SiF4. 

13. ������� �������� ��	����	
� ��	�'�� �� ���	����  5���  5�2, Pb3O4? 
������	�����	���	
����	
������������������������
	�	����'���
��	�������
	���������
	���'���2SO4? 

14. ���	�� 	�� ����	���	�� �-���
������ !1� !������ 	����������
� ��
������������� �����	��� �� ��������� �	�	����� ��	��	�����+� ��
��������� ���������	�����+� *�	���	��� ��	
���� ����'	�� c� 	��
�����	�
� 

15. �������������$#2������������		+����	��	����	�����������������

�����	��������������
������	��!���	���!��!��������'����	���
���������������	������������������	��������-��-��������!	��
�	�+ 

16. ���	��	������������������!	����	�����
��	�������Sn(NO3)2�	�	�
Pb(NO3)2; Na2CO3�	�	�Na2SiO3+�*���
�+ 

17. �*���
��������������������������
������	����	���������������
���������� �!!!������
��!!!������
	�	
+����	�����������
�!������

���	���
���	��
��	���		����������� 5���3)2�	���2CO3?  
18. ����
������	��������	
�����	��	������
��
������	������	���	��

�	� ��� ��� ������� ����	���	�� �!�������� �� ��� ������� ����	���	��
���
�	
+ 

19. 1������������
������������	�	����������!���+�3������	��������
���
+�1�
���/
��
���
��!��������
�����	�����
������������+ 

20. $
�������
�	
������	��
����
�	
��IV�����������	�	������
�����
������ !	�����	�������	
�����������������!�������	��
� !�����/��

�
����
�����������,�������������!��
����������������������
����
�	�	��������	
�
������
��!�����	��	���������	��
�����������	�
���
�	
���	���������
��	� 

21. $
�����!������������	�'�
����������	���	���!�����		�	������
�
���'����	�������!��������������������	����������������������!��
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�����	������
����!�������/�
�
�����������������*�	����������		�
����� �
��	�������	�������	��������������������������
��������

������ ��� !�����	��	��� ������	��
�����������	��!���������	��
��������
��	� 

22. +�����	����������	
��������	������'	�� 
�) NaOH + H2O + Si (C,Sn,Pb) → 
�) NaOH + H2O2 + Ge →  
�) H2SO4 (����) + Sn (C,Si,Pb) → 
!������ ������ + Sn (C,Si,Pb) → 
�) MgSi + H2SO4(��
��	�.) → 
�) MnSO4 + PbO2 + H2SO4 → 
�) Sn + KOH + H2O → 
�) SiO2 + HF → 
	) SnCl2 + NaBiO3 + HCl → H2[SnCl6] + ... 
�) GeCl2 + O2 + NaOH + H2O → 
�) Pb + KOH + H2O → 

) PbS + H2O2 → . 

23. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	������������	
� 
�) CO2 → COCl2 → CO2 → C → Al4C3 → CH4; 
�) Si → Na2SiO3 → H4SiO4 → SiO2 → SiCl4 → K2SiO3; 
�) CO2 → NH4HCO3 → BaCO3 → CO2 → CO → COBr2; 
!) Pb �� 5����2 �� 5�2 �� 53O4 �� 5�'2 ���2[PbCl6]. 

P-5
���
�������	����� 

1. #��������	������������	�����
����-���
������III�!��������������
���������������-	!���'		�	�������	������!��	����	����������
���������
�	������������
������
�	
�+����	�����	���	�������

��� ���������� ���
������ 
��
���
� ��������
	+� *���
�� ��	�
���
����������
��
�����
��������-���
�����+ 

2. *������	�	���������������	�
����	
����
�������	����������!	��
	��	��'		�����������������������	�����������	'���������	�����

������
�����– Al��1�
���������������
������������	�
����	
�
��	�� ���
���� ��������	��	�� �� ���	�	�� ��� ���!	�� !����� �-���-

�����+ 

3. ���	�� ������	� ��	����	
� ���
��
��� ���������� ���
����� �� ���

��	���	
�+�����	�����
��	�
��
���
� ������	�����������	�����

����	���	�� ��	�� ���
������ �� ����	�� ������
�� ��	����	
� ��	�

�����������������������	�+ 
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4. ����
�������/
��	�������������	�	��-	�	����	��	��	
	����	��

�����������������������������	����
	�	
+�$����	���	���������
�	������������������
��	��������������	��������$��������������
���	
��������������	������'	�� 

5. 1�
�
�������/
��	�����������
	�	�����������������	
��������
������������	
��������������	���������������
��!��������������
�����'	�������	�������
������������������������
�����������	��
������������������������+� 

6. ����	�����
��	�
��
���
����������	�����������������
����������
�
���Al – Tl? C����	������������	�����	
�������	
��������������
�����
	��	��������������	��������1�
�
�������/
��	����������
����������	
����!	�����������������	���
���������
��������+ 

7. 1�
�����	
	����	
���������
����	�����
����	�������������	���
���
	�	
��!	�����	����������!	�����	������
	�	
+�4�����	���
�	������!�����
������	����������������	����������������+����
�	�	����������	
��������������	������'	�� 

8. ����
�������/
��	����������	���
���������
������������
	�	��
�����	����	�������!	������������������CuSO4��������������	
��
������������CuCl2? 

9. #��������	������ �	������-��������� ��������� ���	���� 	� !	����
��	����Al, Ga, In�	�Tl��$����	���	���������	������������
��	�����
	����������*�	������	��
-��������������	���	

�����	
+� 

10. ���	�����'�����������������	�����������
���������		�	�������
�������������!��������������������	���������
	�	
+����	�	���
�������	
��������������	������'	��������	����������������	���
���	������	'����
	�	��������	��
�������������������������	�
�	��������������+ 

11. ���� 	� ����
�� 	�
��
���
� �������� !	����	��� ������ �� �
��� 
Al(NO3)3 – Ga(NO3)3 – In(NO3)3 – Tl(NO3)3���������������	����	���
���������'�����'	��+�����
�	���������TlNO3�	�	�Tl(NO3)3��!	��
���	�����
��	�����+�*���
�+ 

12. C���-������
	�	
��	�����	����������
���
���	���	������������
����	��	�������� ����'	
������ ��
� ��������� �!�� ��	
����	�� ��
�����
� ���'����+����	�	��� �������	
� �������������	�� �����
'	����	������	�	����-
������
�����-��
��� 

13. )��	'	���	������������ �
�!��������������
�������������	�	�
�	����������������	��!	�����	�������
	�	
�	�
�!�	
�������
�
����������!����	
����	����	�	���!�+�)������	���	�	
��������
���������������	� !	���'	����� ����	��������	��������	������
�����!�������+ 
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14. �������	
	����	������������
����	���������'��+������
������
����� 	����������	�� ���!�� ��������� ��
��	'	��� �� ��������� ����

����������	�����!����������+ 
15. ���	�����'�����������������	� �������		� ���
	�	
�� ��
��!�� ��

	�����������������������������	������
	�	
+����	�	��������

���	
�����'	��������	������������ 
16. )����� �	� �����	��� ����-	�� ���
	�	
� �
��	���	�
� �������

��������������-�������
	�	
�	�����-	������	
+�*���
�+����	��

���	����
	�	
���	�'	�	�����������
������	����	�������������

�������������+����	�	����������	
��������������	������'	��
 

17. ����
���	�'	�	����������	�	�����������������	���	����������
!	��	�������!	���-���
������III�!�����+���������������	�������
�	�����������!�� !	��	�������+�����
� ������������ �	
	����	��

��
��������
+�����
�������/
��	��������
�������������������

�	
�
��������BH3?
 

18. +���������!��
��������BF3���	����	�
�������������!	��
��������

	�	�	���������	
����H2O, NH3, F
-
+����
������	���	����	���	��


��������CH4+�*���
�+��������������������	����	���	
�	�
��
�

���
��	��!	��	�	��'		����	�����������	��!��!��
���	����������

�����	�+
 

19. �� �����
� ��������� ������� �	������ ��	���������� ��	����
[B(OH)4]

-
��4�	����
���������	�	����������	����������	�	�������

�	���'	�'		� ������� �	������ �� ����������1�
�� ������ ��� ������

�����+
 

20. 1������������
���	����	
�������		���������	����������������
�
!	�����	�������	
+�1��������� ������+�����������	
	����	�����

����+� ���	�	��� �������	
� ����'	�� !	����	��� ������������ ���

��	
�����	
�������	
��!������������	������������������
 

21. ���	��������������������
���	�!	����	���-���	���	�����	������
��+����	�	����������	
��������������	������'	�� 

22. #��������	������ �	���!	������� ����� ����� �� ���'������ �	����
��
��������	�������	����	�������	��������������	������	���	
�

�����	����������
���
��	'	�������������
����
�������������+ 
23. $���	���	
�����!��	������
���	���
������
��������	����������

�	���+�3�����	������
����	
����	�+����	��
����������������

����	��������	
��������������	�����������	
	+ 
24. $
�������
	�	
�������-	��
����
	�	
�������	�	���� 
��������

����	��*�	�������		�������	���	��������������	��
�!�����/�
�
�
����
�����������*�	�������		����!�������	��
��	�����������������



130 

���������� ��
���� �� 	�������� �����	����� �
���� !����� ��/�
�
�
����������������"����	�����
�����	���������
��	�	�
�����������	�
�������������� 

25. 2�
�������
�	���
�������������	��	����������
��������������
��
������!��������	��
�����
�������
��

-4
�!��"����	������
�����������

�������	
�����
���	!�������	
�����!�������������/�
�
������ 
26. +�����	����������	
�����'	�����������������--	'	����� 

���B + HNO� ��������� 
�) B2H6 + NaH � 
���Na[BH4] + H2O � 
!��H3BO3 + NaOH ���
�	��� � 
�) Na2B4O7 + H2SO4 + H2O � 
�) Al + KOH + H2O � 
�) Al+ NaOH(��
���	) �� 
�) Al + HNO3(��. ��
��	�.) � 
	) Al + NaNO3 + NaOH + H2O �� 
�) Al2O3 + K2CO3 →t   
�) Al2O3 + KOH + H2O � 

) Na3[Al(OH)6] + CO2 � 
�) Na[Al(OH)4(H2O)2] →t  
�) K3AlO3 + H2O � 
�) AlN + HCl(�
�����) � 
�) Al(OH)3 + NaF(�
�����) � 
�) Al2(SO4)3 + Na2CO3 + H2O � 
�) Al(NO3)3 →t   
�) Al(OH)3 + Al2(SO4)3 �� 
-) Al2S3 + KOH(�
�����) + H2O � 
���Al4C3 + H2O � 

27. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	����������	�����������	
� 
�) Al ����3AlO3 �&'2O3 �7&'����2]2SO4 ��&'�'3; 
�) Na3[Al(OH)6] ��&'2(SO4)3 ��&'2O3 ��&'����3 ��&'2O3; 
�) Al(NO3)3 ��&'�'3 ����3[Al(OH)6] ��&'����3 ��&'2S3; 
!) Al ��&'����&'���3)3 ��&'���#&'�2 ��&'2O3. 

S-5
���
����������	���� 

1. $� �����
� ������������ ���������� ���
��� ���������	������ ����

���������������������
�	
�s-���
������!�	�!!�!����������
����
���	�� ������������ ���������� �����
�	�� s-���
��������� �������
�	�����-���
����
	+ 
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2. ������ !������� 6-���
������	�
��
���
����	�������
��������!	
�
	��	��'		�� ��������� �� ����������� ����������	'����������+�����
��	����
������������	��	�	�	�
��
���
���	������������� !���� !!�
!���������������������!�����	���+ 

3. *�	����	���	
��������	���	�����������
��������������	���
	�
�	��
	��	
	���������
�	� 

4. #��������	������������������ s-���
������������������������	�
��'	����������	���	
� 

5. #�/
��	��� ���	
���� ����������	����������� 
�������� �� �����
����	
	�����
��
�������
���	��
�������� 

6. ,����
�	���������	
�0/�	�$8�����������	
	�����
��
�������
�
���	��
�����������������	������	�������������������	
�������
�	���������� 

7. #������������
���������������	
����������
���������	
	���
��	
�����
�����	�	����������������	���������	
�����'	�� 

8. ����	�
��
���
����������������������	����	�!	�����	����s-���-

���������
��������	���	
����
�����!����
�������
����+����	�
�	�������'		����������	����	�� �
-�������� ������������	���	�
!	�����	������	��	
� 

9. "���
���	��� �	
	����	�� ��������� !	��	���� s-���
������� ���	��
����������	� ������	
� !	��	��� ���	��	
+� ���	�	��� �������	
�
����'	�����	
�������	
�3)��	�0��2���������	����������������'� 

10. ���	�����'�����������������	� ��������	���������������'����	�
��������	���������������l? 

11. ���	������	���	
����������
���	����	
�������		�6-���
��������
�	�������
+����	��	���������
��
�����������	�����	����	�����
������ 3)2O, Na2O2, KO2, KO3, BaO, BaO2+� #������	��� ��������

��	����	
����
����������	������	���	
���#��������	��������	��
�	������-���������	�������� ��������� ����	���	�� s-���
������ ��
�	�������
� 

12. $���������	
�����	�������
��������
�
������
�������
������
��
�!��������	�	��������
������
���!�������������������'		������
�	��
�!�����/�
�
�
�
�����������	�����������
������������������
�

������
� ���
� NaOH� ������ ��	�� ��� #������	��� ��	��������� 

������ 

13. $
����	���
�������	�������'	
��
�
��������	�������'	
�	���
����
-��-	��� ����'	
�������� ��/�
� �����������!	����� �� ��� !� ������
�
��	+�1�
��������
����������������!��
��������	
+ 

14. +�����	����������	
��������	�����'������ 
�) Na2O + H2SO4 → 
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�) Na2O2 + H2SO4 (�) → 
�) BaO2 + KMnO4 + H2SO4 → 
!����4Cl + Mg(OH)2 → 
�) BeCl2 + KOH → 
�) Ca(HCO3)2 →t  
�) Be + KOH + H2O → . 

15. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	����������	�����������	
� 
�) Na → NaH → NaOH → NaHCO3 → Na2CO3 → NaOH; 
�) K → KO2 → K2O2 → K2O → KHSO4 → KCl. 

�������������������� D-5
���
��� 

1. $�����������	�
����	�����
�������	����������!		�	��	��'		�	�
����������	'���������	� ���
������ �� !������� 	� ��������� ����
!������� 

2. 1�
���/
��
���
���	���������
�������	�����d-���
������1����	-
����	�d-���
������1!����	����������!�����+ 

3. "���
���	��� ����������	� 	�
����	
� ��������� ��������	��	��
���
����
�d-���
������!!!�!������ 

4. *���
�� 
��!	�� 	�� d-���
������ ���
��
��� ����
������ ��������
��	����	
+����	��	��d-���
���������
��
��������
�������������
��	����	
+ 

5. ����	�
��
���
� ������	������	� ��	��	�������� ��������� ����	�
���	��d-���
������������	��������
����	����	
������!������+ 

6. "���
���	�������������	��	
		�d-���
���������������		����	
	�
���s-�	�B-���
������ 

7. ����	�
��
���
��	������-������������������!	�����	��������!��
	���!�����d-���
����������	�	
���	����������	���	����	
+ 

8. ����	�
��
���
� �	�������� ����������	�����d-���
������1–VIII 
!�����������	��������
����	����	
+ 

9. 1�
�������������������
����������������
���������������	����
d-���
�����+�2�
� ���	�� 	�� d-���
������ ���� ���
��
���
� �� ��	�
�����������	
��������������	+ 

10. "���
���	��������	��'	�������	��	��'	�������!	���������'	�-
�����-� 	� ���	����	�� ������������� �	��� 	��
��		� ��
���������
����	���	�� 

11. ���	������	������	�	���	�������-��
���������������������
�d-
���
������ 
��� ���	��	�� ������
�� ��	����	
����� �� ����	�� ������
�� ��	����
�	
+� 
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D-5
���
��������	���� 

1. ���	��������	���	����	
��������������
������������������	��	�
���
+�*�	���	������������	
��������	���	����	�����
�����������
����������������
����	����	
�	������	���	�� 

2. �������	
���������������������������	��	�����������������������
	����
�����	�����
	+�������	�
����������	
��������������������
�������
	���������
	������+ 

3. "���
���	������'�����������		��'	��������!��	�������!�������
������	
����	����������	����	������	���2�	���2��������������

�����+ 
4. #�/
��	�������	���������
������	������������!������������!��
�����'	�����	���
���E

3+ + e = Co2+
�������������������	��������

�������������	����
-. 

5. ,�������
� ������	
� ��������� ����������	� 	����� 7�E���3)6]
3+
� 	�

[Co(CN)6]
3+
���������	������
����������������	
����'����� 

[Co(NH3)6]
3+ + 6CN- ⇔ [Co(CN)6]

3- + 6NH3 

6. "���
���	��� �����
�	�� 	����� ./3+
� �� ������� ���������� ��	� ����

�	�������� 
7. *������	�	������ !	����	���
����� ./-�	� ./-�4� ��2�
� ./-�4 ���
�	�	����������	
��������������	�!	����	��� 

8. 1����������!	����	�����
� 
���./�'3 	�	�./�'2; 
�) FeCl3 	�	 K3[Fe(CN)6]; 
���./�'3�	�	�#3[Fe(OH)6]; 
!��./�'3�	�	�#2FeO4. 

9. *������	�	������������	�����	
����
��	��
	�	����
����
	���
��	����������������	
���������3��������	����	
����	�����������
���+�)������	�	������������'	���	�
�!�	����
�������������	
�
������+ 

10. ����	�
��
���
�������	����������	����	�����
���./�!!��– Co(II) – 
�)�!!�+�����	�
��
���
���	��	������
����������������
���./�!!!��– 
Co(III) –� �)�!!!�+�#��������	������ �����	
��������	
� !	�����	�
����$/����2 	�$/����3 . 

11. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	������������	
� 
�) Fe → FeCl2 → Fe(OH)2 → Fe(OH)3 → Na2FeO4 ; 
�) Na2FeO4 → Fe(OH)3 → NaFeO2 → Fe(OH)3 → Fe2O3 → FeO; 
�) Fe3O4 → Fe → FeCl3 → FeS → Fe(NO3)3. 
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12. +�����	����������	
�����'	�� 
�) Fe + O2 + H2O → 
�) Fe(OH)2 + O2 + H2O → 
�) FeSO4 + O2 + H2O → 
!) FeSO4 + KBrO3 + H2SO4 → 
�) Fe(OH)3 + HCl → 
�) Co(OH)3 + HCl → 
�) Ni(OH)3 + HCl → 
�) FeCl3 + KI → 
	��./����3 + Cl2 + KOH → 
���./-2 + HNO3�����'���→ 
�) K4[Fe(CN)6] + KMnO4 + H2O → 

) K2FeO4 + H2O → 
���#2FeO4�����'�����'���→ 
�) K2FeO4 + HNO3 → 

13. *�	���	�������������������'		����	����./2+
�	�./

3+. 
14. ���	������'		������������������
������'	����!���������������

���	����	�'����	��+ 
15. "���
���	�������������!�
�!���	������������	�'	��������	
�!��


�!���	������	��
���!��	�
�+ 

D-5
���
�������	����� 

1. ���	�� ������	���	����	
��������������
�d-���
������1!!� !����
��+�*�	���	������������	
��������	���	����	�����
�����������
����������������
����	����	
�	������	���	�� 

2. *�	���	��� ��	
���� ���	������ 	� ��	������ -��
� ����	���	��

��!��'���!!!��	�
��!��'���!1�� 

3. 4���	�������	�	
���������		����
������
���������!������
���
!��'��	� !���!�������� ������ ������	� ��	����	
�
��!���'�	� �����
���
��
�����	����������������������������+�*�	���	�����������
������	����	
���� 

4. ���	�	��� �������	
� ����'	��� �� �������� ����	���	
� 
��!��'��
���
��
��� 
�����	��	���������������������	�����������������������	��	�����
����	����������	���������������
���������	������	���	
�
���
!��'��
�!������
��
�����	��	������-���������	���������������
��������+ 
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5. #��������	�������������	��$%��(C��4/����
�������
���	��	�	��

�������	�����������	�����
��������
� 
6. *������	�	������ �	������-��������� ��������� !	�����	���� ����
�	�����
��!��'���II, IV, VII). 

7. "���
���	�����	��	�����������������#$%�4�������	�������������

1������������
������������������������������	
�#$%�4����	��

����� ������������ 	���������� ������+����� 	�
��
���
� ��������

���������������'�����������������	
�#$%�4? 
8. #��������	������ ���	
�������	�� ���
���� �	������ �� ���	��
	�

��!��'��$%���$%�2, Mn2O7. 

9. 1����������!	����	�����
� 
���MnCl2�	�	�MnCl4; 
���K2MnO4�	�	�KMnO4. 

10. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	������������	
�� 
�) KMnO4 → MnO2 → MnCl2 → HMnO4 → KMnO4; 
�) KMnO4 → MnSO4 → MnCO3 → MnO → Na2MnO4; 
�) Na2MnO4 → NaMnO4 → Na2MnO4 → MnO2 → Na2MnO4. 

11. +�����	����������	
�����'	�������	�����	��	���������������	�
�����	��	����	��	������-���������	������������'		� 
�) MnCl2 + Br2 + KOH → 
�) MnSO4 + NaBiO3 + H2SO4 → 
�) MnO2 + PbO2 + HNO3 → 
!) MnO2 + KI + H2SO4 → 
�) KMnO4 + SO2 + H2SO4 → 
�) KMnO4 + K2S + KOH → 
�) KMnO4 + FeSO4 + H2O → 
�) KMnO4 + C3H5(OH)3 + H2SO4 → 
	) KMnO4 + H2O2 + H2SO4 → 
�) KMnO4 + MnCl2 + H2O → 
�) KMnO4 →t  

) K2MnO4 + H2O →  

12. "���
���	��� �	���!	������� ����� 
��!���'��������	�� ����	���
�	���4���	����	���!	����	���--�����	�����Mn2+. 

D-5
���
������	���� 
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1. ���	��������	���	����	
��������������
�*-���
������1!�!�����+�
*�	���	������ ������	
���� ����	���	�� ��	�� ���
������ �� ������
�������������
����	����	
�	������	���	�� 

2. $����	��� ������������ ���������� ���
��� ���
�� 	� ������ ���	��
������	���	����	
�����	�����
���
���	�����
�����+�������������
���	���	����	
���	����
��������
��
�����������������������+ 

3. ���	�����	������������
���	�������	���		����
���
��	������	�
����-��
������������+ 

4. #��������	�������������	�����
���
��	������	�����-��
�������
�����	�����
�	�������
��*���
�����
�����������
���
������������
�
�H

o
Cr3+/Cr = -0.74 B? 

5. ���� 	�
��
���
� �	������-��������� ��������� ���	���� �� �
���
CrO – CrO3+� *�	���	��� ����'		�� ����������	�� �
-����������
!	�����	������
��!!!����������	
��������������	������
���!!��!!!��
1!�������
����	���������	�����
	+ 

6. ����	�
��
���
��	��������������������
����2CrO4 – H2WO4? 
7. ���	�	��������	��'	������-��
��������	���	��� 

CrCl3

#��
��3; 
Cr(NO3)3

��!
��0"� 
K2SO3
�"2(SO3)3
��2O. 
�����	��� ��	� ��
��������� ����	���	
�� ���	�	��� �������	
�
����	�����	�����	�������������	�	��������	���'	�'		���	�����
��	���	������	�	����������	����������������������	���
�	����
[Cr(NO3)3BrI2]

3- . 
8. �����	��-��
��������	��
��"3+

����������������������	�����	��
������+�*�	���	���	������	������
��������
�������������	���
�	
��"

3+
����������
�!�����	����
��������������
� 

9. ���	�	����������	
�!	����	����"2(SO4)3�����������	������������
���

�����	�������	
��������	
��������������	���	!�������		�
���������� ������ �"

3+
�������� �
����	��� !	����	���
��������	��

��+�)������	������	�����������������������"2S3? 
10. *���
�� ������� ��������� �	���
�����������!�� 
������� 	
����

�	����������+�����	�
��	��
�������������!�������������	�������
���		� �����	+� *��	������	������ �������������	
	� �������
�	

	�����'	�������
�	����������	
� 

Cr2O7
2- + H2O ⇔ 2CrO4

2- +2H+? 
11. *���
����	����	
�������		����������	
�����������
	����
����	�

�	���
���� ���	
� ��������� �����	� ��	������!�� �������+� "���
�
���	�����	��	�����������������#2Cr2O7���	�����	������������
������� 
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12. *�����	������
��	��
	����	������	������'		� 

(NH4)2Cr2O7 → N2 + Cr2O3 + H2O. 
*������	�	�����������	
���������	
����������'		� 

13. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	������������	
� 
�) Cr(NO3)3 → Cr(OH)3 → K3[Cr(OH)6] → K3CrO3 → Cr(H2PO4)3 → 
CrPO4; 
�) Cr2O3 → K2CrO4 → K2Cr2O7 →Cr2(SO4)3 → K3[Cr(OH)6]; 
�) Cr SO4 → Cr2(SO4)3 → K2CrO4 → CrO3 → Cr2O3. 

14. 1�� ������ ������!����
 !	����	��: CrCl2 	�	 CrCl3; CrCl3 	�	 
Na3[Cr(OH)6]; CrCl3 	�	 Cr(CH3COO)3; CrCl3 	�	 MoCl3; K2CrO4 
	�	 K2WO4. 

15. +�����	����������	
��������������	������'	�� 
�) K2Cr2O7 + HCl →  
�) CrCl3 + Na2S + H2O → 
���$E������3 → 
!) Cr + KClO3 + KOH → 
�) Cr2(SO4)3 + Cl2 + KOH → 
�) NaCrO2 + PbO2 + NaOH → 
�) Cr2O3 + NaNO3 + NaOH → 
�) K2Cr2O7 + H2S + H2SO4 → 
	) Na2CrO4 + NaBr + HCl → 
���$E-2 + HNO3����'���→ 
����"�3�����'����'���→ 

) K2Cr2O7 + H2O2 + HCl → 

16. �����������������
���
��	���������������
��	������������	��
-��
�����+ 

D-5
���
������	���� 

1. #��������	������������	�����
���d-���
������II�!��������������
	�� ������������ ���-	!���'		� �� �������
� 	� �����������
� ���
���
�	
�+������	
�����������
���
������
�
�����������	�����
�������
�����	�����
�+ 

2. *������	�	���������������	�
����	
����
�������	����������!	��

	��	��'		����������������������������������	'���������	����
���

���
���Zn – Hg��1�
���������������
������������	�
����	
�����
������� ���
���� ��������	��	�+� *���
�� ���	��� ���
�� '	���� 
(Z�������
���������
��!�����	��������'	
��Z = 20)? 
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3. ���	�����	���	������
�������
���	���
������
������
�!�����	�

�	
���� �����	�� �� ���������		� �	
	����	�� ��
���+����	�� �	���

��
�����������������
�Zn, Cd�	�Hg���	������	���	
�+ 
4. ���	��������	
�����������	�	����	��������	���	����	
����������

�����
��������������
�����+�����
�������/
��	��������
����	�

��� ���
��
��� ��������� ��	����	
� ������� �� 
+�1�
�� ������ ���

����������	�����������	����	
�����	���	������Hg2)
2+
�	��Hg3)

2+? 
5. ���� 	�
��
���
� ���������	�������� �
�����	����	��� ���������

�������� �������� �� �
��� Zn – Hg+� ������� ���	�� �	
	����	��
�����������	��
��������	�����
�	������	�	�+�#��������	���������

�����	��
������������������������
��	��������������	�����������

�	�	����������	
��������������	������'	�� 
6. *���
�� ���� �	��������	�����
� ������	
������������� ���������

���� �����'	����� 
��	� 	� '	����� ���
� �� ����	'�� ���	��	�������

�	���
�����
�����Cu�	�Zn��������������
��
+ 
7. ���� 	�
��
���
� �	������-��������� 	� ��	��	������-������-

���	�������� ��������� ���	���� 	� !	�����	���� �� �
��� Zn – Hg? 
���	�	��� �������	
� ����'	��� ��������	����	�� �
-��������

������������	���	�!	�����	���'	���� 
8. ����	�
��
���
����
	�����
�������	���������	�����!	�����	����

	��������	��������������	���	��������
���Zn – Hg+����	�	���
�������	
� ����'	��� ���������	�� ��	� ��������		� 	������� ����

������NaOH������������Hg(NO3)2�������������Hg2(NO3)2. 
9. ���	�	��� �������	
� ����'	�� ���
	�����!�� ��������	
�

Hg(NO3)2; Hg2(NO3)2; HgSO4. 
10. ����	�
��
���
���
���������������
����	����������	��������
�

��� Zn2+ – Hg2+
+� ���	�	��� �������	
� ����'	�� ���	
�������	
�

����	���� '	����� ���
	
� 	� ����	� �I� 	� II�� �� ���'����	�������
�
��������
� �

	����� �� ���	�� �����	
�� ���������
� �

	������

��
�����������	+ 
11. ���	�	����������	������'		����	
�������	
����	�������	��II����

	��	��
����	
��������
����������������	������������������	���

�	�� 
12. ����
�����������
���������������������	�	��������	���'	�'		�

!���!��	����'	��������
	
�	�����	��II�+�*���
���������������	�

��������������HgCl2�
��
���
��������	�������������������������

���������+ 
13. ����	�����
��	�
��
���
���������!	����	����	�������'	���������


	
�	�����	��II����������������	����	������
	����'�����'	

	+�
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*���
�� ��	� ��	!�������		� ��������� Hg(NO3)2� ����
�������
�

����	����������������������	������������+����	�	����������	
�

�������������	������'	��!	����	��� 
14. #��������	�������	���!	����������������	���	��'	��������
	
�

	� ����	�����	�� 
���� ���������������	� �������	
�� ����������

��	������������������	��������	���	

	+����	����������������	�

��'		�����	����������+����	������'		���������	��������+ 
15. 3���	����������
� ����	���	
�'	����� ���
	
�	� ����	+����	��	��

�	�������
����	
����	����
��	'	��+�1�������������
���������
�����

�	 �������+�������	�� ��	�� �������������������� 
���	���� ��������

�������������
���	��+�1�
�����
�������/
��	��+ 
16. $
�������	���	�����-	���'	����������
������������!���
���	�	�

����������
������
���!����������	��	��������$l��*������������
�	
�����'	������������
������������������
�
������
����
����	�

'	����������
�����������	��	���������	
�
������������������	�

���	��'	������	���������
��	� 
17. $
����'	����	����
	
�������	�	���� 
������������	��*������	��

�	�����������	�	������
����������HCl�����������������!�������
�	��
�!�����/�
�
����
�������������������������
��	���
���	�	���

!��
�	�������������������	��	��������#���*�	����
������	��
�

!�����/�
�
����������������"����	�������/�
������������������������

�	
�!����
������!���!����	
�	���������
��	�
�������� 
18. +�����	����������	
�����'	����������	������--	'	����� 

���Zn + KOH + H2O �� 
���Zn + NaOH���
���	� �� 
�) ZnO + K2CO3 →t   
!) ZnO + H2O + Ba(OH)2 � 
�) K2[Zn(OH)4] + CO2 � 
�) Na2ZnO2 + H2SO4 (�
�����) � 
�) Zn + HNO3 (��. ��
�.) � 
�) Zn(OH)2 + NH3(�
�����) �� 
	) Zn(OH)2 + Zn(NO3)2 �� 
�) ZnSO4 + NH3 + H2O �� 
�) Na2[Zn(OH)4] + ZnSO4 � 

) ZnSO4 + K2CO3 + H2O � 
���Cd(NO3)2 →t   
���Cd + H2SO	 ������� →t  
���CdCl2 + NH4I��
������ �� 
���Hg + HNO� ������ + HCl ������ �� 
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���HgCl2 + NH3 � 
�) Hg2Cl2 + NH3 � 
�) Hg(NO3)2 →t  
-) Hg(NO3)2 + KOH � 
�) Hg2(NO3)2 + NaOH �� 
') HgO + KI + H2O � 

19. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	����������	�����������	
� 
���Zn(OH)2 ��Zn ��Zn(OH)NO3 �K2ZnO2 �Zn(OH)2; 
���Na2[Zn(OH)4] ��ZnO ��7Zn(OH)]2SO4 ��Zn ��Na2ZnO2; 
�) CdSO4 ���*���7�*���3)6]SO4 ���*-����*����2; 
!) HgO ���82Cl2 ���8���3)2 ���8�'2 ��#2[HgI4] ���8-� 

D-5
���
�����	����� 

1. #��������	������ ������	�����
���d-���
������ I� !��������������
����������
����-	!���'	
�	�����������	��	������	������!��	�

����	�������������������
������
�		+����	�����	���	������
���


��	����������	��������
��
���
���������
	+ 
2. "���
���	��� 	�
����	�� ���
���� ���	������ ����!	�� 	��	��'		��

���������������������	�����������	'���������	����
���Cu – Au. 
*���
�� ���	��� ���
��
��	� �Z�
	��
������ ���	���� ���
�� ���	
�
(Z��	�+�*���
�����	�������
����������� �Z�����	�������� �Z=79) 
�����	����	���	������+ 

3. ���	��������	���	����	
�	����������
����
�������
���	���
���

���
�����+����	��	���	����	�������������������
�
��	����
����

���������
�������+ 
4. #'��	������������	����������������������������������������	�

	�
��
���
����
���Cu – Au? 
5. ���	������������������������
��������	����!�������!������
�
��

�����
+�"���
���	����������	������������
�����������	������

����!���!���
������� 
6. #�/
��	��������
��
����������!	��������	���������������������

�
�����������	�������!�����������'	��	������	
+�*���
����������

	���������������
���
��������������������'	��	�����	�������	�

������		���	��	�����������	
�����	�������+������������	�������

��	
����	�������	���������������������+ 
7. #��������	�������������	��
��	����������	��������������������
��
�	����'����	�������
���������
��	����������������
������
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���� 	� ������� ���	�	��� �������	
� �������������	�� ����'	���
����	��������	
�	�������������	
� 

8. ���	�� ����'		� ���������� ��	� ���������		� ������� �� �'�������
�������������'����	������������
�����	����������������������
��
���������������	�����+ 

9. 1�
���/
��
���
����������	��������!������������
������	����	
��	�
��������	��������
��������
�������	���	������
���������		�	��
����������+����	�	����������	
��������������	������'	�� 

10. ���	������	������	'�
�!��������	���
��������������������
�����
�������� 	� ������+� .���������� �	� ��
� ������� �III�� ���������	��
!	����	������������	����+ 

11. $����	�����	��	��������������������	�����Cu2+
�	�Ag+

����������
����������������� 	���	�� ����������	�����
���� ���������	� �����
����	�������������������+ 

12. ���������	
�	��������	���	����	
�
�����������	������-���������
������������	����	�!	�����	����
��	�	�������+����	��	���	�����
��������
-������
	���������
	+�4�����!��!	�����	�� – Cu(OH)2 

	�	� Au(OH)3� �	������ ��������� �	�������� ��������+� ������ ���
��	���	������������������
��������
��	������+����	�	����������
�	
�����'	������������	����	����������		�����������!	�����	�
������	����������������HCl����	�����������������#�� 

13. *���
�� �������� ���	�� �������� �I�� �����	�����-����-����	�� ��
��������'���+ 

14. ������������������������������AgNO3, Cu(NO3)2�	�K[Au(OH)4]? 
���	�	����������	
��������������	������'	�� 

15. $����	�����������������������	���
���������	�����7Ag(NH3)2]
+ 

	� 7Cu(NH3)4]
2+
	��'��	�����
����������������� ���������������

�	�����Ag+
�	�Cu2+

��#������������	�������� 
16. "���
���	��� ���
	������� ������	���������	����� !	�����	����	�

�	��������������	�� ������ 
��	�� �������� 	� �������� ���	�	���
�������	
� ����'	�� ���
	�����!�� ��������	
� Ag2O, AgNO3, 
Ag2SO4, CuO, CuSO4, Cu(NO3)2, Au(OH)3, AuCl3. 

17. #��������	������ �	���!	������� ����� 
��	� �� ���'�������	����
��
��������	�� 

18. 3��� �� ��!��	�
��� �	������� 	� ��������� ���'����	�����
� ����
�
���	���
���d-���
����+ 

19. ���	�� ����	���	
� d-���
������ I� !������ �����
�� ��	
����	�� ��

��	'	��+ 

20. )�����������	����
������
��!������	�	�����������
������
���!���

���������������	��������������III��������1������������������

�



142 


�������� ���	� �	�������������� �II�� 	�������� �III�� �� ����������
��
�
� ��������� ������	��� �����
	�� "����	����� 
����� 
������
�����	��	�����������'		� 

21. $
�����	�������
��	��II��	���������������
�����������!�������	�
�	� ��� �������	
� ����'		�� #������������
� �
���� �������� ���
���������������	�	������
����'����	�����������������	�������
���������������!�������	��
�!�����/�
�
�����
����"����	�������/�
�
�!������������������	��	��
���	�������	���		�	���������
��	� 

22. +�����	����������	
�����'	�����������������--	'	����� 
���$u + HCl + O2 � 
���Cu + HNO3 (��
�� � 
���Cu + H2SO	������ →t  
!��Cu + CuCl2 � 
�) $uCl + H2SO4 (����) →t  
�) Cu2S + O2 →  
�) Cu2S + HNO3 (����) →t  
�) CuO + NH3 →t  
	) CuCl + O2 + H2O � 
�) Cu + FeCl3 � 
�) CuCl2 + KI � 

) Ag + HNO3 (��
�) � 
���AgNO3 + KOH � 
���AgNO3 →t  
�) AgNO3 + SnCl2 � 
�) Ag2O + NH3 + H2O � 
�) [Ag(NH3)2]Cl + H2S � 
�) Au + NaCl + Cl2 � 
���AuCl3 + KI � 
-) AuCl3 + FeSO4 � 
���Au2O3 →t  

23. ���	�	����������	
�����'	�����	���
��	���������
���������
�����	����������	�����������	
� 
���Cu2S ��CuSO4 ��CuO ��CuCl ��7Cu(NH3)4]Cl2; 
���$u(OH)2 ��7Cu(NH3)2]Cl ��CuO ��Cu2O ��CuSO4; 
�) Ag ��&82O ��7 g(NH3)2]OH ��&82S ��&82SO4; 
!) Au ��&2�'3 ��&22O3 ����&uO2 ��&2���&2�'� 
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.�������� 

��#�+#%��'��)��#"2(����.%#0��#��&��f�
o

298 
��)��%�(���So

298���!���%'$���������(%����
�������
��	 

 

�������� ���
���	-

�� 

�f�
o
298 

�
������ 
So

298 

�� 

������ 

�������� ���
���	

�� 

�f�
o
298 

�
������ 
So

298 

�� 

������ 

Al2O3 �� -1673,7 51 KClO4 �� -433,1 150,9 
C�������� �� 0 5,7 MgO �� -601,8 27,1 
$H4 ! -74,9 186,2 MgCO3 �� -1096,0 65,1 
C2H4 !  52,3 219,4 NaCl �� -412,2 72,7 
C2H6 ! -89,7 229,5 N2 ! 0 191,5 
C6H6 �  82,9 269,2 NH3 ! -46,2 192,6 
C2H5OH � -277,6 160,7 NH4Cl �� -314,2 96,0 
$6�12#6 �� -1273,0 — N2O !  82,0 219,9 
CO ! -110,5 197,5 NO !  90,2 210,6 
CO2 ! -393,5 213,7 N2O3 !  83,6 — 
CCl4 � -132,8 216,2 NO2 !  33,5 240,2 
CaCO3 �� -1207,0 88,7 N2O4 !  9,6 303,8 
CaO �� -635,1 38,1 N2O5 ��  -42,7 178 
Ca(OH)2 �� -985,0 83,4 NH4NO2 �� -256,2 — 
Cl2 ! 0 222,9 NH4NO3 �� -365,4 151,0 
Cr2O3 �� -1140,6 81,2 O2 ! 0 205,0 
CuO �� -162,0 42,6 PH3 !  17,1 210,2 
Fe �� 0 27,2 P4O6 �� -1097,0 142,0 
FeO �� -264,8 60,8 "4#10 �� -1546,6 135,9 
F2O3 �� -822,2 87,4 Pb �� 0 64,8 
Fe3O4 �� -1117,1 146,2 PbO �� -219,0 67,7 
Ni �� 0 29,76 S �� 0 31,9 
H2 ! 0 130,5 SO2 ! -296,9 248,1 
HBr ! -36,3 198,6 SO3 ! -395,8 256,7 
HCl ! -92,2 186,8 SiH4 !  34,73 204,6 
HF ! -270,7 178,7 SiO��	��� �� -910,9 41,8 
HI !  26,6 206,5 SiCl4 � -687,9 239,7 
H2O ! -241,8 188,7 Ti �� 0 30,6 
H2O � -285,6 70,1 �2# �� -286,1 44,1 
�2S ! -20,2 205,5 H2O2 � -187,9 109,6 
KCl �� -435,6 82,4 TiO2 �� -943,9 50,3 
KClO3 �� -390,8 142,8 ZnO �� -348,1 43,5 
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�����#��'�+����1�#1�����!���%'$��"#.'$�)"�!�%�"���� 

����+�'$�%#����%#$�(%������� 
 

�����
�� ����������� ������� �����	 �������������� 
 �	�����������
��	����� HN3  2,6 · 10-5 

 ���	���
��	����� HNO2  4,0 · 10-4 

 

	����������� NH3·H2O  1,8 · 10-5 

6����
��	����� H3BO3 1 5,8 · 10-10 

6��
�����	���
��	����� HBrO  2,1 · 10-9 

���� H2O  1,8 · 10-16 

)������
�	���
��	����� H2SiO3 1 2,2 · 10-10 

  2 1,6 · 10-12 

#������
�	���
��	����� H4SiO4 1 1,3 · 10-10 

)�����	��
��	����� HCOOH  1,8 · 10-4 

)���
����
��	����� H3AsO4 1 5,6 · 10-3 

  2 8,3 · 10-8 

  3 3,0 · 10-12 

)���
���	���
��	����� H3AsO3 1 5,7 · 10-10 

$����	���
��	����� H2SeO3 1 3,5 · 10-3 

  2 5,0 · 10-8 

$�������
��	������ H2SeO4 2 8,9 · 10-3 

$��������������
��	����� H2Se 1 1,7 · 10-4 

  2 1,0 · 10-11 

$����
��	������ H2SO4 2 1,2 · 10-2 

$���	���
��	����� H2SO3 1 1,6 · 10-2 

  2 6,3 · 10-8 

$������������
��	����� H2S 2 9,0 · 10-8 

  2 1,0 · 10-14 

4!�����
��	����� H2CO3 1 4,5 · 10-7 

  2 4,7 · 10-11 

4������
��	����� CH3COOH  1,8 · 10-5 

.��������	���
��	����� HClO  5,0 · 10-8 

0��-����
��	����� H3PO4 1 7,5 · 10-3 

  2 6,3 · 10-8 

  3 1,3 · 10-12 

0�������������
��	����� HF  6,6 · 10-4 

;	������������
��	����� HCN  7,9 · 10-10 

=�������
��	����� H2C2O4 1 5,4 · 10-2 

  2 5,4 · 10-5 
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.������ 3 
�%��0��+���&�%#����%���������!���%'$� 
�#"�%#����%��'$�)"�!�%�"�����(%���� �� 

���������� �� ���������� �� 
Ag3AsO4 1,1 · 10-22 Cr(OH)3 6,3 · 10-31 

AgBr 5,3 · 10-13 CrPO4 1,0 · 10-17 

AgCN 1,4 · 10-16 CuCl 1,2 · 10-6 

AgSCN 1,1 · 10-12 CuS 6,3 · 10-36 

AgCH3COO 4,4 · 10-3 Cu(OH)2 2,2 · 10-20 

Ag2CO3 1,2 · 10-12 FeCO3 3,5 · 10-11 

AgCl 1,8 · 10-10 Fe(OH)3 6,3 · 10-38 

Ag2CrO4 1,1 · 10-12 FeS 5,0 · 10-18 

Ag2Cr2O7 1,0 · 10-10 FePO4 1,3 · 10-22 

AgI 8,3 · 10-17 HgS 1,6 · 10-52 

AgIO3 3,0 · 10-8 MgCO3 2,1 · 10-5 

AgNO2 6,0 · 10-4 Mg(OH)2 7,1 · 10-12 

Ag2O·H2O 1,6 · 10-8 Mg3(PO4)2 1,0 · 10-13 

Ag3PO4 1,3 · 10-20 MnCO3 1,8 · 10-11 

Ag2S 6,0 · 10 –50 Mn(OH)2 1,9 · 10-13 

Ag2SO4 1,6 · 10-5 MnS 2,5 · 10-10 

Al(OH)3 1,1 · 10-32 NiCO3 1,3 · 10-7 

AlAsO4 1,6 · 10-16 Ni(OH)2 2,0 · 10-15 

AlPO4 5,8 · 10-19 NiS 2,0 · 10-26 

BaCO3 4,0 · 10-10 PbBr2 9,1 · 10-6 

BaC2O4 1,1 · 10-7 PbCO3 7,5 · 10-14 

BaCrO4 1,2 · 10-10 PbCrO4 1,8 · 10-14 

BaSO4 1,1 · 10-10 PbCl2 1,6 · 10-5 

BaSO3 8,0 · 10-7 PbI2 1,1 · 10-9 

Be(OH)2 2,0 · 10-14 Pb(OH)2 7,9 · 10-16 

BiI3 8,1 · 10-19 PbS 2,5 · 10-27 

CaCO3 3,8 · 10-9 PbSO4 1,6 · 10-8 

CaC2O4 2,3 · 10-9 Sb2S3 2,9 · 10-59 

CaF2 4,0 · 10-11 SnS 2,5 · 10-27 

Ca(OH)2 1,4 · 10-4 SrCO3 1,1 · 10-10 

Ca3(PO4)2 2,0 · 10-29 SrSO4 3,2 · 10-7 

CaSO4 2,5 · 10-5 Zn(OH)2 1,2 · 10-17 

CdS 1,6 · 10-28 ZnS 1,6 · 10-24 
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.�������� 
�����#��'������,!�����!��("�!��'$������ 

(%�����(�%#�8%������� 
 

������� ����	� ������� ����	� 

[Ag(NH3)2]
+ 9,31 · 10-8 [Cu(NH3)2]

+ 2,2 · 10-8 

[Ag(CN)2]
- 8,0 · 10-22 [Cu(NH3)4]

2+ 2,1 · 10-13 

[Ag(CN)4]
3- 2,1 · 10-21 [Cu(CN)2]

- 1,0 · 10-24 

[Ag(SCN)2]
- 2,7 · 10-8 [Cu(CN)4]

3- 5,0 · 10-31 

[Ag(SCN)4]
3- 1,3 · 10 –11 [Cu(CN)4]

2- 5,0 · 10-28 

[Ag(SO4)2]
3- 5,9 · 10-1 [CuCl4]

2- 6,3 · 10-6 

[AgCl2]
- 1,8 · 10-5 [CuI2]

- 1,8 · 10-9 

[AgBr2]
- 7,8 · 10-8 [Cu(OH)4]

2- 7,6 · 10-17 

[Ag(NO2)2]
- 1,8 · 10-3 [Cu(SO3)2]

3- 3,1 · 10-9 

[AgI4]
3- 1,8 · 10-14 [Fe(CN)6]

4- 1,0 · 10-24 

[Ag(S2O3)2]
3- 2,5 · 10-14 [Fe(CN)6]

3- 1,0 · 10-31 

[Ag(SO3)2]
3- 4,5 · 10-8 [Fe(C2O4)3]

3- 6,3 · 10-21 

[AlF6]
3- 1,4 · 10-20 [Fe(SO4)2]

- 1,1 · 10-3 

[AlF4]
- 1,8 · 10-18 [Hg(CN)4]

2- 4,0 · 10-42 

[Au(CN)2]
- 5,0 · 10-39 [HgCl4]

2- 8,5 · 10-16 

[Au(SCN)2]
- 1,0 · 10-23 [HgBr4]

2- 2,0 · 10-22 

[Au(SCN)4]
- 1,0 · 10-42 [HgI4]

2- 1,5 · 10-30 

[AuCl4]
- 5,0 · 10-22 [Hg(SCN)4]

2- 5,9 · 10-22 

[AuBr2]
- 4,0 · 10-13 [Hg(S2O3)2]

2- 3,6 · 10-30 

[Cd(NH3)4]
2+ 7,6 · 10-8 [Mg(NH3)4]

2+ 1,1 · 101 

[Cd(NH3)6]
2+ 7,3 · 10-6 [Mg(NH3)6]

2+ 2,0 · 103 

[Cd(CN)4]
2- 1,4 · 10-19 [Ni(NH3)4]

2+ 1,1 · 10-8 

[Cd(SCN)6]
4- 1,033 [Ni(NH3)6]

2+ 1,9 · 10-9 

[CdCl4]
2- 9,3 · 10-3 [Ni(CN)4]

2- 1,8 · 10-14 

[CdCl6]
4- 2,6 ·10-3 [Zn(NH3)4]

2+ 3,5 · 10-10 

[CdBr4]
2- 2,0 · 10-4 [Zn(CN)4]

2- 1,3 · 10-17 

[CdI4]
2- 8,0 ·10-7 [Zn(SCN)4]

2- 5,0 · 10-2 

[Co(NH3)6]
2+ 7,8 · 10-6 [Zn(OH)4]

2- 3,6 · 10-16 

[Co(NH3)6]
3+ 3,1 · 10-33 [Zn(H2O)6]

2+ 2,5 · 10-10 

[Co(CN)6]
3- 1,0 · 10-64 [ZnCl4]

2- 1 
[Co(CN)6]

4- 1,0 · 10-19 [ZnBr3]
- 50 

[Co(SCN)4]
2- 5,5 · 10-3 [ZnI4]

2- 220 
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o 

���������������������	�
��
�
$ 

5
��
��
� 

���� �!
�"# ��!$���  ��, B 

Ag Ag+
�������&8  

0,80 
Al Al3+

��������&' I�

1,66 
Br Br2(�)���
����
0"�  

1,07 
Cd Cd2+

���
�����*  –
0,40 

Cl Cl2���
����
�'
�  

1,36 
 HClO + H+

��
� ���'
– + H2O  

1,49 
Co Co3+

��������E
2+  

1,808 
Cr Cr3+

���������"  
I���� 

 Cr3+
��������"

2+  –
0,407 

 CrO4
2– + 4H2����������"����3 + 5OH�  

I���� 
 Cr2O7

2– + 14H+
��������
�"

3+ + 7H2O  
1,33 

Cu Cu2+
��������2

+  
0,15 

 Cu2+ + I–
��������2!  

0,86 
 Cu2+

���
�����2  
0,34 

F F2���
����
.
 
�  

2,87 
Fe Fe2+

���
����./  
I���� 

 Fe3+
�������./

2+  
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5
��
��
� 

���� �!
�"# ��!$���  ��, B 

0,77 
 Fe3+

��������./  
I���� 

H 2H+
���
�����2 0 

Hg Hg2
2+
���
����
�8  

0,79 
 Hg2+

���
�����8  
0,85 

I I2(�)���
����
!
 
�  

0,54 
 HIO + H+

���
����!
– + H2O  

0,99 
 2IO3

– + 12H+
���������I2(�) + 6H2O  

1,19 
 IO3

– + 6H+
��������!

– + 3H2O  
1,08 

 IO3
– + 5H+

���������!����
�2O  
1,14 

 2IO3
– + 6H2����������!2 + 12OH–  

0,21 
 IO3

– + 3H2���������!
– + 6OH–  

0,26 
Li Li+

�������3)  
I���� 

Mn MnO4��������$%�4
2 
�  

0,56 
 Mn2+

���
����$%
  –

1,179 
 Mn3+ +����$%

2+  
1,51 

 MnO4���
�2���������$%�2 + 4OH�  
0,60 

 MnO2 +4H+
���
����$%

2+ + 2H2O  
1,23 

 MnO4�����
+
��������$%

2+ + 4H2O  
1,51 

 MnO4
2– + 4H+

���
����$%�2 + 2H2O  
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5
��
��
� 

���� �!
�"# ��!$���  ��, B 

2,26 
 MnO2 + 2H2����
����$%����2 + 2OH–  –

0,50 
N NO3

– + 10H+
����������4

+ + 3H2O  
0,87 

 NO3
– + 2H+

���������2 + H2O  
0,80 

 NO3
– + 3H+

��
�������2 + H2O  
0,94 

 NO3
– + 4H+

�������������
�2O  
0,957 

 NO3
– + H2����
������2

– + 2OH–  
0,10 

 NO3
– + 2H2�����������������

-  –
0,14 

 NO2
– + H2�������������
��

–  –
0,46 

Na Na+
���������  

I
��� 
Ni Ni2+

���
����Ni  
I��
� 

O O2 + 2H+
���
�����2O2  

0,68 
 O2 + 4H+

��������
�2O  
1,23 

 O2 + 2H2������������
–  

0,40 
 O2 + 2H+

���
�����2O2  
0,68 

 O3 + 2H+
���
�����2 + H2O  

2,07 
 O3 + H2����
�����2 + 2OH–  

1,24 
 H2O2 + 2H+

���
����
�2O  
1,78 

P H3PO4 + 2H+
���
�����3PO3 + H2O  

I��
� 
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5
��
��
� 

���� �!
�"# ��!$���  ��, B 

Pb Pb2+
���
���� 5  

I���� 
 Pb4+

���
���� 5
2+  

1,694 
 PbO2 + 4H+

���
���� 5
2+ + 2H2O  

1,449 
 PbO2 + SO4

2– + 4H+
���
���� 5-�4 + 2H2O  

1,685 
 PbO2 + H2����
���� 5����
��

–  
0,28 

S -���
����-
2–  –

0,48 
 S + 2H+

���
�����2S  
0,17 

 SO3
2– + 6H+

��������-
2– + 3H2O  

0,231 
 SO4

2– + 10H+
���������2S + 4H2O  

0,311 
 SO4

2– + 8H+
��������-

2– + 4H2O  
0,15 

 SO4
2– + 4H+

���
�����2SO3 + H2O  
0,17 

 SO4
2– + 2H2����
����-�3

2– + 2OH–  –
0,93 

 H2SO3 + 4H+
��������-�����2O  

0,45 
Sn Sn4+

���
����-%
2+  

0,15 
 Sn2+

���
����Sn  
I���� 

Ti Ti4+
�������()

3+  –
0,04 

Zn Zn2+
���
����9%  

I���� 
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